

Student Organization Resource Fee

SORF Meeting

Tuesday, February 13, 2024, at 5:30PM Student Org Complex

Call to Order:

Meeting called to order at 5:35pm.

Roll Call:

Present:

- Amani Laliwala, Chairperson
- Dipankar Yettapu, Vice-Chairperson
- Troy Kowalski, SORF Treasurer (Dipankar Yettapu proxy)(arrived at 7:23pm)
- Hayley Hoppock, *Undergraduate Board Member*
- Matthew Pruyn, Undergraduate Board Member
- Ivy Wang, Undergraduate Board Member
- Destiny Gallegos, Undergraduate Board Member
- Anika Chakraborti, *Undergraduate Board Member*
- Kate Suchodolski, Graduate Board Member
- David Bein, Graduate Board Member
- Stephanie Cardoza-Cruz, Faculty/Staff Board Member
- Arianna Agramonte Holterman, Faculty/Staff Board Member
- Nick Fink, SORF Advisor (non-voting member)
- Christina Fraser, SORF Secretary (non-voting member)
- Taylor Mettler, SORF Advisor and Friend (non-voting member)

Absent:

- Samantha Thaller, SORF Finance Secretary (non-voting member)
- Cherisse Johnson, Faculty/Staff Board Member

Old Business:

New Business:

Amani Laliwala passes the gavel to Vice-Chairperson, Dipankar Yettapu.

02/13/24 Agenda:

- Chairperson's Comments
- Discuss Applications Vote
- Pre-Funded Applications Vote

- Fund as Amended Applications Vote
- Pre-Denied Application Vote

Review for Spring Services and Programs Funding Period 1, 03/06/2024-05/31/2024:

Pre-Approved Applications:

App	RSO Name	Funding	Amount	Amount
Number		Type	Requested	Allocated
1	Global Medical Training	Services	3722.95	3722.95
2	La Fuerza Flamenca UIUC	Services	707.39	707.39
4	Health Care Book Club	Services	2031.5	0.00
6	Illinois Women's Rowing Club	Services	2588	2588
10	Rube Goldberg Society	Services	940.66	940.66
12	Illini Speed	Services	1050	1050
16	Illini Fighting Hunger	Services	1550.76	1550.76
26	Illini Barbell	Services	2009.45	2009.45
27	American Society for Biochemistry and Molecular Biology	Services	3000	3000
31	Jasmine Field Orchestra	Programs	800	800
32	Illini Disc Golf Club	Services	1290	1290
35	Student Academy of Audiology	Services	4923	4923
36	Dance 2XS Caliente	Services	5000	5000
37	Game Night	Services	520	520
44	Women's Ultimate Frisbee: Menace	Services	2794.96	2794.96
45	Roselle	Services	338	338
50	Turkish Student Association	Programs	239.4	239.4
55	CHOOM	Services	1040	1040
63	Irish Illini	Programs	260.17	260.17
68	Gah Rahk Mah Dahng	Services	2000	2000
75	Brain Matters	Services	545.55	545.55
76	Club Tennis	Services	4050	4050
77	DDRIllini	Services	2805.56	0.00
87	Illini Pullers	Services	1000	1000
95	Lego Masters at UIUC	Services	3552.98	3552.98
102	Engineers without Borders	Services	1700	1700
109	The Illinois Student Undergraduate	Services	4122	4122
	Research Journal			
115	Airsoft at Illinois	Services	5000	5000
117	K-project	Services	234	234
119	Letters of Love UIUC	Programs	29.25	29.25
120	Illinois Music Business Club	Programs	2400	0.00
130	Sigma Gamma Rho Sorority, Inc.	Programs	63.25	0.00
132	Society of Women Engineers	Programs	240	240

137	In Between at UIUC	Programs	34.39	34.39
138	Iranian Heritage Foundation	Programs	5000	0.00
142	Engineers in Action Bridge Program	Services	4300	4300
146	Illini N Motion Dance Team	Services	156	156
147	Illinois Open Ultimate Frisbee	Services	5000	5000
149	PaGeKo Biomimetics Club	Programs	4924.34	4924.34
158	Korean Student Association	Programs	2360	2360
166	Illini Dancesport	Services	2959.25	2959.25
168	SKY Meditation at UIUC	Programs	5000	4500.00
171	Saudi Students Association	Programs	534.68	534.68
173	Saudi Students Association	Programs	459.95	459.95
177	Illini Kendo Club	Services	1572.8	1572.8
178	Circassian Benevolent Student Association	Services	4461.76	4461.76
180	Sigma Gamma Rho Sorority Inc.	Programs	289.8	0.00
181	Steel Bridge	Services	1046.62	1046.62
187	Neurotech @ UIUC	Services	1565	1565
194	Steel Bridge	Programs	315.7	315.7

• App No. 1- Global Medical Training

- Description: This RSO is requesting funding for medical supplies for their organization, such as scrubs and kits
- o Reviewer's Notes: All items meet standards
- Connection to Mission: As mentioned earlier, these items are essential for our mission trips during breaks. Their significance extends to the entire club since not all members possess these items, and everyone must undergo training before embarking on one of these trips.
 Moreover, for eager students pursuing a career in medicine, this provides valuable practice and instills comfort in working with medical equipment and practice patients
- Funding type: Services
- Amount Requested: \$3,722.95Amount Allocated: \$3,722.95

Item Name	Item Description	Cost	Quantity	Total
Cherokee Workwear Originals	Custom Scrub Top + Scrub Pants for Winter/Spring GMT Trip w/ GMT x UIUC Logo			
Unisex Medical Scrub Set	provided on form	\$42.74	55.00	\$2,350.70
	Basic Vitals Kit w/ Stethoscope and Blood			
	Pressure Cuff to use for Winter/Spring GMT			
Dixie EMS Blood Pressure and	Trips. Important to practice using these at			
Sprague Stethoscope Kit	meetings.	\$24.95	55	\$1,372.25

• App No. 2- La Fuerza Flamenca UIUC

- Description: This RSO is requesting funding for dance shoes to use during flamenco workshops
- o Reviewer's Notes: All items meet standards
- Connection to Mission: Our Student Org Mission is La Fuerza Flamenca UIUC serves to create a dance community where individuals can create, explore, and express themselves through flamenco dance, a highly expressive Spanish dance style. LFF is a dance group dedicated to sharing the art of flamenco dance with the UIUC community. In a celebration of all

individuals and their unique backgrounds, LFF creates art through classical flamenco dance while fusing other forms and dance styles into choreography. However, without the proper flamenco shoes, the fulfillment of our mission is constrained if members do not have the proper equipment to perform the dance style. Flamenco shoes are specific, as they are designed to make specific noises when moved in specific ways. Fulfilling this request will ensure that individuals who do not own Flamenco shoes can dance and perform as La Fuerza Flamenca will be able to lend and provide such equipment. This way, regardless of experience and knowledge, all wanting to will be able to learn Spain's Flamenco

Funding type: ServicesAmount Requested: \$707.39Amount Allocated: \$707.39

Item Name	Item Description	Cost	Quantity	Total
Black suede semi-professional flamenco dance shoe size 36	Authentic Flamenco Shoes required for dance	\$102.95	2.00	\$205.90
Black suede semi-professional flamenco dance shoe size 37	Authentic Flamenco Shoes required for dance	\$102.95	2	\$205.90
Professional black suede flamenco dance shoe size 38.5	Authentic Flamenco Shoes required for dance	\$142.32	2	\$284.64

• App No. 4- Health Care Book Club

o Description: Application requests for books

o Reviewer's Notes: All items meet standard

 Connection to Mission: With the nature of our club being a book club we obviously need to provide books, and that is what we are requesting from SORF this funding cycle

Funding type: Services

Amount Requested: \$2,031.50
 Amount Allocated: \$2,031.50
 Administrative Adjustment: \$0.00

 Administrative Rationale: Administration deemed this personal benefit as there is no clarity on whether or not the books will be kept by members or by the organization.

Item Name	Item Description	Cost	Quantity	Total
	This description			
	goes for both			
	books. As a club			
	we read two			
	books a			
	semester to			
	help our			
members				
This is going to hurt	experience the	\$ 19.33	50.00	\$ 966.50

	1		1	
	world of			
	medicine			
	through			
	literature to			
	help give them			
	a well-rounded			
	view of what			
	they want to do			
	from a readers			
	perspectie. This			
	allows our			
	memebers to			
	make better			
	informed			
	decisions and			
	become the			
	best verisons of			
	themselves.			
	However, to do			
	this we need			
	the books to			
	provide this			
	spapce for			
	them to			
	annotate and			
	connect with			
	the text-to			
	learn. Thus, we			
	are requesting			
	aid from SORF.			
The bodies keep coming		\$21.30	50	\$ 1,065.00

App No. 6- Illinois Women's Rowing Club

- o Description: Illinois Women's Rowing Club is asking for funding for boat rentals
- o Reviewer's Notes: All items meet standards
- Connection to Mission: Our Student Organization's Purpose states that "The club is committed to the University of Illinois at Urbana-Champaign student-athletes competing on a national level while providing exciting and unique athletic opportunities for rowers to compete in collegiate rowing." The boat rentals that this application requests funding for provides the equipment that every member of the team needs in order to practice on the water and to compete at all. Without boats, the team cannot serve its purpose.
- Funding type: Services
- Amount Requested: \$2,588.00Amount Allocated: \$2,588.00

Item Name Cost Quantity Total	
-------------------------------	--

	2015 Vespoli			
	EM8+S/N:			
8 Person Rowing Shell Daily Rental	LK006A515	\$4.92	86	\$423
	2006 Vespoli			
	EM8+S/N:			
8 Person Rowing Shell Daily Rental	VUALG413L606	\$3.93	86	\$338
	2005 Vespoli 8+			
	S/N:			
8 Person Rowing Shell Daily Rental	VUACG242F505	\$3.93	86	\$338
	2001 Vespoli			
8 Person Rowing Shell Daily Rental	DL8+ S/N: N/A	\$3.44	86	\$296
	2000 Vespoli 8+			
8 Person Rowing Shell Daily Rental	S/N: N/A	\$3.20	86	\$275
	2004 Wintech			
4 Person Rowing Shell Daily Rental	4+ S/N: R44107	\$3.20	86	\$275
	Vespoli SD30			
	S/N:			
2 Person Rowing Shell Daily Rental	V30S310J020	\$1.76	86	\$151
	Vespoli SD30			
	S/N:			
2 Person Rowing Shell Daily Rental	V30S310I020	\$1.76	86	\$151
	2003 Vespoli			
	Matrix S/N:			
2 Person Rowing Shell Daily Rental	VUARD357H202	\$1.76	86	\$151
	2003 Vespoli			
	Matrix S/N:			
2 Person Rowing Shell Daily Rental	VUARD242F303	\$1.76	86	\$151

• App No. 10- Rube Goldberg Society

- o Description: Application requests for gas, lodging, and materials
- o Reviewer's Notes: All items meet standard under essential equipment
- Connection to Mission: Part of our mission is to use Rube Goldberg machines to educate
 younger students about engineering concepts such as design philosophy, physical
 mechanics, and electrical engineering. The items will allow us to implement more scientific
 theory into our final product, including motors and airflow. In addition, by having methods
 of transportation, we will be able to properly mobilize ourselves and our machine for display
- o Funding type: Services
- o Amount Requested: \$940.66
- o Amount Allocated: \$940.66

Item Name	Item Description	Cost	Quantity	Total
Gas	Purdue National Chain Reaction Commute: 184 miles to Purdue	\$107.64	2.00	\$215.28
	and back			
Hotel	Hotel Stay for 8 people at Holiday	\$461.44	1	\$461.44

	Inn Lafayette-City Centre			
Super Glue	https://www.amaz on.com/Bob-Smith- Industries-BSI- 157H-Insta- Set/dp/B0166FFCH S/ref=sr 1 2?crid= NH6PYRCKMOFX&k eywords=bob%2Bs mith%2Bindustries %2Bsuper%2Bglue &qid=1705791199 &s=industrial&spre fix=bob%2B%2Cind ustrial%2C88&sr=1- 2&th=1	\$12.66	1	\$12.66
Motor Kit	https://www.amaz on.com/EUDAX- Electric-Magnetic- Propeller- Connector/dp/B08 GPPJR1T/ref=pd bx gy img d sccl 2/1 43-3098805- 1666344?pd rd w =BsXjA&content- id=amzn1.sym.839 d7715-b862-4989- 8f65- c6f9502d15f9&pf r d p=839d7715- b862-4989-8f65- c6f9502d15f9&pf r d r=WWHGED99N 6HDHJQNA5B1&pd rd wg=GaAsH&pd rd wg=GaAsH&pd rd r=2c2158fd- d1a9-440a-bbc4- 0769e2d574cc&pd rd i=B08GPPJR1T &psc=1	\$11.99	2	\$23.98
Copper Wires	https://www.home depot.com/p/OOK- 75-ft-5-lb-22- Gauge-Copper- Hobby-Wire- 50163/100294013	\$4.88	1	\$4.88

Ctorogo Din	LIDY 27 Cal Taylah	¢11_40	4	¢4E 02
Storage Bin	HDX 27 Gal. Tough	\$11.48	4	\$45.92
	Storage Tote in			
	Black with Yellow			
	<u>Lid</u>			
L-Bracket	Everbilt 4 in. Zinc-	\$21.70	1	\$21.70
	Plated Corner			
	Brace (16-Pack)			
Paint Roller	9 in. Standard Paint	\$4.48	2	\$8.96
	Roller Frame			•
Paint Roller Cover	PRIVATE BRAND	\$2.97	3	\$8.91
	UNBRANDED 9 in. x	Ψ=		Ψ0.01
	3/8 in. Polyester			
	Paint Roller Cover			
Daint Tue		ć7.07	1	¢7.07
Paint Tray	9 in. Plastic Tray	\$7.97	1	\$7.97
	Liner (10-Pack)			
Latches	https://www.home	\$3.34	5	\$16.70
	depot.com/p/Everb			
	ilt-2-3-4-in-x-1-1-2-			
	in-Satin-Nickel-			
	Chest-Latches-			
	19865/301015555			
Dowels	https://www.micha	\$15.29	1	\$15.29
Dowels	els.com/product/w	Ų13.23	-	Ÿ13.23
	ooden-dowel-rods-			
	516-inch-thick-			
	multiple-lengths-			
	available-			
	unfinished-sticks-			
	<u>crafts-diy-</u>			
	woodpeckers-			
	156790746331775			
	<u>015</u>			
Air Compressor	https://www.harbo	\$59.99	1	\$59.99
	rfreight.com/air-			
	tools-			
	compressors/air-			
	compressors-			
	tanks/air-			
	compressors/3-			
	gallon-13-hp-110-			
	psi-oil-free-hot-			
	dog-air-			
	compressor-			
l l				
	<u>57572.html</u>			
Air Compressor		\$9.99	1	\$9.99

	tool-accessory-kit- 17-pc-64600.html			
LEDs	https://www.amaz	\$16.99	1	\$16.99
	on.com/DAYBETTE			
	R-Lights-Changing-			
	Bedroom-			
	Decoration/dp/B07			
	SPZ2HGT/			

• App No. 12- Illini Speed

- Description: Illini Speed is requesting funds for UI Ice Rink Rental, 7 sessions for 1.5 hours each
- Reviewer's Notes: Recurring Space Rental
- Connection to Mission: Getting funding to cover the cost of the UI ice rink rental aligns with our mission to provide any student the opportunity to try, train, and improve in the sport of speed skating
- Funding type: Services
- Amount Requested: \$1,050.00Amount Allocated: \$1,050.00

Item Name	Item Description	Cost	Quantity	Total
	1.5 hours of ice			
UI Ice Rink Rental	time	\$150.00	7.00	\$1,050.00

• App No. 16- Illini Fighting Hunger

- o Description: This RSO is requesting rice to be used during their food packing events
- o Reviewer's Notes: All items meet standards
- Connection to Mission: Rice is one of our most essential materials for packing meals, having more in stock will allow us to host more packing events. Through these events, we carry out our Org's Mission of combatting food insecurity. The packing events serve to both educate participants on food insecurity and package meals for those without access to nutritional food
- Funding type: Services
- o Amount Requested: \$1,550.76
- o *Amount Allocated*: \$1,550.76

Item Name	Item Description	Cost	Quantity	Total
	25 lb bags of rice,			
Long Grain Rice	\$0.47 per pound	\$11.75	99.00	\$1,163.25
	Shipping cost for			
Freight	the pallet of rice	\$387.51	1	<u>\$387.51</u>

• App No. 26- Illini Barbell

- o Description: Application requests for wrist wrap and deadlift socks
- Reviewer's Notes: All items meet standards under essential equipment with proper supporting documentation
- Connection to Mission: Illini Barbell was created to introduce people of the UIUC campus community to a variety of strength sports (i.e. powerlifting, Olympic lifting, and bodybuilding). Illini Barbell teaches its members how to compete in these sports. In order to compete in powerlifting, the governing organizations require specific pieces of equipment. Illini Barbell is dedicated to teaching its members about competing and needs the proper

equipment to do so. Additionally, the items we are requesting will help our members safely perform lifts without injuring themselves. Illini Barbell prides ourselves on being able to teach our members to lift safely

Funding type: Services

Amount Requested: \$2,009.45Amount Allocated: \$2,009.45

Item Name	Item Description	Cost	Quantity	Total
Wrist Wrap	Stoic Wrist Wraps for competition	\$22.00	56.00	\$1,232.00
			71	
	Deadlift Socks by Elite Sport Socks			
Deadlift Socks	(See supporting docs for mockup)	\$10.95		\$777.45

App No. 27- American Society for Biochemistry and Molecular Biology

- Description: Asking for funding for conference, all expenses related to travel/conference fees
- Reviewer's Notes: All prices were at the time of their application and included screenshots for this year's budget
- Connection to Mission: The funding of the expenses related to attending the ASBMB
 national conference directly fulfill our organization's purpose of advancing the career of
 future scientists by providing an environment that allows them to develop their knowledge
 of the subject, network with top minds in the field, present their own accomplishments, and
 have fun with their peers while also benefitting the university's reputation in the sciences
- Funding type: Services
- o Amount Requested: \$3,000.00
- o Amount Allocated: \$3,000.00

Item Name	Item Description	Cost	Quantity	Total
	Tickets for			
	roundtrip airline			
	flights from			
	Chicago ORD			
	airport to San			
	Antonio			
	International			
	Airport for the			
	interval of March			
Airline Flights	22nd-March 25th	\$592.80	5.00	\$2,964.00
	Hotel booking for			
	two rooms at the			
	Riverwalk Plaza			
	Hotel close to San			
	Antonio			
	Convention			
Hotel	Center for interval	\$741.17	2.00	\$1,482.34

	of March 22nd-			
	March 25th			
	Round trip tickets			
	for Peoria			
	Charters bus trip			
	to O'Hare			
	Terminal 2			
	Departures from			
	UIUC campus on			
	March 22nd and			
	returning on			
Bus Tickets	March 25th	\$79.00	5.00	\$395.00
	UberXL from San			
	Antonio Airport to			
	Riverwalk			
	Plaza(Accounting			
	for Uber to the			
	hotel from the			
	airport and the			
	Uber to the			
	airport from the			
Uber Ride	hotel)	\$32.56	2.00	\$65.12
	Regular			
	Registration for			
	ASBMB			
	conference for 5			
	undergraduate			
Conference Registration	students	\$150.00	5.00	\$750.00

• App No. 31- Jasmine Field Orchestra

- Description: Jasmine Field Orchestra is hosting a concert that has many different kinds of music, including Chinese and pop music, to promote and show cross-cultural diversity and be a place for many to come together to enjoy different kinds of music
- Reviewer's Notes: Application should be funded at 100% because it is free and on campus.
 All items meet standards
- Event Description: This is Jasmine Field Orchestra's annual concert. We are going to have a two-hour music show that includes Chinese music, Western music, pop music and choir. This application is for the leftover amount for the theater rental fee, which was not covered by Fall 2 funding

Funding type: ProgramsAmount Requested: \$800.00Amount Allocated: \$800.00

Item Name	Item Description	Cost	Quantity	Total
	Lincoln Hall			
	Theater Rental			
Lincoln Hall Theater	Fee (the leftover			
Rental Fee	amount not	\$800.00	1.00	\$800.00

11

covered by Fall 2		
funding)		

• App No. 32- Illini Disc Golf Club

- o Description: Disc golf org is requesting funding for portable disc golf baskets to play disc golf
- o Reviewer's Notes: All items meet standards
- Connection to Mission: There are currently only courses off of campus. By having portable baskets, it becomes accessible to play on campus and introduce people to the sport. We use practice fields and facilities on campus through club sports to practice and introduce beginners to the sport, by having portable baskets we would be able to achieve these goals more effectively
- o Funding type: Services
- Amount Requested: \$1,290.00Amount Allocated: \$1,290.00

Item Name	Item Description	Cost	Quantity	Total
Prodigy T2 Professional	Portable disc golf			
Disc Golf Target	basket	\$430.00	3.00	\$1,290.00

App No. 35- Student Academy of Audiology

- Description: Student of Academy of Audiology are requesting funds for airfare and hotel to attend a conference closely relating to their overall mission
- Reviewer's Notes: Their supporting documentation goes with their budget sheet and properly lists the conference dates, as well as navigable links and screenshots of plane tickets and hotel costs. Therefore, I recommend SORF funds it. All items meet standards
- Connection to Mission: The request for funding to enable members of the Student Academy of Audiology (SAA) at the University of Illinois Urbana-Champaign to attend the American Academy of Audiology (AAA) conference is intrinsically aligned with our organization's mission and purpose. SAA is dedicated to providing a collective voice for students in the audiology doctoral program, focusing on enhancing their rights, interests, and welfare as future professionals in the field of audiology. By participating in the AAA conference, our members are not just attending an event; they are actively engaging in activities that are at the core of our mission. These activities include promoting the profession of audiology, advocating for individuals with auditory and vestibular impairments, and gaining insight into ongoing education and research development. Participation in the conference also offers extensive networking opportunities, presentation of current capstone projects, and opportunities for collaboration outside of UIUC. This aligns with our objective of providing career advancement resources for our members. Additionally, the conference is a hub for meeting fellow audiology students from various regions, enhancing our goal of creating a supportive community among future audiologists. In summary, attending the AAA conference directly supports and amplifies the mission of SAA by offering our members comprehensive opportunities for professional development, community service, and academic collaboration
- Funding type: Services
- o Amount Requested: \$4,923.00
- Amount Allocated: \$4,923.00

Item Name	Item Description	Cost	Quantity	Total
	Air Travel to Atlanta GA for American			
Air Travel	Academy of Audiology 2024 HearTECH	\$189.00	7.00	\$1,323.00

	conference (Fare price avaraged flying out from Chicago (4/16) and return (4/21)			
	Place to stay during the conference (2 person in 1 room walkable distance from the conference, hotel rate implemented from the conference website (\$240 per night beofre tax, 5 days stay, 3 rooms): https://www.audiology.org/education-and-events/aaa-annual-conference/attend/hotel-			
Hotels	information/)	\$1,200.00	3	\$3,600.00

• App No. 36-Dance 2XS Caliente

- Description: Dance 2XS Caliente is asking for funding for gas and lodging to attend Latin dance competitions
- o Reviewer's Notes: All items meet standards
- Connection to Mission: These requested items will allow us to showcase our culture to
 different communities furthering our mission to spread our passion for Latin dance. Being a
 performance-based team it is critical for us to have a platform and various productions to
 fulfill our mission of building community around Latin dance. The requested items will
 provide the necessary transportation and lodging to fulfill our team's goal
- o Funding type: Services

Amount Requested: \$5,000.00Amount Allocated: \$5,000.00

Item Name	Item Description	Cost	Quantity	Total
	150 miles one			
	way, 300 miles			
	round trip			
Chicago Salsa and	0.585 x 300 =			
Bachata Festival Gas	175.5	\$176.00	4	\$704.00
	Hyatt Regency			
	O'Hare Chicago			
	estimate cost for			
	booking 1 room			
Chicago Salsa and	for 2 nights =			
Bachata Festival Lodging	\$315	\$315.00	2	\$630.00
	Chicago Salsa and			
	Bachata Festival			
	full pass per			
	person is \$225.			
	This will allow us			
Chicago Salsa and	to perform and			
Bachata Festival	attend the three-			
admission tickets	day long festival.	\$225.00	15	\$3,375.00

	141 miles one way, 282 miles round trip			
Urbanite Chicago Metro	0.585 x 282 =			
Gas	164.97	\$165.00	4	\$660.00
	Hotel Versey Days			
	Inn estimate cost			
	for booking 1			
Urbanite Chicago Metro	room for 2 nights			
Lodging	= \$303	\$303.00	4	\$1,212.00

• App No. 37- **Game Night**

- o *Description*: Asking for funding for new board games
- Reviewer's Notes: Made purchase request based off club interest and included club response in budget request
- Connection to Mission: Having more board games for Game Night that were voted on by current members will allow us to freshen up the experience with new and exciting games to play together as well as helping to convince new people to join and build connections through board games
- Funding type: Services
 Amount Requested: \$520.00
 Amount Allocated: \$520.00

Item Name	Item Description	Cost	Quantity	Total
Settlers of Catan	Board game	\$26.00	1.00	\$26.00
7 Wonders	Board game	\$50.00	1	\$50.00
Wingspan	Board game	\$50.00	1	\$50.00
Monopoly	Board game	\$20.00	1	\$20.00
Dominion	Board game	\$37.00	1	\$37.00
Cards Against Humanity	Board game	\$30.00	1	\$30.00
P is for Pizza	Board game	\$13.00	1	\$13.00
Sangousha	Board game	\$70.00	1	\$70.00
One Night Alien	Board game	\$18.00	1	\$18.00
Chess/Checkers	Board game	\$16.00	1	\$16.00
Taboo	Board game	\$9.00	1	\$9.00
	Suitcase for			
	holding and			
	transporting			
Suitcase (28 inches)	games	\$120.00	1	\$120.00

• App No. 44- Women's Ultimate Frisbee: Menace

- Description: Application requests travel/lodging fee, registration fees to compete in 2024
 Great Lakes Regional Championship
- o Reviewer's Notes: All items meet standards
- Connection to Mission: Our Student Org purpose is dedicated to growing the sport of
 ultimate within our community and training to compete at the college level. In order to do
 this, we must attend tournaments and the items requested all relate to tournaments. These
 tournaments help us prepare for our competitive season this spring where we can represent

the school. The bid fees are to enter and participate and the gas and lodging requests help us travel to the tournaments in order to play at the college level

- Funding type: Services
- o Amount Requested: \$2,794.96
- o Amount Allocated: \$2,794.96

Item Name	Item Description	Cost	Quantity	Total
	710 miles one way		,	
	= 1,420 miles			
	round trip 1,420			
	* .585 * .25 =			
	~\$207.7 (cost of			
	one car) This is			
	the estimation of			
	gas to to take 20-			
	25 players to the			
	tournament			
	Kernel Kup in			
	College Park, MD.			
	The supporting			
	document starts			
	with the official			
	USAU Website			
	with confirmation			
	that the			
	tournament is in			
	College Park, MD			
	and one the			
	second page, the			
	miles and gas			
	estimation is			
Kernel Kup Gas	shown.	\$207.68	5.00	\$1,038.38
	This is an			
	estimation of an			
	airbnb cost that			
	can hold 20-25			
	player for one			
	night. This specific			
	airbnb is in Silver			
	Springs, MD			
	which is 25			
	minutes away			
	from our			
	destination. We			
	stay within a 30-			
	minute radius to			
	our fields which			
	are currently	4		4
Kernel Kup Lodging	unknown.	\$515.00	1	\$515.00

	This is an			
	estimation of a			
	bid fee for the			
	College Series			
	Regionals in			
	Indiana. The			
	supporting			
	document is an			
	email from the			
	coordinator from			
	Regionals 2022.			
	We are using this			
	as an estimate to			
	the 2024	4		4
Regionals Bid Fee	Regionals Bid Fee.	\$425.00	1	\$425.00
	211 miles one way			
	= 422 miles round			
	trip 422 * .585 *			
	.25 = ~\$61.717			
	(cost of one car)			
	This is the			
	estimation of gas			
	to to take 20-25			
	players to the			
	college series			
	Regionals in Fort			
	Wayne, Indiana.			
	The location of			
	the fields in			
	confirmed in the			
	same email from			
	above from the			
	coordinators			
	confirming that			
	the tournament is			
	in Fort Wayne,			
	Indiana and on			
	the next page the			
	miles and gas			
Regionals Tournament	estimation is			
Gas	shown.	\$61.72	5	\$308.59
	This is an			
	estimation of an			
	airbnb cost that			
	can hold 20-25			
	player for two			
Regionals Tournament	nights. This			
Lodging	specific airbnb is a	\$508.00	1	\$508.00
	•	1		

from our fields.		7-minute drive from our fields.			
------------------	--	---------------------------------	--	--	--

• App No. 45- Roselle

- Description: Chinese Traditional dance organization is requesting funds for rental space to host practices two hrs/ one day a week
- o Reviewer's Notes: I recommend SORF funds as it goes towards their mission statement and based on supporting docs and lack of additional funding, 100% would be recommended
- Connection to Mission: As Roselle is a growing traditional Chinese dance group, we would
 use the funds to rent practice rooms necessary for our club to function. With a consistent
 practice space, we would be able to connect with each other more and do better for
 performances. As we hope to spread the love and beauty of Chinese traditional dance to
 more people on campus, this would greatly benefit our group
- Funding type: Services
 Amount Requested: \$338.00
 Amount Allocated: \$338.00

Item Name	Item Description	Cost	Quantity	Total
Activities & Recreation				
Center Multi-Purpose	Dance practice			
Room 1,2,3,4, or 5	room and space	\$13.00	26.00	\$338.00

• App No. 50- Turkish Student Association

- Description: Turkish Student Association is requesting funds to bring Turkish Culture to campus through beverages and candy
- Reviewer's Notes: Open to all UIUC students
- Event Description: We are holding an event to introduce Turkish cuisine and drinks to the UIUC student body. We will have two separate drinks, Turkish Coffee and Sahlep
- Funding type: Programs
 Amount Requested: \$239.40
 Amount Allocated: \$239.40

Item Name	Item Description	Cost	Quantity	Total
Kurukahveci Mehmet	Turkish Coffee			
Efendi Turkish Coffee	Brand	\$14.40	5	\$72.00
Cerez Pazari Turkish	Turkish Delight			
Delight Candy	Brand	\$13.49	5	\$67.45
Nestle Salep	Sahlep Brand	\$19.99	5	\$99.95

App No. 55-CHOOM

- Description: Practice room space for dance group
- o Reviewer's Notes: Necessary to club purpose
- Connection to Mission: The fund requested will generally pay for the rental rate of rooms that are used for weekly dance practice and dance workshops. By using the funds to book those rooms, our members will have the chance to meet with each other at least once a week and enjoy practicing choreography together. While dancing, members can have a place to escape from academic stress, enjoy exercise with friends, and build relationships. This ideology directly connected to CHOOM's purpose that every member shared a common interest in dancing and also met new friends that met new friends and built relationships

during regular dance practice. Furthermore, the request fund will also use to book a room for CHOOM to hold a dance workshop that is available for welcoming all U of I students who are interested in dancing and can also have a chance to dance. This is also closely tied to CHOOM's optimal goal, which is to let everyone relax and enjoy

Funding type: ServicesAmount Requested: \$1,040.00Amount Allocated: \$1,040.00

Item Name	Item Description	Cost	Quantity	Total
	Booked			
	multipurpose			
	room for regulaR			
	dance practice			
Multipurpose Room 1, 2,	and dance			
4, 5	workshop	\$13.00	80.00	\$1,040.00

• App No. 63- Irish Illini

- Description: Irish Illini is requesting funds for St. Patrick's Day event by providing an Irish Breakfast for UIUC students
- o Reviewer's Notes: Food is essential to event
- Event Description: Irish Illini will prepare a free breakfast for U of I students with traditional Irish breakfast food (sausages, bread, bacon, beans, butter, juice, puddings, and eggs) bought at local grocery stores in a celebration of St Patrick's Day
- Funding type: Programs
 Amount Requested: \$260.17
 Amount Allocated: \$260.17

Item Name	Item Description	Cost	Quantity	Total
	From Aldi			
Sausage Links	https://www.instacart.com/store/aldi/products/19738669	\$2.45	15.00	\$36.75
	From Aldi			
Sourdough Bread	https://www.instacart.com/store/aldi/products/19917484	\$4.09	10	\$40.90
	From Aldi			
Bacon	https://www.instacart.com/store/aldi/products/21063938	\$4.69	10	\$46.90
	From Aldi			
Beans	https://www.instacart.com/store/aldi/products/18647990	\$2.09	10	\$20.90
	From Meijers			
Butter	https://www.instacart.com/store/meijer/products/47581	\$4.99	6	\$29.94
	From Meijers			
Orange Juice	https://www.instacart.com/store/meijer/products/20634130	\$3.99	5	\$19.95
	From Aldi			
Apple Juice	https://www.instacart.com/store/aldi/products/20324471	\$2.09	5	\$10.45
	From Aldi			
Eggs	https://www.instacart.com/store/aldi/products/115095	\$2.05	10	\$20.50
	From Aldi			
Disposable Plates	https://www.instacart.com/store/aldi/products/24062810	\$6.75	1	\$6.75
	From Aldi			
Disposable Forks	https://www.instacart.com/store/aldi/products/17496554	\$7.69	2	\$15.38

Napkins	From Aldi https://www.instacart.com/store/aldi/products/20503598	\$2.45	1	\$2.45
Тартин	From Aldi	Ψ=σ		
Cups	https://www.instacart.com/store/aldi/products/17496863	\$4.65	2	\$9.30

• App No. 68-**Gah Rahk Mah Dahng**

- o Description: Application requests essential equipment and repair fees
- o Reviewer's Notes: All items meet standards
- Connection to Mission: Gah Rahk Mah Dahng strives to preserve and raise awareness of traditional Korean culture through performance art by traveling and participating in local and regional demonstrations of a performance called samulnori. Due to our instruments having severe damage and a surge in members, we need funds to repair and buy new instruments and accommodate the new members with new uniforms. The performance requires our Korean drums and percussion instruments as well as our traditional Korean uniforms. This is how samulnori was first performed and how it is still performed to this day. We want to continue this art so that everyone can experience the musicality of traditional Korean culture

Funding type: Services

Amount Requested: \$2,000.00Amount Allocated: \$2,000.00

Item Name	Item Description	Cost	Quantity	Total
	Hourglass shaped			
	drum with heads			
	made from animal			
Janggu	skin	\$115.00	5.00	\$575.00
	Two-sided drum			
	with leather			
Buk	heads	\$98.00	3	\$294.00
	Small flat gong:			
	Brass instrument			
	played with a hard			
Kkwaenggwari	stick	\$75.00	2	\$150.00
	Traditional			
	samulnori			
	uniform; ribbons			
	represent the sky,			
	earth, and			
	humans. Uniform			
	represents the			
_	harmony of			
Uniforms	heavens and earth	\$55.00	8	\$440.00
	We need repairs			
	for the current			
	instruments we			
	own. A lot of the			
	instruments were			
Repair Fees	damaged during	\$50.00	5	\$250.00

	the COVID pandemic due to storage.			
	The instruments will be shipped from Korea. The shipping cost will be around \$75 according to			
Shipping	USPS.	\$180.00	1	\$180.00

• App No. 75- **Brain Matters**

- o Description: Brain Matters is requesting funding for their printed journal
- o Reviewer's Notes: Essential to organization
- Connection to Mission: The mission of Brain Matters is to create a community on campus that is dedicated to advancing knowledge, fostering collaboration, and contributing to science. Our requested funding is for the purpose of our organization, which is to publish and print the annual scientific-review journal that is available for anyone to access through the UIUC library. This journal is necessary for the success and operations of Brain Matters, as it is the main goal and purpose of our organization, benefiting the scientific community. By printing this journal, students are given the opportunity for scientific involvement, allowing their voices and ideas to be heard in an academic and professional manner
- Funding type: Services
- Amount Requested: \$545.55
- o Amount Allocated: \$545.55

Item Name	Item Description	Cost	Quantity	Total
	The annual Brain			
	Matters Journal			
	consists of review			
	articles written,			
	edited, and			
	designed by			
	student members.			
	We plan to			
	distribute printed			
	copies of the			
	journal to libraries			
	on campus for the			
	UIUC community			
	to have open			
	access. This			
	journal is integral			
	for the			
	functioning and			
	purpose of the			
	organization and			
Brain Matters Journal	science	\$36.37	15.00	\$545.55

community on		
campus.		

• App No. 76- Club Tennis

- o Description: Club Tennis is requesting tennis court space for weekly practice
- o Reviewer's Notes: Essential to organization
- Connection to Mission: Our requested items align with Club Tennis' mission/purpose because they ensure that sufficient space is available for our members to engage weekly practices. This further connects them within the tennis community and ultimately both form bonds and improve their tennis skills, whether that be on a competitive or recreational level
- Funding type: Services
- Amount Requested: \$4,050.00
- o Amount Allocated: \$4,050.00

Item Name	Item Description	Weekly Cost	Quantity	Total
	Courts are used			
	for our weekly			
	practices that			
	occur 3 times a			
Atkins Tennis Center	week. 3 courts are			
Court Reservations -	reserved for 1.5			
3/10/24 - 3/30/24	hours per time	\$405.00	4.00	\$1,620.00
	Courts are used			
	for our weekly			
	practices that			
	occur 3 times a			
Atkins Tennis Center	week. 3 courts are			
Court Reservations -	reserved for 1.5			
3/31/24 - 4/27/24	hours per time	\$405.00	4.00	\$1,620.00
	Courts are used			
	for our weekly			
	practices that			
	occur 3 times a			
Atkins Tennis Center	week. 3 courts are			
Court Reservations -	reserved for 1.5			
4/28/24 - 5/11/24	hours per time	\$405.00	2	\$810.00

• App No. 77- **DDRIllini**

- o Description: Hotel and equipment for program
- o Reviewer's Notes: Hotel and equipment for program
- Connection to Mission: The items will guarantee a smoother workflow at the event and provide proper compensation for our hardware providers
- Funding type: Services
- Amount Requested: \$2,805.56Amount Allocated: \$2,805.56
- o Administrative Adjustment: \$0.00
- o Administrative Rationale: Incorrect application type

Item Name	Item Description	Cost	Quantity	Total
-----------	------------------	------	----------	-------

Illini Union Hotel Rooms	Renting Hotel Rooms for 3 nights for 4 groups. This is to allow off campus heavy equipment providers a place to stay on campus.	\$718.68	3	\$ 2,156.04
PIU, ITG, DDRA, & DDRX Acrade Pad Sensors	Sensors are necessary to operate pads for program.	\$10.15	64	\$ 649.52

• App No. 87- Illini Pullers

o *Description*: Registration fees for conference

o Reviewer's Notes: Registration fees

 Connection to Mission: The requested item will allow us to compete in the ASABE quarter scale tractor student design competition. This allows us to provide an educational experience for our student members as well as industry related networking, leadership opportunities, and outreach opportunities for college of ACES and Grainger Engineering

Funding type: Services

Amount Requested: \$1,000.00Amount Allocated: \$1,000.00

Item Name	Item Description	Cost	Quantity	Total
	Cost of entry for			
	each team			
Competition Admittance	member to come			
Fee	to competition	\$50.00	20	\$1,000.00

App No. 95- Lego Masters at UIUC

- o Description: Essential materials for use throughout semester and travel
- o *Reviewer's Notes*: Essential equipment/travel
- Connection to Mission: We have three main pillars in LEGO Club, Education, Design, and Engineering. Our members can participate in one, or multiple of these pillars and we try to make it our goal to create a fun, safe, collaborative, and supportive community. We have separate requested items for each of these pillars, in the hopes that they can all be equally supported by the club, attracting many different people with different interests and skills.
- o The Education pillar weekly holds an after-school program at two local disadvantaged schools to teach basic STEM concepts through LEGOS. We are hoping to receive SPIKE Educational LEGO Kits that use Robotics to engage the students, as well as transport money and prizes that we give out to the students on the last lesson of the semester. Our mission has always been to offer this program to the local elementary schools for free, and these items will ensure that we do so and continue to get younger kids interested in LEGOs and in the sciences. The Design pillar is hoping to get their custom LEGO designs funded, so that we can purchase the pieces required to bring our designs that have been electronically created, to life. Our team has been working and collaborating the whole school year, making an

inclusive environment for all members of our club who are interested. This will allow us to complete the goal our members have had, which is to bring their builds to life, which we are hoping to support through this funding. We are hoping to display these creations at BrickWorld Chicago, a convention which allows us to display our proud creations and make our members feel accomplished and fulfilled. Therefore, we are also requesting the funding for the tickets for our member to attend, and display at BrickWorld. The Engineering pillar is hoping for a similar funding as design, as they are also creating a custom build, but with robotic and electronic elements. The funding will allow them to create this and help continue to encourage a fun, creative environment where our members work towards a collective goal

Funding type: ServicesAmount Requested: \$3,552.98Amount Allocated: \$3,552.98

Item Name	Item Description	Cost	Quantity	Total
	Educational LEGO			
	Multiset Kit with			
	additional			
	robotics parts that			
	is used in our			
LEGO Education SPIKE	educational after			
Essential Set	school program	\$319.95	2	\$639.90
	Prizes for kids on			
	last day of			
	afterschool			
	program. 50 kids			
	participate,			
	average cost of			
	prize is \$1.50 from			
LEGO Education Prizes	Dollar Tree	\$1.50	50	\$75.00
	Gas for weekly			
	trips to the 2			
	schools in the			
	area we visit for			
	afterschool			
	programs. *Gas			
	estimation			
	calculations			
	included in			
Gas for Transport to Local	supporting			
Schools	documents	\$55.00	1	\$55.00
	All of the pieces			
	necessary to build			
	the custom UIUC			
	quad that our			
	Design team has			
	been working on			
LEGO Design Project:	this year. We will			
UIUC Main Quad	have to buy	\$500.00	1	\$500.00

	pieces			
	individually,			
	assuming an			
	average cost per			
	piece of 10.4			
	cents per the			
	WIRED article in			
	our supporting			
	documents. These			
	pieces will be			
	reused for			
	multiple projects.			
	Same as item			
	above, but for the			
	Floating Islands			
	build our team			
	has designed,			
	these pieces will			
LEGO Design Project:	be reused for			
Floating Islands	multiple projects.	\$500.00	1	\$500.00
3	Same as previous			·
	three items, but			
	for a different			
	custom build. Will			
	require less pieces			
	than the other			
	three. These			
	pieces will be			
LEGO Design Project:	reused for			
Skyscraper	multiple projects.	\$100.00	1	\$100.00
	Weekend Pass for			
	club members to			
	visit the			
	convention. LEGO			
	Club plans to			
	display our build			
	(the previous 4			
Brick Morld Chicago				
BrickWorld Chicago	items) at this	¢60.00	-	¢300.00
Weekend Pass	event	\$60.00	5	\$300.00
	Full convention			
	for 3 club			
	members.			
	Necessary for			
	attendees like us			
	who are			
BrickWorld Chicago Full	displaying custom			
Convention	builds	\$110.00	3	\$330.00
	1	T == 0.00		T - 20.00

	General			
	Admission tickets			
	for LEGO Club			
	members not			
Brick World Chicago				
BrickWorld Chicago Public Exhibition Tickets	visiting for the whole weekend	\$20.00	4	\$80.00
Public Exhibition Tickets		\$20.00	4	\$80.00
	****All following			
	items are for the construction of			
	the Engineering Branch's custom			
	LEGO robotics			
	build and will be			
	used for multiple			
	projects. This item			
Dahat Inventor Dvilding	is a LEGO			
Robot Inventor Building	Mindstorms set	¢600.00	4	¢600.00
Set	(codable lego set)	\$609.99	1	\$609.99
	The hub is the			
	"brain" of Lego			
	Mindstorms,			
Laura III I	powered by	604.05	_	¢04.05
Large Hub	programming. A motor used for	\$81.95	1	\$81.95
	angular motion,			
Laura Augustan Mastan	powered by	624.00	2	¢60.00
Large Angular Motor	programming.	\$34.99	2	\$69.98
	A motor used for			
	angular motion,			
D.A. aliana Anaralan D.A. atau	powered by	644.05	2	¢00.00
Medium Angular Motor	programming.	\$44.95	2	\$89.90
	A color sensor			
	powered by			
	programming,			
	reads color and			
Color Concor	gives a certain	¢20.21	1	¢20.21
Color Sensor	output.	\$39.31	1	\$39.31
	These senses the			
	distance objects			
	are away,			
Dietamas Comasas	powered by	Ć01 OF	1	Ć01 OF
Distance Sensor	programming.	\$81.95	1	\$81.95

• App No. 102- Engineers without Borders

- $\circ \quad \textit{Description}{:} \ \mathsf{Lodging/travel} \ \mathsf{for} \ \mathsf{service} \ \mathsf{trip} \ \mathsf{to} \ \mathsf{Guatemala}$
- o Reviewer's Notes: Lodging/travel in line w RSO purpose

- Connection to Mission: 'Engineers Without Borders builds a better world through
 engineering projects that empower communities to meet their basic human needs while
 creating culturally cognizant leaders capable of solving the world's most pressing
 challenges.' The requested items allow us to complete our sanitation project in Guatemala
 and thus achieve our core purpose of improving lives by finishing our implementation at the
 location and finishing the work of several years
- Funding type: Services

Amount Requested: \$1,700.00Amount Allocated: \$1,700.00

Item Name	Item Description	Cost	Quantity	Total
	Tickets for			
	members to travel			
	to Guatemala and			
	complete the			
Flight tickets	project.	\$336.60	5.00	\$1,683.00

• App No. 109- The Illinois Student Undergraduate Research Journal

- Description: The Illinois Student Undergraduate Research Journal is requesting funding for their bi-annual journal that supports and publishes student research and educates other UIUC students about current research that other students are doing. They are asking for 200 copies of their journal
- o Reviewer's Notes: All items meet standards
- Connection to Mission: Our requested items help carry out our organization's mission of
 advancing undergraduate research by giving us the opportunity of creating a physical copy
 of our journal. We expect that this will educate students on campus and further publicize
 our undergraduates' work to all members of the community, thereby inspiring students to
 involve themselves with undergraduate research
- Funding type: Services
- o Amount Requested: \$4,122.00
- o Amount Allocated: \$4,122.00

Item Name	Item Description	Cost	Quantity	Total
	200 copies, option			
	2 with vellum			
Journal printing costs	sheet	\$4,122.00	1.00	\$4,122.00

• App No. 115- Airsoft at Illinois

- o Description: Application requests for lodging and registration fees
- o Reviewer's Notes: All items meet standards with proper supporting documentation
- Connection to Mission: Our student organization is dedicated to introducing UIUC students to the exciting world of airsoft, offering opportunities for active participation in events, and fostering meaningful engagements between students and the broader airsoft community. Additionally, we aim to provide a secure and inclusive space where students can come together to enjoy airsoft activities. The requested items directly support our primary focus on hosting engaging events, ensuring that we can fulfill our mission of introducing, involving, and creating a safe environment for students to participate in airsoft activities
- Funding type: Services
- o Amount Requested: \$5,000.00

o Amount Allocated: \$5,000.00

Item Name	Item Description	Cost	Quantity	Total
ILEIII IVAIIIE	Item Description	CUSI	Quantity	iotai
	Fee: Tickets for our			
	biweekly airsoft			
	events, one of our			
	main forms of club			
	engagement,			
	https://www.saltfor			
	kpaintball.com/airs	4		4
Saltfork Ticket	<u>oft</u>	\$25.00	80.00	\$2,000.00
	Fee: Tickets for our			
	multi-day event in			
	Febuary, Bristol IL,			
	https://www.faceb			
	ook.com/events/95			
Operation Frostbite	4215512227804/?			
Ticket	mibextid=Nif5oz	\$35.00	15	\$525.00
	Fee: Tickets for our			
	multi-day event in			
	March, Crete IL,			
	https://mirtactical.c			
	om/events/milsim-			
	events/2024-			
	events/red-dawn-			
	03-24-2024-airsoft-			
Operation Red	tier-2-milsim-			
Dawn Ticket	event/	\$50.00	10	\$500.00
	Fee: Tickets for our	·		
	multi-day event in			
	April, Sheyboygan			
	Wisconsin,			
	https://mirtactical.c			
	om/events/milsim-			
	events/2024-			
	events/operation-			
	blacklist-04-20-			
	2024-04-21-2024-			
Operation Blacklist	airsoft-tier-1-			
Ticket	milsim-event/	\$150.00	10	\$1,500.00
TICKEL	Travel/Lodging:	7130.00	10	71,300.00
	Lodging for our			
	multi-day events,			
	Bristol IL,			
	https://www.choice			
	hotels.com/wiscons			
	in/kenosha/comfor	440000	_	4500.00
Comfort Inn	<u>t-inn-</u>	\$100.00	5	\$500.00

hotels/wi056?gal=u		
ndefined&gclid=Ci		
wKCAiAk9itBhASEi		
<u>wA1my 62o9S0NQ</u>		
q5DnLS0AT3isFFKm		
2f4ikTmNw4Wz6nh		
TxZ87QrBf2cDFCBo		
Cz40QAvD BwE&g		
mp=MetaAd&gpa=		
GPADSAPR1&hmG		
UID=1c27edf3-		
979b-45bc-b481-		
b8d1c1032120&mc		
=HAGOHPUS&meta		
=PMFGPADUSSAPR		
1 WI056 mapresul		
ts US 1 desktop 2		
<u>024-02-</u>		
04 default 671888		
0121 paid&pmf=		
hpagoogle&produc		
t=mapresults&adul		
ts=2&checkInDate=		
<u>2024-02-</u>		
04&checkOutDate=		
2024-02-		
05&ratePlanCode=		
SAPR1		
· 		

• App No. 117- K-project

o *Description*: Dance performance org is requesting funding for ARC space rentals

o Reviewer's Notes: All items meet standards

 Connection to Mission: Our mission/purpose is to create a community of passionate kpop dancers and perform in various campus events, requiring dance rooms such as the ones provided by Campus Recreation in order to practice on a weekly basis

Funding type: ServicesAmount Requested: \$234.00Amount Allocated: \$234.00

Item Name	Item Description	Cost	Quantity	Total
	K-Project would			
	like to reserve a			
	multi-purpose			
K-Project Weekly	room at the ARC			
Practices 3/31/24	from 12pm-3pm	\$13.00	3.00	\$39.00
	K-Project would			
K-Project 4/4/24 extra	like to reserve a			
practice	multi-purpose	\$13.00	3	\$39.00

28

	room at the ARC			
	from 7pm-10pm			
	for extra practice			
	K-Project would			
	like to reserve a			
	multi-purpose			
K-Project Weekly	room at the ARC			
Practices 4/7/24	from 12pm-3pm	\$13.00	3	\$39.00
	K-Project would			
	like to reserve a			
	multi-purpose			
K-Project Weekly	room at the ARC			
Practices 4/14/24	from 12pm-3pm	\$13.00	3	\$39.00
	K-Project would			
	like to reserve a			
	multi-purpose			
K-Project Weekly	room at the ARC			
Practices 4/21/24	from 12pm-3pm	\$13.00	3	\$39.00
	K-Project would			
	like to reserve a			
	multi-purpose			
K-Project Weekly	room at the ARC			
Practices 4/28/24	from 12pm-3pm	\$13.00	3	\$39.00

• App No. 119- Letters of Love UIUC

o *Description*: Supplies for a card making event

- o Reviewer's Notes: Event in RSO's interest
- Event Description: We're going to be hosted a spring event in April. Anyone is welcome to come and make cards for kids. We need paper to make the cards. We need stickers for card decorating. Additionally, we need the cost of shipping handled
- Funding type: Programs
 Amount Requested: \$29.25
 Amount Allocated: \$29.25

Item Name	Item Description	Cost	Quantity	Total
Paper	to make cards	\$9.25	1	\$9.25
	for card			
Stickers	decorating	\$9.00	1	\$9.00
Shipping costs	for sending cards	\$11.00	1	\$11.00

App No. 120- Illinois Music Business Club

- Description: The Illinois music business club is requesting funds to rent out studio time for their members to record and create projects/ music
- Reviewer's Notes: Based on their adequate documentation and relevant reasoning for their requested funds, I recommend SORF fully funds
- Event Description: We want to reserve a chunk of time at a local recording studio to allow our members to use studio equipment and engineers. We would be paying the studio in bulk and allocating hours to members via a sign up and allowing them to record their music

Funding type: Programs

Amount Requested: \$2,400.00
 Amount Allocated: \$2,400.00
 Administrative Adjustment: \$0.00

Administrative Rationale: Incorrect application type

Item Name	Item Description	Cost	Quantity	Total
	Studio			
Studio Time	Reservation	48	50	2400

App No. 130- Sigma Gamma Rho Sorority, Inc.

o Description: Space rental/item rental for volleyball event

Reviewer's Notes: Space/item rental

 Event Description: This event will happen at the Arc gym at one of the available volleyball courts. We will invite other minority registered student organizations to collaborate and the Black Greek Council organizations. The volleyball games will be competitive and will allow everyone to compete in a friendly fashion. This event is aimed at promoting unity amongst different communities across campus

Funding type: Programs
 Amount Requested: \$63.25
 Amount Allocated: \$63.25

Administrative Adjustment: \$0.00

o Administrative Rationale: Incorrect application type

Item Name	Item Description	Cost	Quantity	Total
https://campusrec.illinois	volleyball			
.edu/facilities/rentals/ind	court(Arc gym			
oor/rates	1,2,or 3)	\$12.00	3.00	\$36.00
	portable score			
Arc rentable portable	boards to keep			
scoreboards	score of the game	\$25.00	1	\$25.00
	table to hold			
Arc rentable table	refreshments	\$2.25	1	\$2.25

• App No. 132- Society of Women Engineers

- o Description: Asking for food in relation with RSO purpose
- o Reviewer's Notes: Necessary to event
- o Event Description: The Society of Women Engineers Diversity Committee, focused on diversity, equity, and inclusion, plans to host a cooking class at the ARC to foster a sense of belonging for students with different cultural heritages around the world. Students from afar who may relate to these foods as well as students who are looking to expand their understanding of other cultures are all welcome. Comfort foods could include congee, shepherd's pie, jollof rice, or pão de queijo, subject to change at the ARC cooking instructor's recommendation and budgetary restrictions. Participants will practice following a recipe, working in a team, sharing their experiences, and then eating and sharing the meal that is made. The Society of Women Engineers would also like to acknowledge the appearance of high additional funding on the first page of this application. While we do have a large corporate sponsorship base, we also service 3,000 members of our organization as well as the entire campus community. We are the largest engineering RSO on campus and a

large portion of our funding goes towards sending ~40 individuals to the annual conference each year, which is specified by several of the corporations as their desired use of funds. Thousands of dollars of other funds are specified by corporations to provide food at events they sponsor in a similar fashion. While it appears that we have large external funding, we have limited funding for new events not tied to a corporate event, such as this cooking class. We want to make events like this free to attend and open and accessible to all students, which is why we are requesting funding

Funding type: Programs
 Amount Requested: \$240.00
 Amount Allocated: \$240.00

Item Name	Item Description	Cost	Quantity	Total
	Cost of custom			
	class, specified by			
Base cost	ARC	\$90.00	1.00	\$90.00
	Cost of groceries			
	for 15			
	participants,			
Groceries	specified by ARC	\$150.00	1	\$150.00

App No. 137- In Between at UIUC

- o Description: This RSO is requesting funding for ingredients for an event to make dumplings
- o Reviewer's Notes: All items meet standards
- Event Description: We are planning on having an event where we would have people who
 are participating in the event make the filling and wrap the dumplings. Where we would
 then boil and then eat them

Funding type: ProgramsAmount Requested: \$34.39Amount Allocated: \$34.39

Item Name	Item Description	Cost	Quantity	Total
Mushrooms	mushrooms	\$2.08	1.00	\$2.08
cabbage	cabbage	\$3.12	2	\$6.24
ground pork	ground pork	\$7.86	2	\$15.72
dumpling wrap	dumpling wrap	\$3.45	3	\$10.35

• App No. 138- Iranian Heritage Foundation

- o Description: This RSO is requesting funding for a cultural event with a performer. The requested funding includes the venue, as well as the performer's flight and accommodations
- o Reviewer's Notes: All items meet standards
- Event Description: The evet is a vibrant cultural event that commemorates the ancient literature and Music of Persian language. This celebration of a Persian Music which is welcomed within Iran, Afghanistan, Uzbekistan, Tajikistan, Iraqi Kurdistan, and Azerbaijan, brings together people beyond to experience the rich tapestry of culture through music, art, and traditional rituals
- o Funding type: Programs

Amount Requested: \$5,000.00
 Amount Allocated: \$5,000.00
 Administrative Adjustment: \$0.00

o Administrative Rationale: Did not include prospective performer at time of application.

Item Name	Item Description	Cost	Quantity	Total
Venue, Audio and Sound				
System Package	Rental	\$2,853.00	1.00	\$2,853.00
Performers Flight (with				
luggage)	Travel	\$738.00	2.00	\$ 1,476.00
Performers				
Accommodation (two				
nights at i-hotel)	Hotel	\$224.93	4.00	\$ 899.72

• App No. 142- Engineers in Action Bridge Program

- Description: The Engineers in Action Bridge organization is requesting funds to cover the cost of having 4 of their members participate in the program, traveling to help communities implement these bridges, as well as costs for personal protective gear
- Reviewer's Notes: Items being requested have proper documentation as well as breakdown
 of mission purpose and reasoning for their additional funding + what their extra funding will
 go to. Their overall fund goal is about \$13,000, with them only requesting about \$4,000 to
 leave their allotted amount to cover the rest. Little to no funds would remain following
 these payoffs. Therefore, I recommend SORF funds in order for their program to be
 successful
- Connection to Mission: The funding would cover procurement and delivery costs for the materials essential for building this bridge. In addition, it covers the costs of Personal Protective Equipment essential for keeping all our students and volunteers safe
- Funding type: Services
- o Amount Requested: \$4,300.00
- o Amount Allocated: \$4,300.00

Item Name	Item Description	Cost	Quantity	Total
	Covers costs of			
	procurement and			
	delivery of			
	materials as well			
	as essential staff			
	for bridge			
Payment #1	construction	\$6,250.00	1.00	\$6,250.00
	Covers costs of			
	procurement and			
	delivery of			
	materials as well			
	as essential staff			
	for bridge			
Project Fee: Traveler 1	construction	\$1,562.50	1.00	\$1,562.50
	Covers costs of			
	procurement and			
	delivery of			
	materials as well			
Project Fee: Traveler 2	as essential staff	\$1,562.50	1.00	\$1,562.50

	for bridge			
	construction			
	Covers costs of			
	procurement and			
	delivery of			
	materials as well			
	as essential staff			
	for bridge			
Project Fee: Traveler 3	construction	\$1,562.50	1.00	\$1,562.50
	Covers costs of			
	procurement and			
	delivery of			
	materials as well			
	as essential staff			
	for bridge			
Project Fee: Traveler 4	construction	\$1,562.50	1.00	\$1,562.50
	Boots with steel			
	caps protecting			
Steel Toe Boots	the wearer's toes	\$53.99	4.00	\$215.96
	Personal			
Clear Safety Glasses (12	protective			
pack)	Eyewear	\$14.99	3.00	\$44.97
	Personal			
	protective hand			
Safety Gloves	wear	\$16.80	30.00	\$504.00
	Protects against			
Disposable Dust Masks	non-toxic dust,			
(50 pack)	pollen, and mold	\$14.29	2.00	\$28.58
	Personal			
	Protective			
Hard Hats	headwear	\$59.99	8.00	\$479.92
	Provides extra			
	visibility on the			
High Visibility Vests	construction site	\$9.99	8.00	\$79.92

App No. 146- Illini N Motion Dance Team

- o *Description*: Dance organization is requesting for ARC space rentals
- o Reviewer's Notes: All items meet standards
- Connection to Mission: As a student-run dance team of 33 members, we require weekly ARC Multi-purpose Rooms in order for us to hold practices. Therefore, we would like to request SORF funding in order to pay for the rental of these rooms, as they are necessary for our organization to function
- o Funding type: Services
- o Amount Requested: \$156.00
- o Amount Allocated: \$156.00

Item Name Item	Description Cost	Quantity	Total
----------------	------------------	----------	-------

	Rental of any ARC			
April 1st - ARC	MP Room for a 2-	4		4
Multipurpose Room	hour practice	\$13.00	2	\$26.00
	Rental of any ARC			
April 2nd - ARC	MP Room for a 3-			
Multipurpose Room	hour practice	\$13.00	3	\$39.00
	Rental of any ARC			
April 3rd - ARC	MP Room for a 2-			
Multipurpose Room	hour practice	\$13.00	2	\$26.00
	Rental of any ARC			
April 4th - ARC	MP Room for a 2-			
Multipurpose Room	hour practice	\$13.00	2	\$26.00
	Rental of ARC MP			
April 17th - ARC	Room 2 for a 2-			
Multipurpose Room 2	hour practice	\$13.00	2	\$26.00
	Rental of ARC MP			
April 21st - ARC	Room 2 for a 2-			
Multipurpose Room 2	hour practice	\$13.00	2	\$26.00
	Rental of ARC MP			
April 24th - ARC	Room 2 for a 2-			
Multipurpose Room 2	hour practice	\$13.00	2	\$26.00
	Rental of ARC MP			
April 28th - ARC	Room 2 for a 2-			
Multipurpose Room 2	hour practice	\$13.00	2	\$26.00

• App No. 147- Illinois Open Ultimate Frisbee

- Description: Application requests for travel/lodging and registration fees for multiple competitions
- o Reviewer's Notes: All items meet standards
- Connection to Mission: We are opening up opportunities for members of the UIUC campus to play frisbee competitively, learning and growing as a team. Our purpose is to create opportunities for students to learn and play ultimate, and this funding will go directly towards that purpose. Many players have never had the chance to play in an ultimate tournament before playing with our club, and this funding helps us with a portion of our season costs. We fundraise from many sources, and spend more than \$5000 each school year, but SORF funding provides a critical base for our club
- Funding type: Services
- o Amount Requested: \$5,000.00
- o Amount Allocated: \$5,000.00

Item Name	Item Description	Cost	Quantity	Total
	Illinois A is competing in			
	the Centex tournament in			
	Austin area (Round Rock)			
	on March 15th-17th. We			
	are staying in hotels			
Hotel rooms for Centex	Friday and Saturday night			
Tournament	for the games on	\$220.00	7.00	\$1,540.00

34

	1		ı	
	Saturday/Sunday (Price			
	per room for 2 nights, 4			
	people to a room). The			
	estimate is from Expedia's			
	map of prices in round			
	rock for these dates,			
	adjusted for taxes/fees. I			
	believe this price is			
	underestimated especially			
	as prices typically rise as			
	the date becomes closer			
	Illinois B is competing in			
	the Great Lakes Sectionals			
	tournament in a location			
	to be determined in April.			
	In previous years, it's			
	been in Zeeland,			
	Michigan. We are staying			
	in hotels Friday and			
	Saturday night for the			
	games on			
	Saturday/Sunday (Price			
	per room for 2 nights, 4			
	people to a room). The			
	estimate is from Expedia's			
	map of prices in Zeeland			
	(first zeeland estimate			
	shown is for this date			
	range), adjusted for			
	taxes/fees. I believe this			
	price is underestimated,			
Hetel Deems for Day	especially as prices			
Hotel Rooms for Dev Sectionals Tournament	typically rise as the date	¢212.06	7	¢1 400 00
Sectionals fournament	becomes closer	\$212.86	/	\$1,490.00
	Illinois A is competing in			
	the Great Lakes Regional tournament in a location			
	to be determined, during			
	_			
	the last weekend of April			
	or first weekend of May.			
	In previous years, it's			
	been in Zeeland,			
	Michigan. We are staying			
	in hotels Friday and			
	Saturday night for the			
Hatal as a conf	games on			
Hotel rooms for	Saturday/Sunday (Price	4240.00		44 470 00
Regionals Tournament	per room for 2 nights, 4	\$210.00	7	\$1,470.00

	people to a room). The			
	estimate is from Expedia's			
	map of prices in Zeeland			
	(second zeeland estimate			
	shown is for this date			
	range), adjusted for			
	taxes/fees. I believe this			
	price is underestimated,			
	especially as prices			
	typically rise as the date			
	becomes closer			
	The Centex Tournament			
	requires a bid Fee for			
	participation. This fee is			
	supported by the email			
	we received from the			
	tournament hosts listing			
	Centex's bid fee at \$500			
Bid Fee for Centex	this year.	\$500.00	1	\$500.00

• App No. 149- PaGeKo Biomimetics Club

- o Description: Biomimetic Robotics is requesting funding for a project
- o Reviewer's Notes: Open to UIUC students and a project
- o Event Description: As a registered student organization, Pageko Robotics organizes a robotics team focused on learning and constructing bio-inspired robots. Our mission is to offer hands-on opportunities for students to explore diverse topics in robotics. The team is divided into software, mechanical, and electrical sub-teams, each facing unique challenges but working together toward creating a functional quadrupedal robot. In this program, students gain skills in robotics and learn valuable lessons in collaboration and teamwork. The experience goes beyond technical knowledge, fostering the ability to work harmoniously with individuals from different fields. Our goal is to provide a dynamic learning environment where students can develop both technical expertise and essential interpersonal skills. We will be using the fund to cover the cost of the necessary equipment in the robotics building. Buying the equipment for robotics not only helps us to provide the opportunity for the students to explore the engineering practices but also ensures the safety of the members as the new equipment will prevent the potential injuries associated with the use of worn-out equipment

Funding type: Programs
 Amount Requested: \$4,924.34
 Amount Allocated: \$4,924.34

Item Name	Item Description	Cost	Quantity	Total
	https://www.met			
	alsdepot.com/alu			
	minum-			
	products/aluminu			
Aluminum Block	m-square-bar	\$271.00	1.00	\$271.00

	11.0			<u> </u>
	https://us.misumi			
	[=			
	ec.com/vona2/de			
	tail/22100009135			
	3/?Tab=codeList&			
	curSearch=%7b%2			
	2field%22%3a%22			
	%40search%22%2			
	c%22seriesCode%			
	22%3a%22221000			
	091353%22%2c%			
	22innerCode%22			
	%3a%22%22%2c%			
	22sort%22%3a1%			
	2c%22specSortFla			
	g%22%3a0%2c%2			
	2allSpecFlag%22%			
	3a0%2c%22page			
	%22%3a1%2c%22			
	pageSize%22%3a			
	%2260%22%2c%2			
	200000043968%2			
	2%3a%22mig0000			
	0001433509%22%			
	2c%22000000440			
	45%22%3a%22nv			
	<u>d000000000000</u>			
	1%22%2c%22000			
	00043965%22%3a			
	<u>%22mig00000001</u>			
	421887%22%2c%			
	2200000044018%			
	22%3a%22a%22%			
	2c%22SP844956%			
	22%3a%22202010			
	20051437822728			
	2579%22%2c%22f			
	ixedInfo%22%3a%			
	22innerCode%3a			
	MDM0000338378			
Bearings	8%7c28%22%7d	\$312.06	2	\$624.12
	https://overture3	-		
	d.com/products/o			
	verture-pla-			
	professional-			
3D Filament	filament	\$23.99	5	\$119.95
35 i nament	https://odriverob	Ψ <u>-</u>		<u> </u>
ODrive OA1 Encoder	otics.com/shop/o	\$39.00	12	\$468.00
ODLINE ONT FLICOREI	<u>odica.com/shop/0</u>	733.00	14	7 - 00.00

	drive-rs485-			
	magnetic-encoder			
	https://odriverob			
	otics.com/shop/o			
ODrive(10-pack deal)	drive-s1	\$147.00	10	\$1,470.00
	https://odriverob			
	otics.com/shop/o			
Odrive(Single Pack)	drive-s1	\$149.00	2	\$298.00
	https://us.misumi			
	_			
	ec.com/vona2/de			
	tail/22100055128			
	6/?HissuCode=CS			
M3	H-316LTBS-M3-20	\$89.49	1	\$89.49
	https://us.misumi			
	_			
	ec.com/vona2/de			
	tail/22100055128			
	6/?HissuCode=CS			
M4	H-316LTBS-M4-20	\$83.78	1	\$83.78
	CNC parts for			
	various gears in a			
	planetary			
	gearbox, includes			
	labor and			
Jackson Innovation	potential material			
Studio	costs	\$1,500.00	1	\$1,500.00

• App No. 158- Korean Student Association

- o *Description*: Application requests for space rental fees
- o Reviewer's Notes: All items meet standards with proper supporting documentation
- Event Description: To advertise Korean cultures, Korean Student Association (KSA) will host a
 K-week, which will be consisted of several Korean cultural events. To be specific, we will
 organize sports events among Korean soccer teams, Korean food making and sharing
 events, and Korean singing and dancing events
- Funding type: Programs
 Amount Requested: \$2,360.00
 Amount Allocated: \$2,360.00

Item Name	Item Description	Cost	Quantity	Total
	We will host			
	Korean cultural			
	event at the			
	Foellinger			
	auditorium on			
Foellinger auditorium	April 13rd for 6			
rental	hours.	900	1.00	\$900.00

38

	Foellinger			
	auditorium sound			
Foellinger auditorium	technician for 6			
sound technician	hours	150	2	\$300.00
	Foellinger			
	auditorium light			
Foellinger auditorium	technician for 6			
light technician	hours	150	1	\$150.00
	Large Sound			
	System in			
Large Sound System in	Foellinger			
Foellinger Auditorium	Auditorium	450	1	\$450.00
Multiple cues per song	Multiple cues per			
Lighting	song Lighting	300	1	\$300.00
	We will host			
	Korean cultural			
	event at the			
Anniversary plaza	Anniversary Plaza			
Wireless Handheld Kits	on April 12nd for			
Mic	6 hours.	60	1	\$60.00
Anniversary plaza	Anniversary plaza			
Portable Sound Package -	Portable Sound			
Large	Package - Large	200	1	\$200.00

• App No. 166- Illini Dancesport

- Description: Application requests for registration, gas, and lodging for ballroom dance competition
- o Reviewer's Notes: All items meet standards with sufficient supporting documentation
- Connection to Mission: We are the competitive ballroom dance team on campus. In order to satisfy our mission, we must compete, and these funds will allow us to offer our members a cheap way to do that
- o Funding type: Services
- o Amount Requested: \$2,959.25
- o Amount Allocated: \$2,959.25

Item Name	Item Description	Cost	Quantity	Total
	Registration to			
	compete at Notre			
Notre Dame Registration	Dame	\$55.00	7	\$385.00
	Travel to Notre			
	Dame (195.8mi			
Notre Dame Gas	*2/car) round trip	\$229.09	4	\$916.34
	Hotels for Notre			
NCDC Hotel	Dame	\$88.00	3	\$264.00
	Registration for			
	NCDC,			
NCDC Registration	nonmembers	\$45.00	6	\$270.00

	Travel to Pittsburgh (480.3 mi *2/car) round			
NCDC Gas	trip	\$561.95	2	\$1,123.90

• App No. 168- SKY Meditation at UIUC

- o *Description*: Funding for speaker fees
- o Reviewer's Notes: Contractual fees for speaker
- Event Description: The SKY Breath and Meditation Workshop is an internationally acclaimed life-skills program that has benefited thousands of university students, faculty, and staff across the country. The workshop offers training on achieving overall wellbeing primarily through releasing stress via meditation and breathwork techniques that help participants develop a calm and stress-free mind, and an energetic, healthy body. The workshop also features guided yoga sessions, emotional intelligence training, health food, interactive group processes, community service that have shown to significantly reduce anxiety and depression, improve mental focus, build resilience, and leadership with a sense of belonging. At the end of this three-day workshop students are equipped with the 30-min SKY Breath Meditation technique that can be integrated easily into the daily routine to cleanse the mind of negative impressions and increase energy levels. A recent study at Yale University found that the SKY Breath Meditation technique significantly reduces stress, depression, and has a long-lasting impact on mental health, mindfulness, positive emotion, and social connectedness. The SKY Meditation at UIUC RSO is hosting the SKY Breath and Meditation Workshop in a fully funded format for all UIUC students with a vision of happy campus life where each student achieves their fullest potential. A certified instructor with 1000+ hours of teaching experience has been invited to facilitate the workshop
- Funding type: ProgramsAmount Requested: \$5,000.00
- o Amount Allocated: \$5,000.00
- o Administrative Adjustment: \$4500.00
- Administrative Rationale: Open to more than just Illinois attendees so adjusted 10% down.

Item Name	Item Description	Cost	Quantity	Total
	SKY Breath and			
	Meditation			
SKY Breath and	Workshop (Flat			
Meditation Workshop	Rate)	\$6,000.00	1.00	\$6,000.00

• App No. 171- Saudi Students Association

- Description: Saudi Association is requesting funds for culturally related food as they collab
 with the Arab Association and host a night of culturally related music playing, etc. They
 provide adequate documentation showing the order and price from their chosen restaurant,
 along with the set quantity of these meals
- Reviewer's Notes: Based on their documentation and mission purpose, I recommend SORF funds as it is culturally related food. Event will take place on campus and free for all Illinois students to attend
- Event Description: Al-Sufra: A Saudi Culinary Experience" (Al-Sufra means "banquet" or "feast" in Arabic, often associated with grand and luxurious dining) or "Oud Night" (one of the two names to be selected) is an event organized by the Saudi Student Association (SSA)

in collaboration with the Arab Students Association (ASA) at UIUC. This event is dedicated to showcasing the rich and diverse culinary heritage of Saudi Arabia, in addition to getting one of the students to play Oud, a historic instrument. Our primary goal is to introduce and immerse attendees in the authentic flavors and traditions of Saudi culture. The event will feature traditional Saudi dishes, providing a tantalizing exploration of the country's culinary landscape. Through this experience, we aim to bridge the cultural gap between the ASA students who mostly come from the Levant area, foster new friendships, and provide an appreciation of Saudi culture in a welcoming and engaging environment, and a friendly and inclusive setting

Funding type: Programs
 Amount Requested: \$534.68
 Amount Allocated: \$534.68

Item Name	Item Description	Cost	Quantity	Total
	Lamb Haneeth			
	with Rice, one			
	serving. Estimated			
	attendance: 40			
	students.			
	(Estimated			
	quantity based on			
	previous events			
	wherein we had a			
	total of 24			
	attendees with a			
Al Rayan Restaurant -	total price of \$348			
Lamb Haneeth and Rice	for all orders)	\$19.99	17.00	\$339.83
	Chicken Mendi			
	with Rice, one			
	serving. Estimated			
	attendance: 40			
	students.			
	(Estimated			
	quantity based on			
	previous events			
	wherein we had a			
	total of 24			
	attendees with a			
Al Rayan Restaurant -	total price of \$348			
Mendi Chicken and Rice	for all orders)	\$12.99	15.00	\$194.85

• App No. 173- Saudi Students Association

- Description: Saudi Association is requesting funds for culturally related food as they collab with the Muslim Association and host a night of culturally related food and background
- Reviewer's Notes: Based on their documentation and mission purpose, I recommend SORF funds as it is culturally related food. Event will take place on campus and free for all Illinois students to attend
- Event Description: This is an event organized by the Saudi Student Association (SSA) in collaboration with the Muslim Students Association (MSA) at UIUC. This event is dedicated

to showcasing the rich and diverse culinary heritage of Saudi Arabia, as well as offer a culinary experience that encompasses the broader Arab region to showcase to students from other backgrounds. Our primary goal is to introduce and immerse attendees in the authentic flavors and traditions of Saudi culture and Arabs more generally. The event will feature traditional Saudi and Levant dishes, providing a tantalizing exploration of the country's culinary landscape. Through this experience, we aim to bridge the cultural gap between the MSA students who mostly come from many regions and mainly South Asia, foster new friendships, and provide an appreciation of Saudi culture in a welcoming and engaging environment, and a friendly and inclusive setting

Funding type: Programs
 Amount Requested: \$459.95
 Amount Allocated: \$459.95

Item Name	Item Description	Cost	Quantity	Total
	A party			
	platter/combo			
	comprised of			
	shish kabab, shish			
	tawook, shish			
	kufta, chicken			
	kufta, mix			
	shawarma, fried			
	kibee, grape			
	leaves and falafel.			
	Estimated			
	attendance: 50			
Al Madina Feast for 12	students	\$149.99	3.00	\$449.97
	Pure Life Purified			
	Water, 8 fl oz, 24-			
	count (x1 at \$4.99			
Water bottles	each at Costco)	\$4.99	2.00	\$9.98

• App No. 177- Illini Kendo Club

- Description: The kendo club is requesting funds for registration, membership fees, and travel and lodge to compete in Detroit
- Reviewer's Notes: Based on their supporting documents and mission statement, I recommend SORF funds. All items meet standards
- o Connection to Mission: Ranking exams challenge our members to achieve the best they can and compete against others to gain higher grades. An import element of kendo as a whole
- Funding type: Services

Amount Requested: \$1,572.80Amount Allocated: \$1,572.80

Item Name	Item Description	Cost	Quantity	Total
	Registration for			
Detroit Dojo Registration	entry into			
Fee	competition	\$127.00	6.00	\$762.00

42

	2-night lodging, found cheapest			
AirBNB	rate	\$410.00	1	\$410.00
	Registration for			
Dojo Exam Fee	individual exams	\$100.00	4	\$400.00

• App No. 178- Circassian Benevolent Student Association

- o Description: Application requests for flight and lodging expenses
- o Reviewer's Notes: All items meet standards with proper supporting documentation
- o Connection to Mission: As the first student Circassian student organization our participation in Circassian Memorial Day, set to take place on May 21st, 2024, in Wayne, New Jersey at the Circassian Benevolent Association is vital for cultural enrichment, enabling members to delve deeper into Circassian heritage, traditions, insights, and remembrance of the victims of the Circassian genocide. Participating in this event will serve as both a cultural enrichment and an educational opportunity on cultural sensitivity for our members which is crucial for us to achieve our mission and goal. Understanding the historical events that shaped our Circassian identity is crucial for our organization's success. It provides an essential experience for enriching our members' knowledge in cultural values and traditions, fostering an educational experience that contributes to their overall growth. Our strategic involvement in this day will involve engaging with knowledgeable speakers, witnessing captivating traditional dances, and networking with the local Circassian community. By actively participating in this cultural event, we aim to elevate our organization's education, cultural enrichment and foster a genuine appreciation. This initiative not only aligns with our commitment to diversity and cultural awareness but also positions the CBSA as a pioneering student organization, being the first of its kind at any United States University. We are excited about the unique insights and experiences that Memorial Day will bring, allowing us to contribute positively to our community while broadening our perspectives on Circassian history, traditions, and resilience

Funding type: Services

o Amount Requested: \$4,461.76

Amount Allocated: \$4.461.76

Item Name	Item Description	Cost	Quantity	Total
American Airlines Round	Travel Expense for			
Trip	5 members	502.4	5	2512
Home2 Suites by Hiltan	Lodging Expense			
Wayne	for 5 memebrs	649.92	3	1949.76

• App No. 180- Sigma Gamma Rho Sorority Inc.

o Description: Asking for food in line with RSO mission of sharing culture

Reviewer's Notes: Food has significance

 Event Description: At this event we will be in the Arc Instructional Kitchen. Org members will lead the event directing others to cook a meal (baked chicken, baked macaroni, biscuits, and sweet potatoes)

Funding type: Programs
 Amount Requested: \$289.80
 Amount Allocated: \$289.80

Administrative Adjustment: \$0.00

o *Administrative Rationale:* The student organization did not articulate how this program relates to the mission of their student organization.

Item Name		Cost	Quantity	Total
	Item Description		•	
Arc Instructional Kitchen	Room reservation	\$40.00	3.00	\$120.00
Tyson all natural fresh				
chicken wings family	1 . 1	442.50		440.77
pack	chicken wings	\$13.59	3	\$40.77
	100% extra vigin			
great value olive oil	25.5fl oz	\$7.97	1	\$7.97
Lawry's seasoned salt	160z	\$4.12	1	\$4.12
great value garlic powder	3.4oz	\$1.12	2	\$2.24
great value lemon and				
pepper seasoning	4.25oz	\$1.12	2	\$2.24
great value onion				
powder	3.25oz	\$1.12	2	\$2.24
tony Chachere's				
seasoning cajun	80z	\$2.32	1	\$2.32
great value paprika	2.5oz	\$1.12	2	\$2.24
fresh lemon	fresh lemon	\$0.58	3	\$1.74
great value elbows pasta	2lb	\$1.92	3	\$5.76
great value finely				
shredded sharp cheddar				
cheese	160z	\$3.98	2	\$ 7.96
Kraft mozzarella		•		
shredded cheese	16oz bag	\$5.64	1	\$5.64
Kraft Colby jack finally		,		
shredded cheese	16oz bag	\$5.64	1	\$ 5.64
Pillsbury grands southern		,		
homestyle tastin biscuit	16.03 oz, 16			
dough	biscuits	\$5.68	2	\$ 11.36
sprite lemon lime soda	12fl oz, 12 pack	ψ3.00		ψ11.00
pop	cans	\$7.26	1	\$7.26
minute maid lemonade	carro	Ψ7.120		ψ1.20
fruit juice	12fl, 12 cans	\$7.26	1	\$7.26
great value purified	1211, 12 Call3	γ7. <u>2</u> 0	<u> </u>	77.20
drinking water	16.9fl oz, 24 count	\$3.64	1	\$3.64
sweet potatos whole	10.511 02, 24 COUTT	γ 3. 0π	<u> </u>	75.07
fresh	3lb bag	\$4.68	2	\$ 9.36
great value pure	JID DUE	ਹ 1.00	T	93.30
granulated sugar	4lb bag	\$3.24	1	\$3.24
great value kosher	Jun nag	ਹ.ਟਜ	T	93.24
•	2 507	¢1 2 <i>1</i>	1	¢1 24
ground cinnamon	2.50z	\$1.24	1	\$1.24
great value ground	1 50-	ć2.42	1	¢2.42
nutmeg	1.50z	\$2.42	1	\$2.42
great value light-brown		40.04		40.04
sugar	320z	\$2.34	1	\$2.34

kraft mild cheddar				
shredded cheese	16oz bag	\$5.64	1	\$5.64
great value block gouda				
cheese	802	\$2.00	2	\$4.00
great value heavy				
whipping cream	320z	\$ 5.67	1	\$5.67
great value parsley flakes	0.4oz	\$1.12	1	\$1.12
Kerry gold grass fed pure				
Irish garlic and herb				
butter stick	3.50z	\$2.47	3	\$7.41
great value everyday				
strong, soak proof				
microwave safe	9inch ,patterned			
disposable paper plates	,50 count	\$2.98	1	\$2.98
great value premium				
clear disposable plastic				
assorted cutlery, clear	48 counts	\$3.98	1	\$3.98

• App No. 181- Steel Bridge

- Description: Application requests for uniforms justifying that the rulebook states members must wear PPE and uniforms help identify who is a builder and who isn't
- o Reviewer's Notes: All items meet standards with proper supporting documentation
- Connection to Mission: Team uniforms are required for the steel bridge competition per the competition rules. Since introducing students to the steel bridge competition is a critical part of our student org mission, our request for team uniforms is necessary to carry out our student org mission
- Funding type: Services
 Amount Requested: \$1,046.62
 Amount Allocated: \$1,046.62

Item Name	Item Description	Cost	Quantity	Total
	T-shirt to serve as			
Custom Ink Augusta	uniform for the			
50/50 Raglan T-Shirt	team	\$24.34	43	\$1,046.62

App No. 187- Neurotech @ UIUC

- o Description: Medical equipment and supplies for research vital to the organization
- o Reviewer's Notes: Essential equipment
- Connection to Mission: Our mission statement states "We are an organization dedicated to fostering a community of people passionate about Neurotech. Our mission is to expose the field of Neurotech to everyone on campus. We strive to provide resources, host events, and offer professional development for our members." Our request for the booklets to make magazines highlights our desire to expose the field of Neurotech to everyone as the magazines allow us to show articles and important research to the public. Furthermore, the headsets we requested are resources that will help our members get more hands-on experience. Overall, our requested items relate to Neurotech @ UIUC's mission statement as they will allow us to continue conducting research in the field of Neurotech and share that research with our campus and community

Funding type: Services

o Amount Requested: \$1,565.00

o Amount Allocated: \$1,565.00

Item Name	Item Description	Cost	Quantity	Total
Muse 2	Smart headband to detect brain activity	\$249.00	1.00	\$249.00
Saddle-Stitched Booklets	Colored booklets	\$5.41	50	\$270.34
EPOC X	Wireless EEG headset for scalaband brain research	\$999.00	1	\$999.00

App No. 194- Steel Bridge

- o Description: Application is request for project items and paint
- o Reviewer's Notes: All items meet standards with proper supporting documentation
- o Event Description: "Every year, the steel bridge team competes in the AISC Student Steel Bridge Competition. We do so by fabricating and assembling at 200 to 400 lb steel bridge, and then presenting it at competition, where our assembly process and the bridges structural capacity are evaluated. The fabrication process (turning steel stock into the individual pieces) and construction practice (practicing the assembly portion of the competition) are done on campus in the Newmark Civil Engineering Laboratory and open to all students. To clarify, the event that we are applying for funding for are the regular meetings we hold 2-4 times per week to fabricate, and later practice assembly on, the bridge. These are open to all students and held on campus in the Newmark Civil Engineering Laboratory on weekday afternoons. The items we are requesting - nuts, bolts, and paint, are necessary for the fabrication bridge for competition. Nuts and bolts serve as fasteners between the multiple members of the bridge, and paint is required for the aesthetics part of the competition. These items are being considered "Programming supplies" since they are necessary for the execution of the applied for program. The quantity of nuts and bolts requested is informed by the construction practices. Since the repeated tightening and loosening of the bolts as the bridge is repeatedly assembled and disassembled can lead to bolts and nuts losing their threading. Thus, extras need to be requested to replace bolts/nuts that wear out

Funding type: Programs
 Amount Requested: \$315.70
 Amount Allocated: \$315.70

Item Name	Item Description	Cost	Quantity	Total
	25 pack of High			
	Strength steel bolt			
	for use in the			
	construction and			
	construction			
	practice of our			
Extreme-Strength Grade	competition			
9 Steel Hex Head Screw	bridge.	\$15.13	10.00	\$151.30

	50 pack of High strength steel hex nut for use in the construction and construction			
	practice of our			
High-Strength Steel Thin	competition			
Hex Nuts - Grade 8	bridge	\$8.40	8	\$67.20
	12 oz. can of spray			
	paint to be used			
	in painting our			
	steel bridge. Not			
	all paint would			
	necessarily orange			
	or blue, but			
	multiple colors			
Rust-Oleum Painter's	are included to			
Touch 2X 12. oz Gloss	demonstrate that			
Real Orange General	the prices are the			
Purpose Spray Paint	same	\$6.48	8	\$51.84
Rust-Oleum Painter's	12 oz. can of spray			
Touch 2X 12. oz Gloss	paint to be used			
Real Blue General	in painting our			
Purpose Spray Paint	steel bridge.	\$6.48	7	\$45.36

Vote on Pre-Approved Applications:

Matthew Pruyn motions to approve applications. Troy Kowalski seconds. Vote of 10-0-0

Fund as Amended:

Арр	RSO Name	Funding	Amount	Amount
Number		Туре	Requested	Allocated
5	Beekeeping Club	Services	741.8	551.00
8	Afrique Dance Ensemble	Services	421.76	375.11
13	Illinois Women's Volleyball Club	Services	5000	533.05
23	Illinois Design Challenge	Programs	3554.02	1100
29	Indian Student Association	Programs	5000	4500
34	Hive Society Improv Comedy Troupe	Services	1417.88	1287.88
41	Special Populations' Student Health	Programs	3582.84	1705.86
	Concerns Committee			
43	Chai Town	Services	500	343.85
46	TEDxUIUC	Programs	2849	1602.56
47	Arpeggia	Services	473.31	461.31
48	Illini Badminton Intercollegiate Sports	Services	4524.5	4362.50
	Club			
54	Egyptian Student Association	Programs	1185.19	969.26

56	Young Democratic Socialists of America	Programs	51	25.50
57	Young Democratic Socialists of America	Programs	51	25.50
58	GRADUATE ORGANIZATION FOR BY OF	Programs	252.84	0.00
30	LATINE STUDENTS	1 Tograms	232.04	0.00
59	GRADUATE ORGANIZATION FOR BY & OF	Programs	249.51	8.99
33	LATINE STUDENTS	1.08.01113	2.3.31	0.55
61	Intercollegiate IllinoiSkating	Services	1642.9	1542.90
64	Off-Road Illini Baja SAE	Programs	4997.68	4919.68
65	Iranian Cultural Association	Programs	4423.8	1215
69	Illini Ridgebacks Quadball Team	Services	2250	2250
74	Illinois Ballet Company	Programs	2614.75	2363.87
78	Illini Film and Video	Services	4796.46	4604.46
79	Design Build Fly	Services	1969.26	1496
90	UIUC Habitat for Humanity	Programs	616.1	149.02
91	Wexpress	Programs	356	0.00
92	Mongolian Cultural Organization	Programs	143	102.71
93	UIUC Habitat for Humanity	Programs	307.71	103
97	Harmony Ballet	Programs	280	196
99	Mongolian Cultural Organization		80	79.31
103	Robobrawl Committee	Programs Programs	4196.67	330.12
105 106	WeXpress UIUC International Water Resources	Programs	298 721.3	213.50 1.70
100	Association	Programs	/21.3	1.70
110	International Water Resources	Drograms	183	44.38
110	Association	Programs	105	44.56
112	Mu Epsilon Delta	Services	4946.2	2400
113	American Instit3te of Aeronautics and		507.87	405.90
113	Astronautics	Programs	507.67	403.90
121	Illini Medical Screening Society	Services	5000	4040.30
124	Outdoor Adventure Club	Services	3301.04	2842.48
125	Illini VEX Robotics	Services	1121.38	747.15
126	iRobotics	Services	715.42	304.94
145	Society of Women Engineers	Services	373.87	148.87
143	National Arab American Medical		4750.4	3384.66
140	Association NextGen at UIUC	Programs	4730.4	3364.00
151	Society of Women Engineers	Drograms	922.12	328.73
152	Association of Food Technologists	Programs	50	37.50
155	Illini n Motion Dance Team	Programs	764.61	332.41
160	Sigma Gamma Rho Sorority Inc,	Programs Programs	501.59	0.00
162	Sigma Gamma Rho Sorority Inc. Muslim Students Association	Programs	623.66	0.00
164		Programs	5000	3375
174	Taiwanese American Students Club	Programs	4495.72	34.39
176	Saudi Students Association	Programs	432.73	411.09
179	Illinois Robotics in Space	Services	3735.91	2600
184	Illinois Triathlon Club	Services	4994.2	2550.00
186	TRUTH AND BEAUTY	Programs	2214.38	1162.55

188	Ballet Folklorico Mitotiani	Programs	2915.86	472.73
189	Women Of Color	Programs	2600.57	478.09
192	The National Organization of Minority	Services	85.15	0.00
	Architecture Students			
193	Pakistani Students Association	Programs	4994.1	3345.26
197	Bangladeshi Students Association UIUC	Programs	3158	2357.50
198	Bangladeshi Students Association UIUC	Programs	3860	3002
135	Iranian Heritage Foundation	Programs	5000	0.00
84	Nutritional Sciences Graduate Student	Programs	4958.82	700
	Association			
108	Combat Robotics	Programs	2297.32	193.87
122	Chinese Language and International	Programs	815.67	785.67
	Development Society			
127	La Unidad Latina, Lambda Upsilon	Programs	2264.09	537.72
	Lambda, Fraternity Inc.			
175	Hot Pot Basketball Association	Services	5000	3917.01
185	Circassian Benevolent Student	Programs	4975	1223
	Association			
62	The Xtension Chords a Capella	Programs	1343	1208.70

• App No. 5- Beekeeping Club

- o *Description*: Beekeeping Club is requesting funds for tools used in the extraction of honey and materials for renovations their pollinator garden
- o Reviewer's Notes: Line item 4 is a programs item
- Connection to Mission: The Beekeeping Club at UIUC is a club dedicated to supporting and learning about bees and other pollinators on campus. The items requested are used to collect honey (a crucial part of the process for any beekeeper) and continue renovating the areas we have in place for pollinators. Thus, this application helps ensure that we can continue supporting pollinators across campus

Funding type: ServicesAmount Requested: \$741.80Amount Allocated: \$675.80

o Administrative Adjustment: \$551.00

o Administrative Rationale: Line item 5 should also be a Programs item.

Item Name	Item Description	Cost	Quantity	Total
Centrifuge	Used for	\$207.00	2.00	\$414.00
	extracting honey			
	from the combs			
Sieve	Used to purify the	\$22.00	2	\$44.00
	extracted honey			
	to prepare for			
	bottling			
Bottles (24 ct)	Used for honey	\$31.00	3	\$93.00
	storage and			
	eventual sale to			
	club members			

49

Quart of Paint	Used as a part of hive renovation project for	\$ 16.50	4	\$ 66.00
	painting the new fence			
Wood (2x8)	Used for construction of benches as part of pollinator garden renovations	\$ 10.40	12	\$ 124.80

• App No. 8- Afrique Dance Ensemble

- o Description: Application requests for speaker, first aid kit, microphone and headset
- o Reviewer's Notes: Line item 2 is a first aid kit which is not fundable
- Event Description: The requested items allow our dance team to function properly. We are requesting a speaker/microphone for music and instructional purposes and a first aid kit to ensure the safety of our dancers and to prevent any serious injuries
- Funding type: Services
 Amount Requested: \$421.76
 Amount Allocated: \$\$375.11

Item Description	Cost	Quantity	Total
For practices that	\$305.15	1	\$305.15
may occur outside			
of ARC/spaces			
without a sound			
systems			
For any potential	\$46.65	1	\$46.65
cuts, injuries or			
less severe			
accidents			
For performances,	\$32.69	1	\$32.69
practices &			
teaching dances.			
Allows for captain			
to speak/advise			
dancers while			
they dance			
Alternative to the	\$37.27	1	\$37.27
microphone			
headset			

• App No. 13- Illinois Women's Volleyball Club

- o Description: Women's Club Volleyball is requesting funds for travel to several tournaments
- Reviewer's Notes: Line item one and three violate standard 12: purchase timing. Line item 5
 uses the improper IRS mileage rate, the budget request shows the correct calculation. The
 total amount after review is still greater than \$5,000
- Connection to Mission: Our mission and purpose are focused on teamwork through a commitment to volleyball and fitness. By being granted funding, we can fulfill this purpose

through tournaments and practices, which are the places where we execute this mission. Funding helps ensure that all players in the organization can have a chance to compete and live this purpose

Funding type: Services

Amount Requested: \$5,000.00 Amount Allocated: \$533.05

Item Name	Item Description	Cost	Quantity	Total
	Registration that			
	is required with			
	the national club			
	volleyball			
	governing body in			
	order to compete			
Nationals Tournament	in our national			
Registration Fee	tournament	\$1,930.00	1.00	\$ 1,930.00
	Registration fee			
	required for entry			
	into our upcoming			
Purdue Tournament	tournament at			
Registration Fee	Purdue University.	\$725.00	1.00	\$725.00
	Lodging at hotels			
	for Purdue			
Traveling/Lodging	University			
hotels	tournament	\$165.00	5	\$825.00
	Lodging at hotels			
	for Kansas City			
Traveling/Lodging -	tournament			
hotels	(nationals)	\$222.00	20	\$4,440.00
	Reimbursement			
	of gas for players			
	to travel to and			
	from			
Traveling/Lodging - gas	tournaments.	\$342.39	5	\$ 1,711.95

• App No. 23- Illinois Design Challenge

- o Description: Space rental fees and food for Design Challenge weekend event
- Reviewer's Notes: Line items 6-14 are not essential for the success of the program. As such, I recommend SORF fund as amended (\$1,100.00)
- Event Description: The Illinois Design Challenge is the flagship event hosted by the Illinois Design Challenge RSO. The event itself is held similarly to a hackathon but for computer-aided design, giving UIUC students the ability to demonstrate their talents with design by competing in a 72-hour design sprint on a design prompt of their choosing. In partnership with some industry sponsors which range from year to year, design challenges are held to solve problems that different companies are currently facing ranging from manufacturing to installation issues. During the event, workshops are held for participants with no CAD experience whatsoever as to give each individual a fair chance at winning the competition. During the three-day span, meals are held for participants with guest lectures and speeches

to help incite interest in the design field. The event is not exclusive to any specific major or department and all individuals with an interest are welcome to join

Funding type: ProgramsAmount Requested: \$3,554.02

o Amount Allocated: \$1,100.00

Item Name	Item Description	Cost	Quantity	Total
	Reservation for		,	
	Monumental			
	Steps during			
CIF Monumental Steps	Kickoff and Wrap-			
(Tier 3) Reservation	up	\$125.00	4.00	\$500.00
	Reservations for	·		
	Workshop			
	classrooms,			
CIF Tier 1 Workshop	throughout 3-day			
Room Reservations	event period	\$30.00	8	\$240.00
	Reservations for	•		,
	Office Hour			
	classrooms			
	through three-day			
	workshop period.			
	Participants can			
	come to ask for			
	help for IDC			
	members with			
	design issues or			
CIF Tier 1 Office Hour	questions about			
Reservations	challenges	\$30.00	8	\$240.00
Reservations	Company	750.00	0	72-10.00
	workshops/meet			
	and greets for			
	participants			
	hosted in			
CIF Tier 1 Company	classrooms during			
Workshops Reservations	event.	\$30.00	2	\$60.00
Tromonops neser rations	Reservations for	φ30.00	_	700.00
	judging locations			
	and group			
	presentations for			
	participants to			
	present their			
	designs in front of			
	judges before			
CIF Tier 1 Judging Room	winners are			
Reservations	declared	\$30.00	2	\$60.00

	Sun Chips for			
	Participants			
Costco Sun Chips	during workshops	\$18.49	3	\$55.47
- ccscco can cinps	30 Middle Eastern	7 20.13		755
	Feast Falafel, 30			
	Middle Eastern			
	Feast			
	Chicken/Steak for			
	vegetarian and			
	non vegetarian			
	participants.			
	Served during			
	Friday night			
	dinner to			
Naf Naf Catering	participants	\$ 965.93	1	\$965.93
-	5 Large Bundle o			
	sandwiches for			
	10. Served during			
	Saturday night			
	dinner to			
Potbelly Catering	participants	\$ 612.08	1	\$ 612.08
	100 Pack of			
	assorted cookies			
	including vegan			
	cookies. To be			
	served to			
	participants and			
	the closing			
Insomnia Catering	ceremony	\$188.43	1	\$188.43
	3 30 Piece			
	Sandwich Box			
	with assorted			
	sandwiches to be			
	served during			
Jimmy Johns Catering	Sunday Lunch	\$225.33	1	\$225.33
	10 Pepperoni and			
	10 Cheese pizzas			
	to be served			
Davidson Cal. '	during Saturday	¢2.46.00		6246.00
Dominos Catering	lunch	\$246.88	1	\$246.88
	To be served to			
	participants			
Dunkin 1/2 Combra of	during Saturday			
Dunkin 1/2 Cambro of Coffee	and Sunday breakfast hours	\$40.00	2	\$ 80.00
contte	To be served to	⊋+∪.∪∪	 	
Dunkin 50-ct. Munchkins		\$ 13.99		\$ 55.96
DUTIKIH SU-CL. IVIUNCHKINS	participants	३15.४४	4	>>>.>0

	during Saturday and Sunday breakfast hours			
	Case of 40			
	Kirkland Signature			
	Water to be			
	distributed to			
	participants			
Costco Water	throughout event	\$3.99	6	\$23.94

• App No. 29- Indian Student Association

- o Description: Application requests programming supplies for the execution of ISA India Night
- o *Reviewer's Notes*: All items meet standard under programming supplies. Application should be funded at 90% due to non-Illinois attendees
- Event Description: ISA India Night is an annual event that the Indian Student Association hold to celebrate our cultural traditions. The event consists of many South Asian cultural organizations joining together to perform during the show. India Night will be hosted in Foellinger Auditorium and will be free to the public

Funding type: ProgramsAmount Requested: \$5,000.00Amount Allocated: \$4,500.00

Item Name	Item Description	Cost	Quantity	Total
Sound Techs (2 - 4 hours)		\$150.00	1.00	\$150.00
Light Techs (3 - 6 hours)		\$100.00	1	\$100.00
Rent		\$2,100.00	1	\$2,100.00
	Large Sound			
	System & Light			
	Equipment			
	package #3, 17			
	mics,2 comms,			
	projector and			
Sound System	screen, spike tape	\$1,197.00	1	\$1,197.00
Sound Techs (7:30a -				
11p)		\$962.50	1	\$962.50
Light Techs (7:30a - 11p)		\$481.25	1	\$481.25
Stage Manager (7:30a -				
11p)		\$385.00	1	\$385.00
UIPD Student Patrol		\$178.50	1	\$178.50
Lobby Staff / Open/Close				
(7:30a - 11p)		\$346.50	1	\$346.50
Lobby Staff / ADA Doors				
(4:30p - 10p)		\$198.00	1	\$198.00
Cleaning Fee		\$250.00	1	\$250.00

- o App No. 34- **Hive Society Improv Comedy Troupe**
- Description: This RSO is requesting funding for uniforms and a space rental for an improv festival

- o Reviewer's Notes: Line items 2 violates Program Standards: program-specific space rentals
- Connection to Mission: Hive Society's purpose is to serve as the University of Illinois' long-form improv troupe. There can be up to four teams, and each of these teams contributes to the Hive mind of the troupe and works together for the betterment of Illinois Improv Comedy. Hive Society Improv is a safe space for all students to learn and perform improv. By participating in UNICIF, we can represent the long-form aspect of improv comedy at UIUC, as we are the only RSO that practices this type of improvisation. We want to share our art and grow UIUC's long-form improvisational comedy community. To put it simply, we want to make ourselves and others smile

Funding type: Services

Amount Requested: \$1,417.88Amount Allocated: \$1,287.88

O Amount Amounted: \$1,207.88				
Item Name	Item Description	Cost	Quantity	Total
Hive Society	Uniforms required	\$33.67	36.00	\$1287.88 (with
UNICIF Uniforms	to perform at			tax)
	UNICEF- Black and			
	Yellow T-shirts,			
	including the			
	UIUC logo, which			
	represent Hive			
	society improv			
	and will allow us			
	to perform			
Gregeory Hall	Hive society will	\$65.00	2	\$130.00
Room 112 For	be hosting its			
Mom's Weekend	annual mom's			
Comedy Show	weekend comedy			
	show in Gregory			
	Hall room 112 and			
	we would like to			
	book the room for			
	2 hours.			

• App No. 41- Special Populations' Student Health Concerns Committee

- Description: Application requests equipment rental, programming supplies, contractual services, and advertisements for hosting their annual health fair
- o *Reviewer's Notes*: Application should be funded with \$1705.86. Line items 16 and 17 are unsigned contracts, and line items 18-22 did not provide a mockup of the advertisement
- Event Description: The Annual Health Fair has been a long-standing tradition at the University of Illinois. Our event aims to increase health awareness, improve health status, and promote behavioral changes that will result in a healthier lifestyle among the diverse University of Illinois student body, including but not limited to, racial ethnic minorities, women, people with disabilities, the LGBTQIA+ community, international students, and underinsured or uninsured individuals. Our organization provides health and wellness information to students by hosting a multitude of health-centered vendors, including medical screeners that offer cholesterol, glucose, STI, hearing, and vision screenings, mental health professionals, chiropractors, and health educators, allowing students to receive free

services and advice from health care professionals. Ultimately, our organization strives to provide comprehensive programs to all individuals in our diverse campus community

o Funding type: Programs

Amount Requested: \$3,582.84 Amount Allocated: \$1,705.86

	llocated: \$1,/05.86	Coot	O	Total
Item Name	Item Description	Cost	Quantity	Total
	Due to RSO			
	status, we have			
	no charge for the			
	room			
	reservations, but			
	we must pay for			
	electricity set up			
Illini Union Space	in reserved space.	\$150.00	1	\$150.00
	Sound, screen,			
	and audio feed			
Presentation Package Illini	for room			
Rooms	reservations	\$122.64	1	\$122.64
	Multimedia			
Multimedia	personnel for 3			
Technician/Personnel	hours.	\$22.40	1	\$22.40
	Iridescent			
Decorations	Backdrop Paper	\$19.90	15	\$298.50
Decorations	Gold Curling			
	Ribbon	\$2.00	6	\$12
Decorations	Variety Pack Paint			
	Brushes	\$4.97	3	\$15
Decorations	Iridescent			
	Tablecloths	\$2.97	7	\$21
Decorations	Black Tablecloths	\$2.47	10	\$25
Decorations	Balloon			
	Centerpieces	\$15.99	2	\$32
Decorations	T-Pins	\$5.99	2	\$12
Decorations	Black Tracing	,		
	Markers	\$10.99	1	\$11
Decorations	Glow Sticks	7-0:00	_	7
	(1000)	\$55.99	1	\$56
Decorations	Balloon Backdrop	\$15.99	1	\$16
Decorations	Black Paper Plates	\$12.99	1	\$13
	Glucose and	7	_	7-0
	cholesterol			
	screening kits and			
Medical Screenings	materials	\$900.00	1	\$900
ivicaicai Sci cellings	Honorariums for	7500.00	<u> </u>	7500
	contractual			
	services will be			
Contracts for DJ	given to the	\$500.00	1	500
CONTRACTS TOT DJ	Ewen to the	, ੨੭ੑੑੑੑੑੑੑ	-	500

	performers and			
	the Master of			
	Ceremonies			
	before the health			
	fair, and they will			
	receive funding			
	via mail after the			
	Health Fair is			
	over. The			
	honorarium			
	includes payment			
	for services			
	provided as well			
	as all travel and			
	lodging/feeding			
	expenses.			
	Performers are			
	selected based on			
	the potential to			
	educate students			
	on various			
	cultural dances.			
	The diversity of			
	performers			
	ensures that			
	students are			
	exposed to			
	different styles of			
	dance from			
	around the world.			
	Funding is needed			
	to reimburse			
	performers for			
	their			
	honorariums.			
	Honorariums for			
	contractual			
	services will be			
	given to the			
	performers and			
	the Master of			
	Ceremonies			
	before the health			
	fair, and they will			
	receive funding			
	via mail after the			
	Health Fair is			
Contracts for Performers	over. The	\$ 500.00	1	500
contracts for renormers	over. me	>>00.00	<u> </u>) 500

	honorori			
	honorarium			
	includes payment for services			
	provided as well			
	as all travel and			
	lodging/feeding			
	expenses.			
	Performers are			
	selected based on			
	the potential to			
	educate students			
	on various			
	cultural dances.			
	The diversity of			
	performers			
	ensures that			
	students are			
	exposed to			
	different styles of			
	dance from			
	around the world.			
	Funding is needed			
	to reimburse			
	performers for			
	their			
	honorariums.			
	Advertising our			
	event on the 30			
	MTD Information			
	Kiosks for 2			
MTD Digital Kiosk	weeks.	\$162.50	1	\$162.50
	Advertising our			
	event on the MTD			
	buses for 1			
MTD Interior Cards	month.	\$358.00	1	\$358.00
z meener eards	Advertising our	+333.00	_	755.55
	event on the			
	Digital Marketing			
	Screens located in			
	the Illini Union,			
	Campus Rec, and			
	University			
	Housing for 3	400.05		4070.00
Illini Union Digital Ads	weeks.	\$90.00	3	\$270.00
	Need to Print the			
	materials to			
Printing for Ads	display in MTD	\$1.19	25	\$29.96

	Need to Print the			
	materials for			
	distribution on			
Printing for Ads	campus	\$0.37	150	\$ 56.52

• App No. 43- Chai Town

- o *Description*: Application requests essential equipment
- Reviewer's Notes: Line item 1 is unnecessary for the operations of the organization.
 Application should be funded at \$343.85
- Connection to Mission: As an acapella group, we focus our energy on performance and content creation. We hope to use the new equipment to have all of our members perform at events and be present in the content we make, which is one of the expectations they had coming into the group
- Funding type: Services
 Amount Requested: \$500.00
 Amount Allocated: \$343.85

Item Name	Item Description	Cost	Quantity	Total
	4 trackers for			
	group equipment			
Apple Airtags	in case it is lost.	\$84.99	1.00	\$84.99
	3 tags for group			
	information in			
Nametags	case it is lost.	\$6.99	2	\$13.98
	Small travel			
Mini handheld	microphones for			
microphones	recording	\$24.99	1	\$24.99
	Cords that are			
	used to connect			
	microphones to			
XLR Female to TRS Male	our sound board			
cords	when performing.	\$14.99	5	\$74.95
	Stand to be used			
	for recording			
	content for the			
Microphone Stand	RSO	\$79.99	1	\$79.99
	Shield to block			
	out noise when			
Microphone Noise Shield	recording.	\$49.99	1	\$49.99
	Headphones to			
	listen to playback			
Headphones	of content.	\$99.95	1	\$99.95

• App No. 46- **TEDxUIUC**

- Description: TEDxUIUC is requesting funds for Foellinger Auditorium rental, Peoria charter transport, and Union Hotel for speaker event
- o Reviewer's Notes: All travel expenses and space rental shall be funded at 75% because UIUC students are required to pay. 25% non Illinois students.

 Event Description: This is the conference we hold annually, bringing speakers from around the world and hosting a TEDx Conference. Historically, we hosted the event at either Foellinger or Krannert. We also historically covered the travel and lodging of the speakers

Funding type: Programs
 Amount Requested: \$2,849.00
 Amount Allocated: \$1,602.56

Item Name	Item Description	Cost	Quantity	Total
	The Hourly Rate			
	of Foellinger			
	Auditorium +			
	Public Rates			
Foellinger Auditorium	(+100/hr)	\$250.00	4.00	\$1,000.00
	The Daily Rate of			
	Presentation			
Foellinger Auditorium	Equipment	\$75.00	1	\$75.00
	Hourly Rate of			
	Stage Lighting			
	System, Sound			
	System, Sound			
	and Lighting			
Foellinger Auditorium	Technicians	\$100.00	4	\$400.00
	Hourly Rate of			
	Transportation for			
Peoria Charter	Transit Van	\$75.00	6	\$450.00
	Daily Rate for Full-			
	Sized Bed Hotel			
Union Hotel	Room for April 27	\$154.00	6	\$924.00

App No. 47- Arpeggia

- Description: The funding provided from this request will allow Arpeggia to continue offering free music education to middle school students in the Urbana-Champaign community. This provides an opportunity for UIUC students to utilize the skills they have gained while making a positive difference in the lives of others. This further promotes the reputation of the university as one that is driven by purpose and impact.
- Reviewer's Notes: Line item 1, on the supporting docs they state they have "8 weeks of practice after May 6", my impression is that they meant March 6th, but I know there have been errors previously as such, on past applications to which we denied or funded as amended. Line item 6, has no supporting docs, just states the pricing breakdown in paragraph form. It is then followed up with a table of charges that I don't see included in the budget sheet. They also do have additional funding available, so based on this, I recommend SORF funds as amended
- Connection to Mission: Foldable music stands, saxophone and trumpet mouthpieces, saxophone reeds, and trumpet valve oil are all essential equipment that Arpeggia requires in order to provide lessons to students. This equipment will be used by the students that we mentor. Additionally, because these instruments will be shared by many people, we require hand sanitizer, sanitizer wipes, and mouthpiece sanitizer as essential equipment to ensure that the teaching environment is sanitary, and we are minimizing the risk of spreading

disease as much as possible. Paper handouts include educational materials to be provided to mentees as well as reference materials for mentors to guide them in instructing lessons, and thus are necessary as essential equipment as well. Lastly, we request funding for the website domain as essential equipment that will allow us to reach a wider audience, potentially bringing in new members/mentors or new students to mentor, allowing our organization to improve our services and grow

Funding type: Services
 Amount Requested: \$473.31
 Amount Allocated: \$461.31

Item	Category	Quantity	Price/Item	Total	Links	Rationale
Hand	Essential	1	\$11.35	\$11.35	<u>Amazon</u>	Will ensure that
Sanitizer	Equipment					we have a sanitary
						teaching
						environment
						during lessons
Sanitizer	Essential	1	\$22.99	\$22.99	<u>Amazon</u>	Will ensure that
Wipes	Equipment					we have a sanitary
						teaching
						environment
						during lessons
Foldable	Essential	3	\$18.99	\$56.97	<u>Amazon</u>	Equipment used
Music	Equipment					for instruction of
Stands?						music lessons
Yamaha YAC	Essential	2	\$35.99	\$71.98	<u>Amazon</u>	Equipment used
5C (Sax	Equipment					for instruction of
Mouthpiece						music lessons
) Do ala	Facantial	2	¢61.70	Ć122 F0	A	Farriage and read
Bach	Essential	2	\$61.79	\$123.58	<u>Amazon</u>	Equipment used for instruction of
Trumpet 7C (Trumpet	Equipment					music lessons
Mouthpiece						THUSIC IESSOTIS
\						
Rico Alto	Essential	1	\$58.99	\$58.99	Amazon	Equipment used
Saxophone	Equipment	_	φ30.33	φ30.33	<u>/ III II I</u>	for instruction of
Reeds 25-	_90.0					music lessons
Pack						
Strength 3.0						
Trumpet	Essential	5	\$7.99	\$39.95	Amazon	Equipment used
Valve Oil	Equipment					for instruction of
						music lessons
Mouthpiece	Essential	3	\$8.50	\$25.50	Amazon	For cleaning
sanitizer	Equipment					shared
						instruments
						between use in
						lessons
Paper	Essential	500	\$0.10	\$50.00	UIUC	For providing
Handouts	Equipment				<u>Library Tech</u>	education

						resources to mentees and reference materials for mentors
Website	Essential	1	\$12.00	\$12.00	Google	Used to recruit
Domain	Equipment				Domains SS	mentors/member
						s, and act as an
						informational
						resource for
						schools as well as
						current members

• App No. 48- Illini Badminton Intercollegiate Sports Club

- Description: The Badminton club is requesting funds for materials, equipment, space rental, and competition fees
- Reviewer's Notes: Line item 1, on the supporting docs they state they have "8 weeks of practice after May 6", my impression is that they meant March 6th, but I know there have been errors previously as such, on past applications to which we denied or funded as amended. Line item 6, has no supporting docs, just states the pricing breakdown in paragraph form. It is then followed up with a table of charges that I don't see included in the budget sheet. They also do have additional funding available, so based on this, I recommend SORF funds as amended
- Connection to Mission: The shuttles, court time, string, and grip support the normal day-today operations of the club. As a competitive club, we plan to use the tournament fee support and gym hosting fees to help support our mission to be more competitive
- Funding type: Services
- o Amount Requested: \$4,524.50
- o Amount Allocated: \$4362.50

Item Name	Item Description	Cost	Quantity	Total
	We use 10 tubes			
	of badminton			
	shuttles a week			
	and each tube			
	costs \$38. there			
	are 8 weeks of			
	practice after May			
	6 for a total usage			
Shuttlecocks	of 80 tubes	\$38.00	80.00	\$3,040.00
	Courts to play on			
	from this			
	semester quote			
	for April which			
Court Time	can be funded	\$323.00	1	\$323.00
	String averaged			
Badminton racket string	price for when	\$12.00	35	\$420.00

	racket strings			
	snaps			
	Grip tape for			
	rackets when they			
Badminton racket grip	wear out in packs			
tape	of 4	\$9.95	10	\$99.50
	We plan to send			
	our skeleton team			
	to represent us at			
	the Steve Rader			
	Tournament			
	playing two			
	events each for			
Steve Rader Tournament	\$60 a person for			
Fees	registration	\$60.00	8	\$480.00
	Gym fees to host			
	Northwestern			
	badminton team			
	to play during			
	April \$54 dollars			
	and hour for 3			
Hosting Gym Fees	hours	\$54.00	3	\$162.00

• App No. 54- Egyptian Student Association

- o Description: Console rentals, traditional food and drinks, supplies for traditional activities
- Reviewer's Notes: Application is requesting funding for items and supplies to host events sharing Egyptian culture with the broader campus community. Line items 1 and 2 are not related to the mission and purpose of the RSO. As such, I recommend that SORF funds the application as amended
- Event Description: Every week, we plan to have at least one event. Aligning with our club's mission, these events are based on the idea of connecting UIUC students who are interested in Egyptian Culture, regardless of whether they have Egyptian heritage or not, and showing them what it is like through various, differently themed events. The core idea (aligning with the RSO's mission) will be consistent across all events. The themes of each event will always have direct connection to Egyptian culture. For example, some events will be themed on an Egyptian cafe (Maqahy) where there will be traditional Egyptian board games played like chess and tawla, beverages and snacks like tea and Todo (Egyptian candy), and traditional Egyptian music played. This event will likely occur more than once throughout the semester. Another event will be themed on an Egyptian cyber (internet cafe) where people can play all sorts of different console games. Another event will be based on an Egyptian dinner/iftar where there will be a wide range of traditional Egyptian foods like koshary and molokhia. We also plan on doing social trips to places like a trampoline park to simply allow people to socialize

Funding type: Programs
 Amount Requested: \$1,185.19
 Amount Allocated: \$969.26

|--|

Microsoft - Xbox Series X	Console for Cyber			
1TB Console	event	31.99	3.00	\$95.97
TTD CONSOIC	Console for Cyber	31.55	3.00	\$33.37
Sony PlayStation 5 Slim	event	29.99	4	\$ 119.96
Windows Puffs - Cheese	box of one type of	23.33		\$113.30
Flavor - Box of 10	Egyptian snack	65	1	\$65.00
TIAVOT BOX OT 10	Box of Egyptian	03	<u> </u>	703.00
Big Egypt Box	snacks	37.99	2	\$75.98
Dig Egypt Dox	Bigger box of	37.55		773.30
Super Egypt Box	Egyptian snacks	49.99	1	\$49.99
Plain Kahk with Sugar - 1	Oriental Egyptian	13.33	-	ψ 13.33
lb	sweets	19.99	3	\$59.97
Assorted Mediterranean	Oriental Egyptian	13.33		753.57
Baklava with Honey	sweets	27.9	3	\$83.70
Masrawy Deal Cards -	Egyptian			7,300
Franco	Monopoly Deal	19	1	\$19.00
200l Ameme - Egyptian	Egyptian card			\$13.00
Memes - Card Game	game	32	1	\$32.00
	Egyptian card			702.00
200l aw e3mel Franco	game	32	1	\$32.00
4 in a row by Nilco	4 in a row	9.99	1	\$9.99
Crazy Talk bel3araby by	Egyptian	0.00		7 - 3 - 3
Nilco	board/card game	26.99	1	\$26.99
Al Arosa Soft Black Tea -	active, care game			7 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 -
250g	Egyptian black tea	7.19	2	\$14.38
Birell - Non-Alcoholic	Malt beverage			
Natural Malt Beverage	from Egypt	4.99	10	\$49.90
Oman Sobia 50g (1 Liter)	Sobia drink	2.99	10	\$29.90
Abu Auf Turkish Coffee				
Light Roast with	Coffee from			
Cardamom	Egyptian brand	9.99	5	\$49.95
	Strawberry milk			
Mix Strawberry Juhayna	drink from egypt	4.99	10	\$49.90
Chipsy - Tomato (Small	9.1			
Bag)	Egyptian chips	4.19	10	\$41.90
Galaxy Flutes - Twin	Chocolate we ate			
Fingers Chocolate	a lot in egypt	3.29	10	\$32.90
Egyptian Style Koshary	Koshary	7.49	15	\$112.35
•	Egyptian			
Molto Magnum	chocolate filled			
Chocolate	croissant	4.99	10	\$49.90
Bake Rolz - Ketchup	Bake Rolz -			
Flavor	Ketchup Flavor	2.99	10	\$29.90
SAKURA Pigma Micron	Pens to draw on			
Fineliner Pens	papyrus	11.59	3	\$34.77

20 Blank Egyptian Papyrus Sheets for Art				
Projects	Papyrus for fun!	18.89	1	\$18.89

• App No. 56- Young Democratic Socialists of America

- o *Description*: Young Democratic Socialists of America is requesting funds to purchase food for a charitable event
- o Reviewer's Notes: Food has a significance to event. For charity event, fund at 50%
- Event Description: This event is a bake sale occurring at Anniversary Plaza (weather permitting) where 100% of the profits will be donated to the charity Palestine Children's Relief Fund, a registered 501c3 (EIN: 93-1057665). Items to be sold include bread, muffins, cupcakes, donuts, and cookies
- Funding type: ProgramsAmount Requested: \$51.00Amount Allocated: \$25.50

Item Name	Item Description	Cost	Quantity	Total
Krusteaz Wild	·		•	
Blueberry Muffin	https://www.walmart.com/ip/Krusteaz-Wild-			
Mix, Includes Wild	Blueberry-Muffin-Mix-Includes-Wild-			
Blueberries Can,	Blueberries-Can-17-1-oz-			
17.1 oz Box	Box/10307493?from=/search	\$2.97	3	\$8.91
Krusteaz Chocolate				
Chunk Muffin Mix,	https://www.walmart.com/ip/Krusteaz-			
Made with Real	Chocolate-Chunk-Muffin-Mix-Made-with-Real-			
Chocolate Chunks,	Chocolate-Chunks-18-25-oz-			
18.25 oz Box	Box/10307501?from=/search	\$2.97	3	\$8.91
Great Value	https://www.walmart.com/ip/Great-Value-			
Vegetable Oil, 48 fl	Vegetable-Oil-48-fl-			
OZ	oz/10451002?athbdg=L1200&from=/search	\$3.97	1	\$3.97
Great Value Large	https://www.walmart.com/ip/Great-Value-			
White Eggs, 18	Large-White-Eggs-18-			
Count	Count/172844767?athbdg=L1200&from=/search	\$2.72	2	\$5.44
Pillsbury Quick				
Bread Banana Bread	https://www.walmart.com/ip/Pillsbury-Quick-			
and Muffin Mix, 14	Bread-Banana-Bread-and-Muffin-Mix-14-Oz-			
Oz Box	Box/836964829?athbdg=L1200&from=/search	\$2.83	3	\$8.49
Krusteaz Meyer				
Lemon Pound Cake	https://www.walmart.com/ip/Krusteaz-Meyer-			
and Glaze Mix, 16.5	<u>Lemon-Pound-Cake-and-Glaze-Mix-16-5-oz-</u>			
oz Box	Box/43750667?from=/search	\$2.97	3	\$8.91
Betty Crocker				
Delights Super	https://www.walmart.com/ip/Betty-Crocker-			
Moist Triple	Delights-Super-Moist-Triple-Chocolate-Fudge-			
Chocolate Fudge	<u>Cake-Mix-13-25-</u>			
Cake Mix, 13.25 oz	oz/3066569720?athbdg=L1200&from=/search	\$1.68	2	\$3.36

	https://www.walmart.com/ip/Great-Value-			
Great Value Cupcake	Cupcake-Liners-White-96-			
Liners, White, 96 Ct	Ct/990971029?athbdg=L1200&from=/search	\$1.12	1	\$1.12
Pillsbury Creamy				
Supreme Chocolate	https://www.walmart.com/ip/Pillsbury-Creamy-			
Fudge Flavored	Supreme-Chocolate-Fudge-Flavored-Frosting-16-			
Frosting, 16 Oz Tub	Oz-Tub/238324925?from=/search	\$1.88	1	\$1.88

• App No. 57- Young Democratic Socialists of America

- o *Description*: Young Democratic Socialists of America is requesting funds to purchase food for a charitable event
- o Reviewer's Notes: Food has a significance to event. For charity event, fund at 50%
- Event Description: This event is a bake sale occurring at Anniversary Plaza (weather permitting) where 100% of the profits will be donated to the non-profit DSA Fund, a registered 501c3 (Tax ID: 13-2893010). Items to be sold include bread, muffins, and cupcakes

Funding type: ProgramsAmount Requested: \$51.00Amount Allocated: \$25.50

Item Name	Item Description	Cost	Quantity	Total
Krusteaz Wild				
Blueberry Muffin	https://www.walmart.com/ip/Krusteaz-Wild-			
Mix, Includes Wild	Blueberry-Muffin-Mix-Includes-Wild-			
Blueberries Can,	Blueberries-Can-17-1-oz-			
17.1 oz Box	Box/10307493?from=/search	\$2.97	3	\$8.91
Krusteaz Chocolate				
Chunk Muffin Mix,	https://www.walmart.com/ip/Krusteaz-			
Made with Real	Chocolate-Chunk-Muffin-Mix-Made-with-Real-			
Chocolate Chunks,	Chocolate-Chunks-18-25-oz-			
18.25 oz Box	Box/10307501?from=/search	\$2.97	3	\$8.91
Great Value	https://www.walmart.com/ip/Great-Value-			
Vegetable Oil, 48 fl	Vegetable-Oil-48-fl-			
OZ	oz/10451002?athbdg=L1200&from=/search	\$3.97	1	\$3.97
Great Value Large	https://www.walmart.com/ip/Great-Value-			
White Eggs, 18	Large-White-Eggs-18-			
Count	Count/172844767?athbdg=L1200&from=/search	\$2.72	2	\$5.44
Pillsbury Quick				
Bread Banana Bread	https://www.walmart.com/ip/Pillsbury-Quick-			
and Muffin Mix, 14	Bread-Banana-Bread-and-Muffin-Mix-14-Oz-			
Oz Box	Box/836964829?athbdg=L1200&from=/search	\$2.83	3	\$8.49
Krusteaz Meyer				
Lemon Pound Cake	https://www.walmart.com/ip/Krusteaz-Meyer-			
and Glaze Mix, 16.5	Lemon-Pound-Cake-and-Glaze-Mix-16-5-oz-			
oz Box	Box/43750667?from=/search	\$2.97	3	\$8.91
Betty Crocker				
Delights Super	https://www.walmart.com/ip/Betty-Crocker-			
Moist Triple	Delights-Super-Moist-Triple-Chocolate-Fudge-	\$1.68	2	\$3.36

Chocolate Fudge	Cake-Mix-13-25-			
Cake Mix, 13.25 oz	oz/3066569720?athbdg=L1200&from=/search			
	https://www.walmart.com/ip/Great-Value-			
Great Value Cupcake	Cupcake-Liners-White-96-			
Liners, White, 96 Ct	Ct/990971029?athbdg=L1200&from=/search	\$1.12	1	\$1.12
Pillsbury Creamy				
Supreme Chocolate	https://www.walmart.com/ip/Pillsbury-Creamy-			
Fudge Flavored	Supreme-Chocolate-Fudge-Flavored-Frosting-16-			
Frosting, 16 Oz Tub	Oz-Tub/238324925?from=/search	\$1.88	1	\$1.88

• App No. 58- Graduate Organization for By of Latine Students

- o Description: Food and single use serving supplies for cultural event
- Reviewer's Notes: Application is requesting funding for a culturally focused end of year celebration and meal. Line items 5-7, 9, 14 and 15 are not essential to the program and should be denied. As such, I recommend that SORF funds the application as amended
- Event Description: The Annual Carne Asada is GOLS' end of the year culmination event, where we welcome the new executive board and new members and celebrate the upcoming graduation ceremonies

Funding type: Programs
 Amount Requested: \$252.84
 Amount Allocated: \$192.75
 Administrative Adjustment: \$0.00

o Administrative Rationale: Members only and recruitment/retention.

Item Name	Item Description	Qty	Cost	Cost Total
Beef Choice Angus	https://www.walmart.com/ip/seort/178881423	4	\$19.59	\$78.36
Flank Steak, 1.34 -				
2.28 lb Tray				
Mission White Corn	https://www.walmart.com/ip/seort/15610880	2	\$2.48	\$4.96
Tortillas, 30 Count				
FRESH CRAVINGS	https://www.walmart.com/ip/seort/45980581	1	\$3.43	\$3.43
Restaurant Style				
Medium Salsa, 16 oz				
Marketside	https://www.walmart.com/ip/seort/502056800	1	\$4.94	\$4.94
Homestyle				
Guacamole, Net Wt.				
15 oz				
Great Value Purified	https://www.walmart.com/ip/seort/992524020	1	\$5.36	\$5.36
Drinking Water, 16.9				
fl oz Bottles, 40				
Count				
Sprite Lemon Lime	https://www.walmart.com/ip/seort/10535226	1	\$12.58	\$12.58
Soda Pop, 12 fl oz, 24				
Pack Cans				
Coca-Cola Soda Pop,	https://www.walmart.com/ip/seort/10535216	1	\$12.58	\$12.58
12 fl oz, 24 Pack Cans				

	T		1	
Santitas Tortilla Chips White Corn, Gluten	https://www.walmart.com/ip/seort/1305950862	1	\$2.28	\$2.28
Free, 11 oz				
Cheetos Crunchy	https://www.walmart.com/ip/seort/443076575	1	\$5.48	\$5.48
Cheese Puff Chips, 15				
oz Bag				
Dixie Disposable	https://www.walmart.com/ip/seort/48767998	1	\$15.34	\$15.34
Paper Plates,				
Multicolor, 10 in, 150				
Count				
Great Value Premium	https://www.walmart.com/ip/seort/134354147	1	\$9.98	\$9.98
Clear Disposable				
Plastic Assorted				
Cutlery, 192 Count				
Bounty Paper	https://www.walmart.com/ip/seort/23814513	1	\$3.48	\$3.48
Napkins, White, 200				
Count				
Hefty Party on	https://www.walmart.com/ip/seort/992524020	1	\$9.98	\$9.98
Disposable Plastic				
Cups, Red, 18 Ounce,				
50 Count				
Taylor Farms Snap	https://www.walmart.com/ip/seort/1857332147	1	\$10.97	\$10.97
Peas & Tomatoes				
Vegetable Tray with				
Ranch Dip, 40 oz,				
Fresh				
Freshness	https://www.walmart.com/ip/seort/133470818	1	\$13.12	\$13.12
Guaranteed Seasonal				
Fruit Tray, 48 oz				
Prepared Rice, 1/2	(From vendor)	1	\$30.00	\$30.00
size tray				
Prepared Beans, 1/2	(From vendor)	1	\$30.00	\$30.00
size tray				
Beef Choice Angus	https://www.walmart.com/ip/seort/178881423	4	\$19.59	\$78.36
Flank Steak, 1.34 -				
2.28 lb Tray				

• App No. 59- **Graduate Organization for By of Latine Students**

- o Description: Food, drinks and nametags for networking event
- o *Reviewer's Notes*: Line items 1-3 are non-essential drinks. No supporting documentation for line items 5-8. As such, I recommend that SORF funds the application as amended (\$8.99)
- Event Description: This event is a cross-disciplinary networking event for multilingual GOLS members to practice professional linguistic skills. Professional headshots will be offered for interested graduate students
- o Funding type: Programs
- o Amount Requested: \$249.51
- o Amount Allocated: \$218.99

o Administrative Adjustment: \$8.99

o Administrative Rationale: Food is unrelated to purpose of event.

Item Name	Item Description	Qty	Cost	Cost Total
Great Value Purified	https://www.wal	1	\$5.36	\$5.36
Drinking Water, 16.9 fl oz	mart.com/ip/seor			
Bottles, 40 Count	t/992524020			
Sprite Lemon Lime Soda	https://www.wal	1	\$12.58	\$12.58
Pop, 12 fl oz, 24 Pack	mart.com/ip/seor			
Cans	t/10535226			
Coca-Cola Soda Pop, 12 fl	https://www.wal	1	\$12.58	\$12.58
oz, 24 Pack Cans	mart.com/ip/seor			
	t/10535216			
L LIKED 500 Stickers -	https://www.ama	1	\$8.99	\$8.99
Colors Plain Name Tag	zon.com/dp/B09V			
Labels (Blank - 500	46VYW4?starsLeft			
Labels)	=1&ref_=cm_sw_r			
	_cso_wa_apin_dp			
	_YVMMXHCDSPE			
	Q6VZRSWBG&th=			
	1			
Prepared Tortilla +	(From vendor)	1	\$120.00	\$120.00
Chicken Combo, tray				
Prepared Rice, 1/2 size	(From vendor)	1	\$30.00	\$30.00
tray				
Prepared Beans, 1/2 size	(From vendor)	1	\$30.00	\$30.00
tray				
Tortilla chips, tray	(From vendor)	1	\$30.00	\$30.00

App No. 61- Intercollegiate IllinoiSkating

- Description: Application requests lodging fee for skating competition and recurring space rentals of UIUC ice arena
- o Reviewer's Notes: Line item 2 does not have supporting documentations
- Connection to Mission: Being an active participant in figure skating competitions is the main purpose of the Intercollegiate IllinoiSkating. Thus, practice times are essential for readiness and success. Therefore, in order for the university to further excel and grow, the team requests funding to guarantee more opportunities to remain strong competitively through funding for on-ice team practice times, lodging, and transportation for regional competitions
- o Funding type: Services
- Amount Requested: \$1,642.90
- o Amount Allocated: \$1,542.90

Item Name	Item Description	Cost	Quantity	Total
	1Room for two			
	days (including tax			
	and additional			
3rd Skating Competition -	fees), \$308.58 is			
Hotels	1Room2Nights	\$308.58	5.00	\$1,542.90

	not including extra "Market Foods" (check receipt)			
	Weekly 1-hour			
	practices at the			
	UIUC Ice arena			
Ice Practice Rentals -	(March - 1			
March 7th	practice)	\$100.00	1	\$100.00

• App No. 64- Off-Road Illini Baja SAE

- o Description: Off-Road Illini Baja SAE is hosting a Baja SAE Drive Day where anyone who is there can drive their new car that they built. It is free and on campus for anyone
- o *Reviewer's Notes*: Line item 18 violates Program Standards: non-essential food. All other line items should be adjusted to match the supporting documentation
- o Event Description: This "drive day" is a similar to an event we hold every year in the fall, but it will be the first time holding it in the spring and at the school. We will be inviting current Off-Road Illini members, as well as anyone who wants to join, to come with use to the ABE test track. We are currently building a new off-road vehicle, which will be completed by the time this event occurs. On the day of the event, we will bring the newly finished car to the test track and allow each person who comes to drive the car for several minutes. They will be able to drive through several obstacles including cones, hills, and tight turns. We will be providing driver gear for each person, such as helmets, gloves, and goggles, to ensure their safety, as well as checking driver's licenses. We will also be grilling lunch for anyone who wants it. The purpose of this event is to get both members and non-members of the team excited about the car and give them their own opportunity to test it out. It will also be an opportunity to test drive our car before our first competition in May. We have emailed with Nick Fink and will be adding advertisements of this event on the second floor of the Union. We will also be posting in at our general meeting and on our social media pages closer to the date. Most of the items we are requesting are essential to finish manufacturing our vehicle before this event occurs. We are also requesting driver gear and a grill to make this day even more fun

Funding type: ProgramsAmount Requested: \$4,997.68Amount Allocated: \$4,919.68

Item Name	Item	Price	Quantity	Total
	Description			
Mighty Max Battery ml7-	This battery is	\$24.00	1	\$24.00
12 - 12 Volt 7.2 ah SLA	for our			
Battery Brand Product,	differential			
Black	and is needed			
	to complete			
	the car before			
	Drive Day.			
Polaris Ranger Taillight	We need this	\$54.00	1	\$54.00
Assembly, Genuine OEM	brake light to			
Part 2411450, Qty 1	add to the car			

	once we are done manufacturing it.			
Brake Light Switch	We need this brake light switch to help manufacture the brake light wiring for our car.	\$24.00	2	\$48.00
Ski-Doo Kill Switch	This kill switch is required to be put on our vehicle for safety reasons.	\$39.00	2	\$78.00
G-FORCE 4087Adubk Adult SFI 3.3 Arm Restraints - Black	These arm restraints are needed to strap in people when they drive the car.	\$49.20	1	\$49.20
High-Strength 2024 Aluminum Sheet - 0.02" Thick, 24" x 48"	This body panel material is needed to complete the car before Drive Day.	\$94.91	5	\$474.55
High-Strength 2024 Aluminum Sheet - 0.02" Thick, 18" x 18"	This hood material is needed to complete the car before Drive Day.	\$35.32	1	\$35.32
Fox Racing Men's Dirtpaw Motocross Glove - small, medium, and large	These gloves can be used by students when they are driving the car at Drive Day.	\$41.94	3	\$125.82
Fox Racing Unisex Adult V3 Revise Motocross Helmet (Navy/Orange) 31366-425 - small, medium, and large	These helmets can be used by students when they are driving the car at Drive Day.	\$480.00	3	\$1,440.00

	1			
Fox Racing VUE	These goggles	\$150.00	2	\$300.00
MOTOCROSS GOGGLE,	can be used by			
CORE FLUORESCENT	students when			
ORANGE	they are			
	driving the car			
	at Drive Day.			
Fox Racing Unisex-Adult	These tearoffs	\$48.00	3	\$144.00
VUE Laminated Tear Offs	are used to			,
- 14PK,Clear,One Size	prevent mud			
, ,	from getting in			
	the driver's			
	face when			
	they drive the			
	car.			
Rugged and Kenwood	This radio	\$30.00	2	\$60.00
Handheld Radio Jumper	jumper cable	730.00	_	Ç00.00
to Harness	will be used to			
to Harriess	communicate			
	with each			
	driver as they			
	driver as they			
Volero Mount Stooring		\$60.00	2	\$120.00
Velcro Mount Steering Wheel Push to Talk (PTT)	This steering wheel button	\$60.00	2	\$120.00
with Coil Cord for Car	allows the			
Harnesses	driver to			
Harriesses	communicate			
	through the			
	radio while			
	driving.			
OFFROAD Wired Helmet	This helmet	\$132.00	2	\$264.00
Kit with Alpha Audio	mic will be	\$132.00	2	\$204.00
Speakers Mic & 3.5mm	used to			
Earbud Jack				
Earbud Jack	communicate with each			
	driver as they			
Mitutovo E00 106 20	drive the car.	¢100 00	1	¢100 00
Mitutoyo 500-196-30 Advanced Onsite Sensor	This digital caliper aids in	\$198.00	1	\$198.00
	the			
(AOS) Absolute Scale				
Digital Caliper	manufacturing			
	process of the			
	car to ensure			
	it is done in			
	time for Drive			
DITTOURGUTALANA	Day.	624.50	4	634.50
PITTSBURGHTelescoping	This	\$21.59	1	\$21.59
Gauge Set, 6 Piece	telescoping			

	Ţ			
	gauge is used for machining purposes and will help us manufacture important parts of the car.			
Mitutoyo 293-345-30 Digimatic Micrometer, Range: 1"-2"/25.4-50.8 mm, IP65	This digital micrometer is used for machining purposes and will help us manufacture important parts of the car.	\$307.20	1	\$307.20
Walk A Bout Portable Red Charcoal Grill	This grill will be used to cook food for the guests at Drive Day:	\$78.00	1	\$78.00
AFCO 28200-1CR 8 Inch Extreme Chrome Coil- Over Spring, 200 Rate	These springs are important suspension members in order to complete the car before Drive Day.	\$81.60	4	\$326.40
AFCO 28225-1CR 8 Inch Extreme Chrome Coil- Over Spring, 225 Rate	These springs are important suspension members in order to complete the car before Drive Day.	\$96.00	4	\$384.00
Dual-Stage Spring Kit	These spring kits are needed for the springs in order to complete the car before Drive Day.	\$116.40	4	\$465.60

• App No. 65- Iranian Cultural Association

- Description: This RSO is requesting funding for an event to celebrate the Iranian New Year (Nowruz)
- Reviewer's Notes: Line item 2 violates Program Standards: non-essential food. There are
 10% non-Illinois attendees
- Event Description: Our event celebrates Nowruz, an important event for Iranians symbolizing the New Year and the arrival of spring. Nowruz holds deep cultural significance, signifying renewal, hope, and new beginnings in Iranian tradition. During our gathering, we'll have dinner and treats. Additionally, we'll enjoy music and performances reflecting Iran's rich cultural heritage. Through this celebration, we aim to foster solidarity and create a welcoming environment where everyone can join in the spirit of Nowruz

Funding type: Programs
 Amount Requested: \$4,423.80
 Amount Allocated: \$1,215.00

Item Name	Item Description	Cost	Quantity	Total
I Hotel- renting a	Based on the	\$1,350.00	1.00	\$1,350.00
conference room	unpaid contract			
for event				
Classic Dinner	Dinner for the	\$25.62	120	\$3,073.80
Buffet - University	event + 9% of tax			
Catering	base on the			
	website			

• App No. 69- Illini Ridgebacks Quadball Team

- Description: UIUC Quadball team is requesting funds to cover travel expenses and uniforms for tournaments
- Reviewer's Notes: Line items 1 and 3 total changed to reflect IRS mileage rate. All items meet standards
- Connection to Mission: The purpose of the Illini Ridgebacks Quadball Team is to develop the best possible skills of Quadball players at the University of Illinois Urbana Champaign. The most effective way of developing one's game is to compete against teams from other universities. At Marquette University and Bowling Green State University, we would compete against some of the best teams in the country and sharpen our knowledge of the sport. This would also prepare us for competing at the D1 level of Quadball, which we'll be playing in Austin later this semester

Funding type: Services

Amount Requested: \$2,250.00Amount Allocated: \$2,250.00

Item Name	Item Description	Cost	Quantity	Total
Gas to go to tournament	Gas to go to			
at Marquette Uni in	tournament at			
March	Marquette Uni in	100.5	10	\$1,000.00
	Uniforms for our			
	team-members to			
Jerseys and Shorts	represent UIUC	50	25	\$1,250.00

	Gas to go to			
Gas to go to tournament	tournament at			
at BGSU	BGSU	198.99	10	\$1,990.00

App No. 74- Illinois Ballet Company

- Description: Illinois Ballet Company is asking for funding for their ballet show, which is on campus and free for students to introduce students to classical ballet shows they would have otherwise not had the chance to do so as tickets would be expensive and the shows are not usually in Champaign, giving students the chance to see different ballet performances
- Reviewer's Notes: Application should be funded at 94% due to non-Illinois attendees. All items meet standards
- Event Description: IBC will be performing excerpts from classical ballets including Paquita, Giselle, as well as classical solo variations at Lincoln Hall Theater on the evening of March 26, 2024. With tech rehearsal on March 24 and Dress rehearsal on March 25th. We have booked these availability dates in the Lincoln Hall Theater calendar with Terry Dederich. In the show, we plan to have a guest performance by La Fuerza Flamenca, a fellow dance RSO run by our Treasurer Kaleigh (IBC is the main applicant for this grant and LFF will not be contributing funding for the event). We will provide free tickets in order to promote accessibility of classical ballet to the UIUC Community. We expect 200 to 300 audience members

Funding type: Programs
 Amount Requested: \$2,614.75
 Amount Allocated: \$2,363.87

Item Name	Item	Cost	Quantity	Total
	Description			
Rent		\$255.00	1	\$255.00
Sound Techs		\$100.00	1	\$100.00
Light Techs		\$100.00	1	\$100.00
Stage Manager		\$70.00	1	\$70.00
Lobby Staff		\$63.00	1	\$63.00
Monday March 25			1	\$-
Rent		\$255.00	1	\$255.00
Light/Sound Techs		\$93.75	1	\$93.75
Stage Manager		\$75.00	1	\$75.00
Lobby Staff		\$63.00	1	\$63.00
Tuesday March 26th			1	\$-
Rent		\$382.50	1	\$382.50
House, Sound, Music for light package		\$290.00	1	\$290.00

number 2, and spike tape			
Hazar Machine with Liquids and Patch Signal	\$150.00	1	\$150.00
Chairs	\$2.00	20	\$40.00
Light & Sound Tech	\$137.50	1	\$137.50
Stage Manager	\$110.00	1	\$110.00
Lobby Staff	\$180.00	1	\$180.00
Cleaning Fee	\$150.00	1	\$150.00
Advertising			
University Housing Digital Signs	\$30.00		\$30.00
Illini Union Digital Signs	\$30.00		\$30.00
Printed Colored Flyers	\$0.40	100	\$40.00

• App No. 78- Illini Film and Video

- Description: The Illini Video Film club is requesting funds for items and equipment deemed essential to their success. They are looking to get pieces and technological parts that proves relevant to their mission purpose
- o *Reviewer's Notes*: Line item 22 is a subscription fee which cannot be funded in accordance with SORF Standards.
- Connection to Mission: Our mission is all about fueling the passion for filmmaking among fellow students. We are committed to inclusivity, ensuring that talented students who may face barriers can express their passion for filmmaking and gain hands-on experience on a film set. This experience serves as valuable preparation for their potential future careers in film studios

Funding type: ServicesAmount Requested: \$4,796.46Amount Allocated: \$4,604.46

Item Name	Item Description	Cost	Quantity	Total
Blackmagic	For extra battery	\$255.00	1	\$255.00
Battery Pro Grip	charge			
Smallrig Camera	Adds protection	\$84.50	1	\$84.50
Cage for Battery	for camera			
Grip				
SanDisk 2TB	Storage for	\$109.99	1	\$109.99
Extreme Portable	Camera Footage			
SSD				

PANASONIC	Lens for Camera	\$227.98	1	\$227.98
LUMIX G VARIO				
LENS, 12-60MM				
Neewer 4-	Battery Charger	\$45.49	1	\$45.49
Channel NP-F	for Camera			
Battery Charger	Batteries			
Audio-Technica	Microphone to	\$699.00	1	\$699.00
AT4053B	record audio			•
Microphone				
Apeture Light	Used to soften	\$83.95	1	\$83.95
Dome SE	light	703.33	_	703.55
KE 110CCR-	Used to hold	\$294.90	1	\$294.90
Aluminum Boom		Ş25 4 .50	1	Ş2 34 .30
	microphone			
Pole		4		
Movo SMM1	To prevent	\$12.95	1	\$12.95
Microphone	unneccesary noise			
Shock Mount	when moving			
Aperture T4C LED	Light used to	\$329.00	1	\$329.00
Tube Light	create different			
	colors			
TASCAM 4-	Used to record	\$499.45	1	\$499.45
Channel Audio	audio			
Recorder W/				
Audio bag				
Duracell 28 Pack	For powering	\$23.13	1	\$23.13
of AA Batteries	equipment	Ŷ20.23	_	Ψ20.20
Smallrig SSD	Used to attach ssd	\$19.90	1	\$19.90
Holder	to camera	Ş13.30	1	Ş13.50
Aperture Video	Used to create	\$90.00	2	¢190.00
· •		\$90.00	۷	\$180.00
Light	light in darkly lit			
	areas	4075.00		4070.00
Amaran 200x Bi-	Used to create	\$276.00	1	\$276.00
Color LEDs	light in darkly lit			
	areas			
Watson NP-F770	Used to power	\$39.99	2	\$79.98
2 Battery Pack	equipment			
XLR Cable Kopul	For connecting	\$26.95	1	\$26.95
Studio Elite	audio gear			
Sennheiser MKE	For recording	\$329.95	1	\$329.95
600 Shotgun Mic	professional			
	indoor sound			
Rycote Super	Prevents wind for	\$375.00	1	\$375.00
Bimp Windshield	messing with	Ç3, 3.00		ψ373.00
Simp windstrict	audio			
Showmaven C-	For setting up	\$199.99	1	\$199.99
		5133.33	1	\$155.55
Stand 2 Pack	lights			

Manfrotto	Photography bag	\$55.31	1	\$55.31
Advanced	to carry lenses			
Messenger M III,				
Photography Bag				
Squarespace	To host our club	\$192.00	1	\$192.00
Website Annual	website			
Plan				

• App No. 79- **Design Build Fly**

- Description: The Design Build Fly club specializes in the development of radio controlled aircraft to compete. Their overall mission purpose is to compete and therefore, are requesting funds deemed relevant to the success of their mission.
- Reviewer's Notes: Based on their supporting documents and mission statement, I recommend SORF fund as amended due to projects material line items 1-5
- Connection to Mission: This funding request is to fund the equipment needs for the University of Illinois Urbana-Champaign Design Build Fly Competition team for the competition fly-offs in Wichita, KS in the month of April. This equipment and material are needed for a successful competition run
- Funding type: Services
- Amount Requested: \$1,969.26Amount Allocated: \$1,496.00

Item Name	Item Description	Total
24" Poplar Lite Ply	Build Material	174.5
1/8 x 12 x 24 - 5 ply Model Aircraft Grade Birch Plywood	Build Material	39.86
1/4 x 1/4 x 48 Basswood Stick	Build Material	46.5
3/32" x 6" x 36" Balsa Sheet	Build Material	174
1/4 x 1/4 x 48 Balsa Stick	Build Material	38.4
<u>Scorpion SII-4025-330KV90110 Glow Equivalent (8s) - (8-15lbs , 2700w)</u>	Propulsion	216
Pixhawk 6C	Flight Data	300
Pixhawk 6C Cable Set	Flight Data	30
iX14 14-Channel DSMX Transmitter	Transmitter	950

• App No. 90- **UIUC Habitat for Humanity**

- o *Description*: Food, drinks, single use serving items, space rental fees and digital signage cost for charitable event
- Reviewer's Notes: Application is requesting funding to host a broomball fundraiser. Line items 1-3 are food unrelated to the program. As this is a charitable event, I recommend that SORF funds the application as amended at 50% (\$205.99)
- Event Description: Broomball is one of our signature events in which teams or individuals can sign up to participate in a tournament that is essentially hockey without skates and with brooms. We do a double elimination tournament meaning each team will get to play at least twice before being eliminated or moving to the next round. It is a lot of fun and we normally have about 200-250 people sign up every semester. This year it is taking place at the ice arena on March 23rd from 10pm 1am

Funding type: Programs
 Amount Requested: \$616.10
 Amount Allocated: \$205.99

Administrative Adjustment: \$149.02

o Admistrative Rationale: Line items 4-6 are unnecessary for program.

Item Name	Item Description	Cost	Quantity	Total
	Food + Beverage,			
Costco Pizza	Costco	\$9.95	17	\$ 169.15
	Food + Beverage,			
Lemonade	Costco, 8.5 gallons	\$ 10.99	1	\$10.99
	Food + Beverage,			
	Costco, 54 chip			
Chips	bags	\$23.99	1	\$23.99
	Materials, Costco,			
Lysol Spray	3 ct	\$22.99	1	\$22.99
	Materials, Costco,			
Plastic Cups	240 ct	\$ 13.99	1	\$ 13.99
	Materials, Costco,			
Paper Plates	300 ct	\$19.99	1	\$ 19.99
Ice Arena Rental	Space Request	\$100/hour	3	\$300.00
Broomball Fee	Space Request	\$25.00	1	\$25.00
Digital Signage	Advertising	\$30/week	1 week	\$30.00

• App No. 91- WeXpress

- Description: WeXpress is requesting funding to host a picnic focusing on wellness for UIUC students that is free and on campus to encourage conversations about UIUC and overall wellness, enhancing knowledge about wellness
- Reviewer's Notes: Line item 1-6 violates Program Standards: non-essential food. Line item 7
 meets standards
- Event Description: WeXpress is excited to organize the Xpression Picnic, a campus-wide event designed to create a relaxed and inclusive space for all students. Scheduled towards the warmer end of the semester, the picnic offers a perfect opportunity to enjoy catered food, light refreshments, and the beautiful spring atmosphere. The Xpression Picnic also serves as a timely break before finals, allowing students to relax, enjoy the weather, and recharge. We believe that fostering a sense of community and providing opportunities for open conversations contribute positively to the overall campus experience

Funding type: ProgramsAmount Requested: \$356.00Amount Allocated: \$6.96

Administrative Adjustment: \$0.00

Administrative Rationale: All line items are food and therefore unnecessary to the program.

				, , ,
Item Name	Item Description	Cost	Quantity	Total
Jimmy John's 30	Box of 30 third	\$67.89	3.00	\$203.67
Piece Party Box	Sandwiches			
Cookie Variety	30-piece	\$37.99	2	\$75.98
Pack	assortment of			
	cookies			

Frito- Lay Bold-	50 count Frito lay	\$18.48	1	\$18.48
Mix Variety	chip mix			
Frito-Lay Big Grab	30 count Frito lay	\$18.48	1	\$18.48
Mix Variety Pack	chip mix			
Chips				
Pure Life Purified	40 count case of	\$4.98	1	\$4.98
Water	water			
CapriSun 100%	Capri sun variety	\$13.48	2	\$26.96
Juice	pack 40 pack			
Bounty Napkins	Bounty napkins	\$3.48	2	\$ 6.96

• App No. 92- Mongolian Cultural Organization

- Description: This RSO is requesting funding for ingredients and utensils to celebrate Mongolian New Year (Tsagaan Sar). It is free to students and on-campus
- o Reviewer's Notes: Line items 15-19 violate Program Standards: non-essential food
- Event Description: The Mongolian Cultural Organization is organizing an event to celebrate and bring in the Mongolian New Year (Tsagaan Sar). The event will be open to the general student body and traditional Mongolian cuisine such as Buuz, Tsuivan, Niislel salad, Boortsog (pastry), and Suutei Tsai (milk tea), as well as other refreshments will be served. On top of food, the event will include a short presentation lecture on the history and significance of Tsagaan Sar to contemporary Mongolians. The lecture will mostly cover the various customs and tales surrounding the traditional holiday

Funding type: Programs
 Amount Requested: \$143.00
 Amount Allocated: \$102.71

Item Name	Item Description	Cost	Quantity	Total
Flour 5lb	Used for Buuz,	\$5.24	2.00	\$10.48
	Tsuivan, and			
	Boortsog			
Minced Beef 2lb	Used for Buuz	\$12.97	2	\$25.94
Whole Beef	Used for Tsuivan	\$11.54	1	\$11.54
Onions 3lb	Used for Buuz and	\$2.94	1	\$2.94
	Tsuivan			
Potatoes 5lb	Used for Tsuivan	\$4.24	1	\$4.24
	and Niislel salad			
Carrots 2lb	Used for Tsuivan	\$1.96	1	\$1.96
	and Niislel salad			
Minced Garlic	Used for Buuz	\$4.98	1	\$4.98
Butter	Used for Tsuivan	\$3.98	1	\$3.98
	and Boortsog			
Sugar 4lb	Used for Boortsog	\$3.24	1	\$3.24
Pickles	Used for Niislel	\$4.66	1	\$4.66
	salad			
Mayo	Used for Niislel	\$5.98	1	\$5.98
	salad			
Peas	Used for Niislel	\$0.64	1	\$0.64
	salad			

Sausage	Used for Niislel salad	\$3.98	1	\$3.98
Milk 1gal	Used to make Suutei Tsai	\$2.52	1	\$2.52
Water 24pk	Refreshments	\$5.36	1	\$5.36
Sprite 24pk	Refreshments	\$12.58	1	\$12.58
Coke 12pk	Refreshments	\$7.26	1	\$7.26
Doritos	Snacks	\$4.93	1	\$4.93
Lay's	Snacks	\$4.98	1	\$4.98
Paper Plates		\$9.97	1	\$9.97
Plastic Utensils		\$3.94	1	\$3.94
Foam Cups	Used to drink Suutei Tsai	\$1.72	1	\$1.72

• App No. 93- **UIUC Habitat for Humanity**

- o *Description*: Food, dodgeballs, space rental fees and digital signage for advertisement for chartable sporting events
- Reviewer's Notes: Line items 1-3 are food unrelated to the program. Line items 4 and 5 should be applied for under services. Supporting documentation (mock-up) for line item 8 was provided during the review process. As this is a charitable event, I recommend that SORF funds the application as amended at 50% (\$103.00)
- o Event Description: We will be hosting a dodgeball tournament to raise funds for a student sponsored home for Habitat for Humanity. This will take place on March 24th from 7-9pm and will take place at the ARC in 8 racquetball tournaments. It will be a Round Robin Style tournament meaning each team meets every other team, usually in turn, and so everyone will get to play for the full tournament. We will be playing music, and it will be an overall fun, social, charitable, and collaborative tournament. We already have garnered a lot of interest with other RSOs and are projecting a turnout of 130 people, around 20 teams of 6-7

Funding type: Programs
 Amount Requested: \$307.71
 Amount Allocated: \$103.00

Item Name	Item Description	Cost	Quantity	Total
	Food + Beverage,			
Lemonade Mix	Costco	\$10.99	1 mix	\$10.99
	Food + Beverage,			
Fruit Snacks	Costco	\$15.99	90 pieces	\$15.99
	Food + Beverage,			
Frito Lay mix	Costco	\$23.99	54 pieces	\$23.99
Dodgeballs (24ct)	Materials	\$34.99	1	\$34.99
Dodgeballs (6ct)	Materials	\$15.75	1	\$15.75
Racquetball Rental (8				
courts)	Space Request	\$11/court/hour	8 courts, 2 hours	\$176.00
Digital Signage	Advertising	\$30/week	1 week	\$30.00

• App No. 97- Harmony Ballet

o *Description*: Advertisement printing cost for showcase

- Reviewer's Notes: Application is for cost of printing advertisements for a dance recital. 30% of attendees were estimated to be non-Illinois students. As such, I recommend that SORF funds the application at 70% (\$196 adjusted total)
- Event Description: During the Spring 2024 semester, Harmony Ballet will be holding a showcase to demonstrate the dance repertoire that the group has practiced over the 2023-2024 season. We will be performing Waltz of the Hours from the ballet Coppelia, along with solo and small group variations. This performance gives our members a chance to show their skills in performing arts for the UIUC community. This event is to take place on April 19th, 2024, and is planned to be held at Lincoln Hall Theater

Funding type: Programs
 Amount Requested: \$280.00
 Amount Allocated: \$196.00

Item Name	Item Description	Cost	Quantity	Total
	We plan to print			
	programs for the			
	showcase,			
	providing			
	information about			
	the event and			
	acting as an			
	advertisement.			
	Each program will			
	need two pages of			
	color printing to			
	encompass all			
	necessary			
	information. We			
	will need 350			
	programs, or 700			
	total pages			
Printed Programs	printed.	\$0.40	700.00	\$280.00

• App No. 99- Mongolian Cultural Organization

- Description: This RSO is requesting funding for ingredients and utensils for a Mongolian cooking class. It is free to students and on-campus
- o *Reviewer's Notes*: Supporting documentation does not match amount being requested. The funding amount should be amended to \$79.31
- Event Description: MCO will be hosting a cooking class to teach attendees how to make traditional Mongolian dishes, buuz and niislel salad. Buuz is a Mongolian dumpling, and niislel salad is a Mongolian version of a potato salad. These two dishes are core parts of Mongolian cuisine, and teaching others how to make these dishes will provide a foundation for how to cook Mongolian food. MCO will be reserving the ARC kitchen and providing all the ingredients and tips necessary to successfully cook the dishes. Attendees will be able to ask questions and follow along with the MCO executive board members teaching each step of the cooking process

Funding type: Programs
 Amount Requested: \$80.00
 Amount Allocated: \$79.31

Item Name	Item Description	Cost	Quantity	Total
Flour 5lb	Used for Buuz	\$5.24	2.00	\$10.48
Minced Beef 2lb	Used for Buuz	\$12.97	2	\$25.94
Onions 3lb	Used for Buuz	\$2.94	1	\$2.94
Potatoes 5lb	Used for Niislel salad	\$4.24	1	\$4.24
Minced Garlic	Used for Buuz	\$4.98	1	\$4.98
Pickles	Used for Niislel salad	\$4.66	1	\$4.66
Mayo	Used for Niislel salad	\$5.98	1	\$5.98
Peas	Used for Niislel salad	\$0.64	1	\$0.64
Sausage	Used for Niislel salad	\$3.98	1	\$3.98
Paper Plates		\$9.97	1	\$9.97
Plastic Utensils		\$3.94	1	\$3.94
Foam Cups	Used to drink Suutei Tsai	\$1.72	1	\$1.72
ARC Reservation Fee	Unknown	\$-	1	\$-

• App No. 103- **Robobrawl**

- Description: Requesting funds for parts and supplies to build/ host their fighting robots' competition
- Reviewer's Notes: Lines 3-7 seem indirect to the success of their event. Maybe if it was applied as a service, but overall program of this event is not necessary. Specifically line 5 (banner), but we cannot fund without approving the design of it. They listed 90 people as non-Illinois attendees, but overall attendance of Illinois students is unsure. Due to these inconsistencies, I recommend SORF funds as amended
- Event Description: Robobrawl is 30 lbs and 1 lbs combat robotics competition, ran an organized by the Robobrawl Committee RSO. It is a 2-day event that takes place during Engineering Open House, where 64 competitors; from UIUC, other universities, and hobbyists, gather to fight robots. The RSO Robobrawl Committee is responsible organizing the event and its competitors, building and maintaining both the 30 lbs arena and the 1lbs arena, ensuring that the spectators and competitors are safe at all times, and managing a livestream to be shown around campus during and after the event
- Funding type: Programs
- o Amount Requested: \$4,196.67
- o Amount Allocated: \$330.12

Item Name	Item Description	Cost	Quantity	Total
Wrist Bands	Wristband.com	Wrist bands	1	\$150.00
		Used to weigh in		
		robots for check		
		in to make sure		
Scale	Amazon	they're within	1	\$38.99

		weight for		
		competition		
		Used for filming		
		and live streaming		
Go Pro Hero 9	Amazon	the event	2	\$208.97
		Robobrawl		
Banner	Deans-Graphics	Banner	1	\$200.00
		Used for filming		
		and live streaming		
Go Pro Media Mod	Amazon	the event	2	\$79.29
		Used for filming		
		and live streaming		
Go Pro Goose Neck	gopro.com	the event	4	\$19.99
		1/4in x 4ft x 8ft		
		polycarbanate		
		panels for making		
		necessary repairs		
		to the interior		
Polycarbonate	Shapes Plastics	arena wall	16	\$196.95

• App No. 105- WeXpress UIUC

- o Description: Asking for food and painting supplies in line with event
- o Reviewer's Notes: Fund all except food (line items 1-6, and 14)
- Event Description: WeXpress is excited to present "Sip and Paint," an event designed to
 create a serene and calming space for students to express themselves through art while
 enjoying tasty beverages such as juice, coffee, iced tea, and light refreshments. Engaging in
 drawing and painting not only fosters creativity but also offers therapeutic benefits for the
 mind. The act of artistic expression has been shown to reduce stress, promote relaxation,
 and enhance overall mental well-being

Funding type: Programs
 Amount Requested: \$298.00
 Amount Allocated: \$213.50

Item Name	Item Description	Cost	Quantity	Total
	Vanilla Chai tea 52			
Bolthouse Farms Chai tea	OZ	\$6.89	1.00	\$6.89
Tazo Classic Chai latte	Chai latte 32 oz	\$5.19	1	\$ 5.19
Starbucks Iced Expresso	Caramel			
Caramel Macchiato	Macchiato 40 oz	\$5.98	1	\$5.98
International Delight	Mocha iced tea 64			
Mocha Iced coffee	OZ	\$18.48	1	\$18.48
	40 count case of			
Pure Life Purified Water	water	\$4.98	1	\$4.98
Pure Leaf Sweet Tea Iced				
tea	Iced tea 59oz	\$2.59	1	\$2.59
Two Bite Brownies Mini	Mini Brownie			
Brownie	Bites	\$9.92	2	\$19.84

Tosnail 6 pack 8x10	Easel and Cavnvas			
Canvas	Set	\$24.99	5	\$124.95
	Pain Brush set 40			
20-piece paint brush Set	counts	\$9.99	1	\$9.99
Apple Barrel Acrylic Paint				
Set	Paint set	\$16.99	2	\$33.98
	White Acrylic			
Apple Barrel Acrylic Paint	Paint 8oz	\$2.97	2	\$5.94
	12 count Large			
EORTA set of Paint	Canvas Paint			
Brushes	Brushes	\$11.69	1	\$11.69
100 count 12 oz coffee				
cups	Coffee cups paper	\$12.99	1	\$12.99
Members Mark Assorted				
Cookie Tray	Cookie Tray	\$19.98	1	\$19.98
Bounty Essentials Paper				
Towels	Paper Towel	\$3.99	1	\$3.99
Bounty Paper Napkins	Napkins	\$4.98	1	\$4.98
Hygloss products Paper	Paper plates 100			
Plates	count	\$4.99	1	\$4.99

• App No. 106- International Water Resources Association

- Description: This RSO is requesting funding for an open house event on campus. They are requesting food, beverages, attire, and paint
- o *Reviewer's Notes*: Line items 1-3 violate Program Standards: non-essential food. Line item 4 is not fundable under the Programs category. There are 90% non-Illinois attendees
- Event Description: The Engineering Open House (or EOH) is a university-wide on-campus event that will run from April 5 April 6 this year and draws over 35,000 attendees. The event includes 200+ student run engineering exhibits from across various departments. The International Water Resources Association coordinates this event for the Water Resources Engineering and Science (WRES) section of the Civil and Environmental Engineering department and is requesting funding for building an exciting new exhibit for visitors, food for the volunteer exhibitors, and University-assigned exhibitor t-shirts

Funding type: Programs
 Amount Requested: \$721.30
 Amount Allocated: \$1.70

Event	Item	Purpose	Cost of Item(\$)	Quantity	Estimated
					Cost
Engineering Open	Food Pizza	Fuelfor Volunteer	17	20	\$340.00
House (EOH)		Exhibitors			
EOH	Chips	Fuel for Volunteer	5.79	4	\$23.16
		Exhibitors			
EOH	Beverages	Fuel for Volunteer	2.69	6	\$16.14
		Exhibitors			
EOH	Exhibitor Attire (T-	Uniforms	5	65	\$ 325.00
	Shirts)				
EOH	Rustolium Paint	For Creating the	17	1	\$17.00
		Exhibit			

• App No. 110- International Water Resources Association

- Description: This RSO is requesting funding to host a Science Night at an elementary school.
 They are requesting materials for this, including soil and sand
- o *Reviewer's Notes*: Prices on budget sheet do not match links provided. There are 97% non-Illinois attendees
- Event Description: During this event, a number of local STEM students and professionals gather at Urbana's Leal Elementary School to share their passion for their respective fields with local students and their parents at the school's annual Science Night. This event description is adapted from a description of the same event found here: http://www.istem.illinois.edu/news/leal.science.night.html. Graduate students from the Water Resources Engineering and Science group of the Civil and Engineering department will be hosting this exhibit at Leal Elementary

Funding type: Programs
 Amount Requested: \$183.00
 Amount Allocated: \$44.38

Event	Item	Cost of Item (\$)	Quantity	Cost
Leal Elementary Volunteer Exhibit	soil	14	2	\$27.00
Leal Elementary Volunteer Exhibit	sand	30	1	\$30.00
Leal Elementary Volunteer Exhibit	filters	25	1	\$25.00
Leal Elementary Volunteer Exhibit	tubes (6-pack)	16	1	\$16.00
Leal Elementary Volunteer Exhibit	activated charcoal	22	1	\$22.00
Leal Elementary Volunteer Exhibit	water filter	19	1	\$19.00
Leal Elementary Volunteer Exhibit	rocks (10 lbs bag)	22	2	\$44.00

App No. 112- Mu Epsilon Delta

- o Description: Asking for study prep materials and room reservation
- Reviewer's Notes: Study prep cannot "serve whole campus", in personal benefit for those students, can fund room reservation line item 1
- Connection to Mission: All of the requested post-grad testing supplies will not only further
 the development of scholarship, but brotherhood as well. The definition of scholarship is as
 follows: "academic study or achievement; learning of a high level." Providing our members
 with these supplies and study sessions will greatly increase their level of higher learning,
 therefore paving their way toward the tremendous academic achievement of being
 accepted into their post-grad programs
- Funding type: Services
- o Amount Requested: \$4,946.20
- o Amount Allocated: \$2,400.00

Item Name	Item Description	Cost	Quantity	Total
	3031 will be used			
Room 3031 CIF	as a location for	\$150.00	16.00	\$2,400.00

	our spring class's			
	2-hour long study			
	hours			
	Dental entrance			
DAT prep book	exam prep book	\$ 32.13	10	\$321.30
	Physician's			
	assistant prep			
GRE Prep book	book	\$37.49	25	\$937.25
	Optometry prep			
OAT Prep book	book	\$44.99	5	\$224.95
	Medical school			
MCAT prep book	prep book	\$ 53.15	20	\$ 1,063.00

• App No. 113- American Institute of Aeronautics and Astronautics

 Description: American Institute of Aeronautics and Astronautics are requesting funds for building blended wing body aircraft

o Reviewer's Notes: Program, line items 7-9 are service

 Event Description: Technical project building a blended wing body aircraft with an experimental thruster design

Funding type: Programs
 Amount Requested: \$507.87
 Amount Allocated: \$405.90

Item Name	Item Description	Cost	Quantity	Total
	DIY frictionless			
	suspension			
Balancing Cradle	balancing cradle	\$250.00	1	\$250.00
	Compressed air			
Compressed Air	<u>duster</u>	\$36.94	1	\$36.94
32-Bit 60A 2-6S Brushless	Electronic speed			
ESC for RC Airplane	controller	\$23.99	1	\$23.99
AxisFlying AF 3010				
Cinematic Motor -				
1010KV/1210KV	Motor	\$29.99	1	\$29.99
CNHL Black Series 100C				
6S LiPo Battery -				
1500mAh	<u>Lipo Battery</u>	\$31.99	1	\$31.99
TBS Crossfire 6CH PWM				
Nano Rx	Receiver	\$32.99	1	\$32.99
	<u>Air pressure</u>			
Manometer	<u>meter</u>	\$41.99	1	\$41.99
	<u>Multimeter to</u>			
Ammeter	<u>measure voltage</u>	\$ 17.99	1	\$17.99
	Speed Meter			
	Gauge Measuring			
Anameter	<u>Air Velocity</u>	\$41.99	1	\$41.99

• App No. 121- Illini Medical Screening Society

- Description: Illini Medical Screening Society is asking for funding for medical equipment to meet their mission statement by allowing students to get free checks at fairs and by helping low-income and uninsured citizens in the Champaign-Urbana community
- o *Reviewer's Notes*: Line item 7 lacks documentation. Items 1-6 and 8-18 meet standards, bringing the total requested amount to \$4036.30
- Connection to Mission: The mission of IMSS is to prevent diseases through medical screenings for the low-income and uninsured citizens in Champaign County. Our requested items are used for medical screenings like blood pressure cuffs and glucose strips to ensure that the medical screening results are the most accurate and provide the best treatment from the provider
- Funding type: Services
- Amount Requested: \$5,000.00Amount Allocated: \$4,040.30
- o Administrative Adjustment: \$3,314.75
- o *Administrative Rationale:* Lancets, Capillary Tubes, and Sharps Container were deemed highrisk items not appropriate to provide to non-medical professionals.

TISK ICCITIS I	iot appropriate to pr	oriae to mon meane	ai proressionaisi		
Item Name	Item Description		Cost	Quantity	Total
CardioRisk Panel					
TOTAL+HDL+GLU Cardio	The strips can				
Chek Test Strips (15 strips);	measure Total,				
PTS Panels #2412 for	HDL, and glucose				
Cholesterol	levels of patients		\$175.00	2.00	\$350.00
PTS Panels #1710 Lipid	The strips can				
Panel Test Strips (15/box)	measure Total,				
for CardioChek PA	HDL, and glucose				
Cholesterol Analyzer	levels of patients		\$175.00	2	\$350.00
	The device				
	analyzes the test				
	strips to show the				
	level of Total,				
Polymer Technology	HDL, and glucose				
Systems Analyzer	levels for the				
Cardiochek Pa Ea - Model	provider to				
1708	analyze		\$885.00	1	\$885.00
	Gloves are				
	important to				
	ensuring that no				
	biohazardous				
MedPride Powder-Free	waste rubs off on				
Nitrile Exam Gloves, Iris	the screening				
Blue, Medium, Box/100	student's hands		\$9.99	8	\$79.92
	Gloves are				
MedPride Powder-Free	important to				
Nitrile Exam Gloves, Small,	ensuring that no				
Case/1000 (100 Count (Pack	biohazardous				
of 10))	waste rubs off on		\$68.30	1	\$68.30

				1
	the screening student's hands			
	The sharps			
	container houses			
Oakridge Products Large	biohazardous			
Sharps Container for Home	sharps like			
Use and Professional 1	capillarie tubes,			
Gallon (2-Pack), Biohazard	lancets, and			
Needle and Syringe	napkins with			
Disposal, Pop Up Lid, CDC	bodily fluids from			
Certified	the screenings	\$19.25	3	\$57.75
	Scrubs are			
	important in			
	ensuring no			
	bodily fluid rubs			
Sivvan Unisex Scrubs	off on the			
Classic V Neck Top &	screening			
Drawstring Pants Scrub Set	student.	\$31.99	30	\$959.70
	Capillary tubes			
	are used to store			
	blood and			
	transfer to the			
Medicore Medical Supply	cholesterol strips			
1015 50 MicroSafe Capillary	to measure levels			
Tube, Pack of 50	of glucose	\$10.99	20	\$219.80
	Hand sanitizing	7 - 0.00		7======
	wipes are			
	essential for			
	maintaining a			
	clean and safe			
DUDELL Hand Capitizing				
PURELL Hand Sanitizing	environment.			
Wipes Alcohol Formula,	They are			
Fragrance Free, 175 Count	important in			
Hand Sanitizing Wipes	removing any			
Canisters (Pack of 6) - 9031-	waste from the	4000-	_	4.55
06	table.	\$39.99	5	\$199.95
	Hand sanitizer is			
	essential for			
	making sure the			
	screening student			
	and the patient is			
	safe by			
	preventing other			
Amazon Basic Care - Aloe	bodily fluid from			
Vera Hand Sanitizer 62%, 12	contaminating to			
Fluid Ounce (Pack of 6)	another person.	\$16.70	5	\$83.50
. Idia Gariee (Facil of O)	andther person.	γ±0.70	, -	700.00

Dealmed Sterile Gauze Pads	Gauze pads are			
– 100 Count, 3" x 3" Gauze	essential to wipe			
Pads, Disposable and	away blood after			
Individually Wrapped	the blood comes			
Medical Gauze Pads,	out of the finger			
Wound Care Product for	for the glucose			
First Aid Kit and Medical	test			
Facilities	measurement.	\$9.99	35	\$349.65
	Alcohol wipes are	•		
Care Touch Alcohol Wipes	important in			
Individually Wrapped - Prep	ensuring that the			
Pads with 70% Isopropyl	finger is fully			
Alcohol, Great for Home,	sanitized before			
Medical & First Aid Kits	poking and			
Sterilized, Antiseptic 2-Ply	measuring the			
Swabs 400 Count	blood.	\$8.99	30	\$269.70
3W403 400 COUIT	Bandages are	70.55	30	7203.70
	important to put			
	on the patient			
	after their finger			
	is poked and			
	blood is released			
	to ensure that the			
Band-Aid Brand Flexible	point poked does			
	not become			
Fabric Adhesive Bandages for Wound Care & First Aid,	infected by			
Assorted Sizes, 100 ct	outside factors.	\$8.44	30	\$253.20
OneTouch Delica Plus	outside lactors.	70.44	30	7233.20
Lancets for Diabetes Testing	Lancets are			
Fine 30 Gauge Lancets for	important for			
Blood Test Diabetic	poking the finger			
Supplies for Blood Sugar	to allow the blood			
Monitor Lancets for	to flow out into			
<u>'</u>	the capillary tube.	\$22.40	20	\$448.00
Lancing Device, 180 Count	' '	322.4U	20	3448.UU
	Paper towels are			
	essential for			
	maintaining a			
	clean and safe			
	environment.			
	They are			
B	important in			
Bounty Quick-Size Paper	removing any			
Towels, White, 16 Family	waste from the	444.00		4400.55
Rolls = 40 Regular Rolls	table.	\$41.32	3	\$123.96
Superio 1.25 Gal Mini	The plastic trash			
Plastic Trash Can with Swing	can is important	440.00		444.0-
Top Lid Small Waste Bin for	for housing used	\$13.99	3	\$41.97

Countertop, Desk, Vanity,	gauze and alcohol			
Bathroom 5 Quart	pads, which keeps			
(Beige/Brown)	the environment			
	for the screen			
	safe and sanitary.			
	The blood			
	pressure set is			
	important for			
	measuring the			
	systolic and			
	diastolic beats for			
Dixie EMS Deluxe Aneroid	the provider to			
Sphygmomanometer Blood	analyze and			
Pressure Set W/Adult Cuff,	assess for			
Carrying Case and	hypertension or			
Calibration Tool - Black	hypotension.	\$16.95	5	\$84.75
	The blood			
	pressure set is			
	important for			
	measuring the			
	systolic and			
	diastolic beats for			
	the provider to			
	analyze and			
	assess for			
Omron Upper Arm Blood	hypertension or			
Pressure Monitor, 3 Series	hypotension.	\$34.97	5	\$174.85

- O App No. 124- Outdoor Adventure Club
- o Description: Outdoor Adventure Club is asking for materials to be used while outdoors
- o Reviewer's Notes: Line items 6 and 7 are not fundable by SORF Standards
- Connection to Mission: Our (Outdoor Adventure Club's) primary mission is to make outdoor experiences safe and accessible to students at the University of Illinois and beyond while abiding by Leave No Trace, teaching, and practicing outdoor stewardship to all members. All items requested-with the exception of the Shelving and Hanger Hooks which are to maintain the life of other club gear-aid in our mission, allowing us to cultivate a safe climate and allow U of I students to experience the beautiful nature of the US. Included in these requested items are Bear Spray, Bear Canisters, First Aid Kits, Water Treatment Chemicals, Headlamps, and Garmin inReach Devices
- Funding type: Services

o Amount Requested: \$3,301.04

o Amount Allocated: \$2,842.48

Item Name	Item Description	Cost	Quantity	Total
Amazon Basics	Hanger Rack to be	64.93	2	\$129.86
Adjustable,	used for hanging			
Double Hanging	storage of club			
Rod Garment	owned backpacks.			
Rolling Closet				

Organizer Rack, Black, 36" x 14" x 72"				
Hyper Tough Large 5-Tier Shelving Unit, W36 x D18 x H74" Interlocking Multipurpose Organizer, Black	Shelving Unit to be used for storage of sleeping bags and other gear.	54.38	2	\$108.76
SABRE Frontiersman 7.9 oz. Bear Spray, Maximum Strength 2.0% Major Capsaicinoids, Powerful 30 ft. Range Bear Deterrent, Outdoor Camping & Hiking Protection, Quick Draw Holster & Multipack Options	Bear Spray to be used for trips into wilderness that bears inhabit. Bear Spray is a non-lethal deterrent designed to stop aggressive behavior in bears. Carrying bear spray is a necessity for any trip that has potential to run into bears.	37.53	6	\$225.18
BearVault BV500 Journey Bear Canister	Bear Canisters to be used for trips into wilderness that bears inhabit. Bear Canisters are used to keep food and scented items (toiletres and trash) secure from bears, raccoons, rodents and other critters that are powerfully attracted to human food. Proper use of Bear Canisters is necessary for many backpacking and camping trips and highly	100.88	8	\$807.04

	encouraged for others.			
Aquamira Water Treatment - 1 oz.	Chemical Water Treatment Solution to be used for water purification on backpacking trips. Main active ingredient is Chlorine dioxide. Each bottle can treat up to 30 gallons of water.	15.88	8	\$127.04
HART Outdoor Extended First-Aid Kit	Extensive outdoor oriented first aid kid to be brought on break and other multi-day trips . Set up to provide the typical needs of up to 6 people on long backpacking trips, keeping everything visible and organized with clear compartments.	70.07	4	\$280.28
HART Outdoor Multiday First-Aid Kit	Medium-sized outdoor oriented first aid kid to be brought on overnight trips and dayhikes. Set up to provide the typical needs of up to 4 people for backpacking trips of up to 5 days, keeping everything visible and organized with clear compartments.	44.57	4	\$ 178.28

			_ 1	4
Garmin inReach	Garmin inReach	425	3	\$1,275.00
Mini 2	Mini 2 is a device			
	with capabilities			
	that include the			
	ability to stay in			
	touch globally			
	with 2-way			
	communication,			
	tracking and			
	interactive SOS			
	capabilities,			
	allowing retention			
	of full			
	communication			
	even without any			
	working			
	cellphones. We			
	want to be able to			
	bring an inReach			
	on every			
	backpacking or			
	overnight			
	backcountry			
	camping trip, just			
	in case of			
	emergencies. The			
	Garmin inReach			
	Mini 2 also has			
	GPS functions			
	that can be used			
	to ensure you do			
	not stray off trail			
	or off route.			
Black Diamond	Headlamps to be	\$21.20	8	\$169.60
Astro 300	used for			
Headlamp	illumination after			
	sunset on trips			
	(primarily around			
	campsites). Max			
	output of 300			
	lumens.			

• App No. 125- Illini VEX Robotics

- o Description: VEX Robotics is asking for chairs, SD cards, and a 3D printer
- o Reviewer's Notes: Line items 4, 5, and 6 are not essential to the organization
- Event Description: In summary, our mission is to promote STEM through VEX, involving Research & Design Projects, Software Development Tools, and participation in the VEX U Competition at the international level. The requested tools and items are essential for VEX

robotics competition compliance, while others aim to enhance our workspace and provide necessary equipment for our members to develop their diverse projects

o Funding type: Services

Amount Requested: \$1,121.38 Amount Allocated: \$747.15

O Amount	Item Description	Cost	Quantity	Total
Bambu Lab A1	3D printer that	\$399.00	1.00	\$399.00
Dallibu Lab A1	will be used to	\$399.00	1.00	\$399.00
	manufacture			
	plastic parts for			
	the RSO.			
Stalwart 15 Bin	These will be used	\$39.99	2	\$79.98
Organizer	to store and	\$33.33	2	\$79.90
Organizer				
	organize hardware and			
	parts for the RSO.			
LICD C /mada) to	•	¢4.40	3	¢12.47
USB C (male) to	Cables needed to transfer data from	\$4.49	3	\$13.47
micro USB (male)				
	many robotics			
	components			
	which RSO can			
	use for multiple			
0 1: 1 !!	uses	400.00		4000.04
Cushioned rolly	These items will	\$39.99	6	\$239.94
chair w/ backrest	improve our			
	workspace by			
	adding additional			
	seating capacity			
	so more members			
	can work			
	together.			
48-inch table	These items will	\$49.99	1	\$49.99
	improve our			
	workspace by			
	adding additional			
	seating capacity			
	so more members			
	can work			
	together.			
Folding chair 4	These items will	\$84.30	1	\$84.30
pack	improve our			
	workspace by			
	adding additional			
	seating capacity			
	so more members			
	can work			
	together.			

3 pack USB C male to USB A female adapter	Cables needed to transfer data from many robotics components which RSO can use for multiple uses	\$9.99	1	\$9.99
10 pack 16 GB micro SD cards	Storage needed to transfer data from many robotics components which RSO can use for multiple uses	\$33.99	1	\$33.99
720p Logitech webcam	This camera is needed to remotley monitor our 3D printers to make sure our equipment is safe and our printer does not fail when it not being monitored in person	\$22.76	1	\$22.76
V5 Motor	These motors are required by VEX Robotics to power all our robot which we use to compete in the VEX Robotics Competition.	\$46.99	4	\$187.96

App No. 126- iRobotics

- o *Description*: iRobotics is asking for parts and tools to complete their robots
- o Reviewer's Notes: Line items 1-5, 7, 10, 20, and 23 should be a Programs application as they are Project materials
- o @Connection to Mission: These parts and tools will allow us to complete several of our robots across the different teams that comprise iRobotics and allow the students to gain practical experience in constructing the robots that they have designed. Being able to physically construct, test, and operate these robots is one of the best ways to build and reinforce the robotics education our program provides.
- o Funding type: Services o Amount Requested: \$715.42
- o Amount Allocated: \$\$304.94

Item Name Item Description	Cost	Quantity	Total
----------------------------	------	----------	-------

Flight Controller	SpeedyBee F405	\$71.99	1	\$71.99
Motors	T-Motor VELOX V2812	\$25.99	4	\$103.96
Counterclockwise Propellors	HQProp MacroQuad 8X4.5X3 Propeller (CCW)	\$3.99	2	\$7.98
Clockwise Propellors	HQProp MacroQuad 8X4.5X3 Propeller (CW)	\$3.99	2	\$7.98
6S Battery	Turnigy Heavy Duty 5200mAh 6S 60C LiPo Battery	\$64.80	1	\$ 64.80
Wheel Hubs	T81 Hub, 1/4in Shaft	\$4.50	4	\$18.00
Wheels	BaneBots Wheel, 2" x 0.8", Hub Mount, 60A	\$3.25	4	\$ 13.00
Metal Miter Bevel Gears	PGFUN 2 Pcs 1.5M 20 Teeth	\$13.99	1	\$13.99
Carbon Fiber Tubes	4pcs Carbon Fiber Tube	\$24.95	1	\$24.95
Gear Stock	Spur Gear Stock	\$30.25	1	\$30.25
Voltage Regulator	Pololu 3.3V Step- Up/Step-Down Voltage Regulator	\$7.95	1	\$7.95
Proximity Sensor	Adafruit VCNL4040 Proximity and Lux Sensor	\$5.95	5	\$29.75
3S Battery	GAONENG 300mAh HV LiPo Battery 3S 80C/160C	\$24.59	1	\$24.59
Quad Mux	Adafruit PCA9546 4-Channel I2C Multiplexer	\$3.95	1	\$3.95
Stemma QT Connector	JST SH 4-pin Right Angle Connector	\$3.95	1	\$3.95
JST SH Connector	6-Pin Female- Female JST SH- Style Cable 16cm	\$2.20	8	\$17.60
XT30 plug connector	XT30 Plug Male Female Connector	\$9.99	1	\$9.99

3S1P Battery Pack	3S1P 75C 11.1V 650mAh Lipo Battery Pack	\$26.99	1	\$26.99
AA Batteries	Amazon Basics 48-Pack AA Alkaline High- Performance Batteries	\$15.25	1	\$15.25
TPU Filament	DURAMIC 3D TPU Filament 1.75mm Black	\$21.84	3	\$65.52
Soldering Station	YIHUA 939D+ Digital Soldering Station	\$53.99	1	\$53.99
ESP32 Board	ProS3 ESP32-S3 with u.FL	\$25.00	1	\$25.00
Retroreflective Tape	High Gain Reflective Tape (10ft roll)	\$45.00	1	\$45.00
Yellow PLA Filament	Micro Center Inland Tough PLA Filament 1.75mm	\$28.99	1	\$28.99

App No. 145- Society of Women Engineers

- Description: Asking for items to be reused throughout semester, asking for subscription
- o Reviewer's Notes: Fund line items 1,2. Do not fund 3 as it is a subscription.
- Connection to Mission: Wagon: Our programs frequently service hundreds of individuals and the quantity of supplies necessary for each program quickly becomes a dangerous weight for an individual not used to carrying heavy supplies. While we practice safe lifting procedures, a wagon would help dramatically in bringing hot trays of food, supplies for community service, and other supplies necessary for the programs that we host. Trash grabbers: As part of our mission to advocate for mentoring relationships and advocate for the future pursuit of engineering, we are visible on campus and give back via the adopt-a-street program. We require trash grabbers to keep our members safe while picking up trash and beautifying the Champaign-Urbana community. Mailchimp subscription: In order to develop a diverse network of women in engineering, we need to be able to communicate with our email list. We have almost 5,000 individuals on our email list, which exceeds the free subscriptions for all mail merge services. Mailchimp allows us to email our entire base monthly, developing a diverse network by providing a consistent and accessible way to access registrations, hear about upcoming events, and foster a sense of community
- Funding type: Services

Amount Requested: \$373.87

o Amount Allocated: \$148.87

Item Name	Item Description	Cost	Quantity	Total
	A wagon to			
	prevent back			
Wagon	strains while	\$83.48	1	\$83.48

	carrying equipment and/or food necessary for			
	programming			
	Utensils to pick up			
	trash safely while			
	adopting-a-street			
Trash Grabbers	(pack of 8)	\$65.39	1	\$65.39
	Reach the 5,000			
	members of our			
	email mailing list			
	with this			
	mailmerge service			
	for 3 months			
	(March, April,			
MailChimp Subscription	May)	\$75.00	3	\$225.00

App No. 148- National Arab American Medical Association NextGen at UIUC

- Description: National Arab American Medical Association NextGen at UIUC is requesting for funding to host a Sudan awareness event
- o Reviewer's Notes: Charging UIUC students, fund at 75%. Also, 5% non-UIUC attendees
- Event Description: NAAMA is planning on hosting a ticketed dinner gala in the Union Ballroom. We are planning on having some speakers from UIUC speak at the gala to inform the attendees about how the medical crises and conflict are ongoing in Sudan and the psychological effects it is having on the Sudanese population to raise awareness. We are also planning on having some student performance groups as entertainment
- Funding type: Programs
 Amount Requested: \$4,750.40
 Amount Allocated: \$3,384.66

Item Name	Item Description	Cost	Quantity	Total
	World Cuisine			
	Buffet, Arab			
	options from			
Union Catering	Union	\$23.00	200.00	\$4,600.00
	Projector, screen,			
	mics, lectern			
Ballroom Presentation	presentation			
Package	remote	\$122.40	1	\$122.40
	Required per			
Multimedia technician	Union policy	\$14.00	2	\$28.00

• App No. 151- Society of Women Engineers

- o Description: Asking for food and kits for event
- o Reviewer's Notes: Only fun line item 2 at 25% non-Illinois
- Event Description: Collegians and high school students will work together to design, build, and test a project. Over lunch, students will foster community, as breaking bread with those around you helps to tear down walls and create a more casual environment for all to share

their experiences in engineering. Then, teams will be presented with a design problem, supplies, and a set amount of time to design and build their prototype. Wind power is at the height of the renewable energy sector and includes sections of electrical, mechanical, aeronautical, and chemical engineering, which makes it an incredibly intersectional project. At the end, the experiments will be tested, and the scientific method will be discussed.

This event will be hosted by the Outreach committee to interest high schoolers in engineering while providing valuable leadership, outreach, and volunteer experience for collegians in attendance. Both collegians and high school students will learn teamwork, build up the self-esteem and confidence of women in engineering, and make engineering as a concept feel less daunting and more of a community for all

Funding type: Programs
 Amount Requested: \$922.12
 Amount Allocated: \$328.73

Item Name	Item Description	Cost	Quantity	Total
		\$18.08 per pizza +		
Food (Pizza)	Cheese Pizza	tax	24	\$483.82
	Kit to build a wind			
	turbine and			
	power a model	\$26.99 per kit +		
Wind kits	car	tax	15	\$438

• App No. 152- Association of Food Technologists

- Description: Culinary organization is requesting funds to host an event about the science of eggs
- Reviewer's Notes: All items meet standards. Fund at 75% based on 25% non-UIUC attendance
- Event Description: The Association of Food Technologists will host an event catered towards
 the science of eggs. Those who attended this event will learn about the properties of eggs
 and the science behind preparing eggs. Attendees will then have the opportunity to apply
 what they've learned by making a few dishes containing eggs

Funding type: Programs
 Amount Requested: \$50.00
 Amount Allocated: \$37.50

Item Name	Item Description	Cost	Quantity	Total
	Main material for			
Eggs	cooking event	\$1.79	6.00	\$10.74
	Additions for egg			
Tomatoes	event	\$2.59	2	\$5.18
	Additions for egg			
Jalapenos	event	\$1.39	1	\$1.39
	Additions for egg			
Yellow Onions	event	\$3.19	1	\$3.19
	Additions for egg			
Spinach	event	\$2.19	1	\$2.19
	Additions for egg			
Cheddar Cheese(2)	event	\$2.29	2	\$4.58

	Ingredient needed			
Milk	for egg baking	\$1.49	1	\$1.49
	Additions for egg			
Green onions (2)	event	\$0.99	2	\$1.98
	Ingredient needed			
<u>butter</u>	for egg baking	<u>\$3.99</u>	1	\$3.99
	Ingredient needed			
Vanilla extract	for egg baking	6.29	1	\$6.29
	Ingredient needed			
Canola Oil	for egg baking	5.59	1	\$5.59
	Ingredient needed			
Sugar	for egg baking	3.39	1	\$3.39

• App No. 155- Illini n Motion Dance Team

- Description: Org is requesting food and pamphlets for dance event hosted on campus
- o *Reviewer's Notes*: Line items 1 and 2 are in violation of programs standards: Programming Supplies. Line item 3 meets standards
- Event Description: On April 12th, 2024, we would like to host a showcase at Foellinger Auditorium in order to perform our self-choreographed routines we have been working on all year. We will not be charging for admission to this event, and it is open to anyone who would like to come! In order to host our showcase, we are requesting SORF allocations for dinner (for all 33 girls on the team) during our 6.5-hour dress rehearsal, as well as money to print programs for our event. Both the printed pamphlets and dinner for our team are necessary for our Program to function

Funding type: ProgramsAmount Requested: \$764.61Amount Allocated: \$332.41

Item Name	Item Description	Cost	Quantity	Total
Jimmy Johns Original	Jimmy Johns			
Sandwich	Original Sandwich	\$7.19	33	\$237.27
Jimmy Johns Original	Jimmy Johns			
Chips	Original Chips	\$1.59	33	\$52.47
	Printing Center			
	USA - 250			
Printing Center USA -	Showcase			
Show Programs	Programs	\$474.87	1	\$474.87

• App No. 160- Sigma Gamma Rho Sorority Inc.

- o *Description*: Charitable event in line with RSO's purpose
- o Reviewer's Notes: 50% fund charitable
- Event Description: At this event, we're going to make feminine hygiene care packages. This
 event is open to all students at the university. We're going to be teaching students about
 the importance of hygiene and wellness

Funding type: Programs
 Amount Requested: \$501.59
 Amount Allocated: \$250.80
 Administrative Adjustment: \$0.00

o Administrative Rationale: Giveaways are not fundable by SORF.

Item Name	Item Description	Cost	Quantity	Total
	Flexi-wings			
	unscented pads			
Always Ultra Thin	96ct	\$14.18	2.00	\$28.36
	Long super pads			
Always Maxi	90 ct	\$13.94	2	\$27.88
	Extra heavy			
	overnight pads			
Always Ultra Thin	with wings 72 ct	\$14.18	2	\$28.36
	Trio pack (light,			
Tampax Radiant Tampons	regular, super)	\$16.98	3	\$50.94
	30 pack travel			
Toothbrush	toothbrush set	\$9.99	3	\$29.97
	24 pack of travel			
Regular tooth paste	size tooth paste	\$15.23	4	\$60.92
	50 pack soft face			
Face towel	towel	\$19.99	2	\$39.98
	18 pack			
	antiperspirant			
Deodorant	deodorant	\$27.98	5	\$139.90
Irish spring	24 pack bar soap	\$23.82	4	\$95.28

App No. 162- Sigma Gamma Rho Sorority Inc.

- o Description: Charitable event in line with RSO's purpose
- o Reviewer's Notes: 50% fund charitable
- Event Description: The Delta Rho Chapter plans to invite students to help put together 22 kits to give away to families in need through Bridgeport, a Childrens home and aid organization in champaign. The number 22 is significant because our sorority was founded in the year 1922. The event will take place on 04/13 and is open to all students. Each kit will include a baby bathtub, a beanie and blanket

Funding type: Programs
 Amount Requested: \$623.66
 Amount Allocated: \$311.83
 Administrative Adjustment: \$0.00

o Administrative Rationale: Giveaways are not fundable by SORF.

Item Name	Item Description	Cost	Quantity	Total
Bonuci 30 Pack Newborn				
Baby Hats Bulk Cute Baby				
Beanie Hats Soft Cotton				
Hospital Infant Hats for				
Boys Girls 0-6 Months,				
Multicolored		\$27.99	1.00	\$27.99
Blizzard Fleece Fabric				
Solids	Pale Yellow	\$12.99	2	\$25.98
Blizzard Fleece Fabric				
Solids	Blue	\$12.99	2	\$25.98

Googly Eye Fruit on Blue Blizzard Fleece Fabric		\$14.99	2	\$29.98
Blizzard Fleece Fabric				
Solids	white	\$12.99	2	\$25.98
Hallmark 9" Medium				
Paper Gift Bags (Pack of 8				
- Blue & Kraft) for				
Hanukkah, Birthdays,				
Weddings, Father's Day,				
Graduations, Baby				
Showers, Bridal Showers,				
Care Packages, May Day	Color: B07PGKTYGJ	\$15.99	3	\$47.97
The First Years Sure				
Comfort Newborn to				
Toddler Baby Bathtub,				
Infant Bathtub, Teal		\$19.99	22	\$439.78

App No. 164- Muslim Students Association

- Description: Muslim Students Association is requesting funds to host an event with guest speakers for students all around the Chicago area
- Reviewer's Notes: Fund at 75% because UIUC students are being charged. Also, 10% non-Illinois attendees
- Event Description: Spring Camp is a 4-day on-campus event, hosting college students from all over the Chicagoland area, aiming to reconnect and ground us as a community. It seeks to enlighten and enrich Muslim and non-Muslim students on our campus with knowledge about Islam from various speakers from around the country. A weekend full of lectures, discussions, and dinners to nourish the mind, body, and soul
- Funding type: ProgramsAmount Requested: \$5,000.00Amount Allocated: \$3,375.00

Item Name	Item Description	Cost	Quantity	Total
Speaker Contract	Suhaib Webb	\$3,000.00	1	\$3,000.00
Speaker Contract	Fatima Lette	\$800.00	1	\$800.00
Speaker Contract	Hassan Natour	\$750.00	1	\$750.00
Speaker Contract	Amany Suleiman	\$800.00	1	\$800.00

• App No. 174- Taiwanese American Students Club

- o Description: Application requests for food, utensils, materials for conference
- o Reviewer's Notes: Application should be funded at 50% for non-Illinois attendees
- Event Description: Intercollegiate Taiwanese American Students Association (ITASA) is a
 national conference for all college/university students involved in their school's Taiwanese
 organization. This will be a gathering of everyone to engage in activities, such as speaker
 events and socializing events
- o Funding type: Programs
- Amount Requested: \$4,495.72Amount Allocated: \$1,685.90
- Administrative Adjustment: \$34.39

o Administrative Rationale: Food is not essential to conference.

Noodles	Food	\$14.90	7	\$104.30
Bok Choy	Food	\$8.18	18	\$147.24
Beef Chuck	Food	\$14.94	24	\$358.56
Large Tomatoes	Food	\$7.01	4	\$28.04
Garlie	Food	\$6.66	4	\$26.64
Ginger	Food	\$3.58	3	\$10.74
Green Onion / Scallions	Food	\$0.88	18	\$15.84
Shaoxing Wine (Rice		70.00		Ψ=3.0.
Wine)	Food	\$12.99	4	\$ 51.96
Star Anise	Food	\$12.99	2	\$25.98
Sichuan Peppercorn	Food	\$9.99	2	\$19.98
Vegetable Oil	Food	\$14.61	1	\$14.61
Chili Bean Sauce		·		
(Doubanjiang)	Food	\$19.99	2	\$ 39.98
Soy Sauce	Food	\$ 6.28	4	\$ 25.12
Dark Soy Sauce	Food	\$7.86	4	\$31.44
Rock Sugar	Food	\$15.99	2	\$31.98
Salt	Food	\$0.72	2	\$1.44
MSG	Food	\$ 7.35	2	\$14.70
Bowls	Utensils/Materials	\$38.69	2	\$77.38
Chopsticks	Utensils/Materials	\$8.29	2	\$16.58
Spoons	Utensils/Materials	\$14.80	2	\$29.60
Spice Bags	Utensils/Materials	\$11.99	2	\$23.98
Napkins	Utensils/Materials	\$14.03	2	\$28.06
·	Cleaning			
Wipes	Materials	\$7.39	1	\$7.39
Name Tags	Materials	\$8.99	1	\$8.99
Tablecloths	Materials	\$2.77	6	\$16.62
Streamers	Materials	\$1.00	4	\$4.00
Photobooth backdrop	Materials	\$6.39	2	\$12.78
Photobooth props	Materials	\$8.99	1	\$8.99
Banner	Materials	\$10.00	1	\$10.00
Chonging Catering - Item				
48	Food	\$ 13.95	20	\$279.00
Chonging Catering - Item		·		
53	Food	\$14.95	20	\$299.00
Chonging Catering Item				
78	Food	\$20.95	20	\$419.00
Chonging Catering Item				
69	Food	\$15.95	20	\$319.00
Chonqing Catering - Item				
38	Food	\$11.95	20	\$239.00
Chonqing Catering - Item				
39	Food	\$ 12.95	20	\$259.00

Cravings Catering - Tofu				
Fried Rice	Food	\$7.50	20	\$150.00
Cravings Catering - House				
Special Lo Mein	Food	\$10.99	20	\$219.80
Cravings Catering - Hunan				
Shrimp	Food	\$ 12.99	20	\$259.80
Cravings Catering - Dry				
Sauteed Green Beans	Food	\$10.99	20	\$219.80
Cravings Catering - Stir				
Fried Tomato w Eggs	Food	\$10.99	20	\$219.80
Cravings Catering Salt &				
Pepper Chicken	Food	\$11.99	20	\$239.80
Cravings Caterin House				
Special Fried Rice	Food	\$8.99	20	\$179.80
Noodles	Food	\$14.90	7	\$104.30

• App No. 176- Saudi Students Association

- o *Description*: Saudi students association is hosting an event in honor of Eid and requesting funds for cultural food related to their program and mission purpose
- Reviewer's Notes: They provide adequate documentation for their requested cultural food +
 a case of water from Costco. Based on the attendance of non-Illinois students and
 supporting documents, I recommend we fund as amended
- Event Description: Eid al-Fitr is the earlier of the two official holidays celebrated within Islam. The event is aimed at celebrating and educating students at the University of Illinois Urbana-Champaign campus community about the significance of Eid Al-Fitr in the Muslim culture. It will feature cultural exhibitions and traditional food to foster an understanding and appreciation of the diversity within our campus. The event is designed to be inclusive, inviting participation from all students irrespective of their cultural or religious backgrounds. Eid Al-Fitr Celebration aligns with our mission of sharing the Muslim and Saudi traditions in this celebration by educating the campus community about our cultural practices and beliefs, contributing to the non-Saudi individuals' understanding of such an important event. Moreover, we want to replicate the Saudi experience on campus to ensure that Saudi students feel close to home. What Christmas is to families here in the US is what Eid is to Muslims around the world

Funding type: Programs

Amount Requested: \$432.73Amount Allocated: \$411.09

Administrative Adjustment: \$401.11

o Administrative Rationale: Water is not essential to this event.

Item Name	Item Description	Cost	Quantity	Total
	Lamb Haneeth			
	with Rice, one			
	serving. Estimated			
	attendance: 30			
	students.			
Al Rayan Restaurant -	(Estimated			
Lamb Haneeth and Rice	quantity based on	\$19.99	14.00	\$279.86

	previous events			
	•			
	wherein we had a			
	total of 24			
	attendees with a			
	total price of \$348			
	for all orders)			
	Chicken Mendi			
	with Rice, one			
	serving. Estimated			
	attendance: 30			
	students.			
	(Estimated			
	quantity based on			
	previous events			
	wherein we had a			
	total of 24			
	attendees with a			
Al Rayan Restaurant -	total price of \$348			
Mendi Chicken and Rice	for all orders)	\$12.99	11.00	\$142.89
	Pure Life Purified			
	Water, 8 fl oz, 24			
	count (x1 at \$4.99			
Water bottles	each at Costco)	\$4.99	2.00	\$9.98

• App No. 179- Illinois Robotics in Space

- o Description: Organization is requesting funding for mechanical parts and lodging at event
- o *Reviewer's Notes*: Line items 1-12 violate SORF standards: application type. Line items 13 and 14 meet SORF standards
- Connection to Mission: All items requested are materials and devices that are necessary to complete the robot for the upcoming competition, and to subsidize our travel costs for around 20 people as the competition is held over a week from March 11-17 in the Kennedy Space center and UCF in Florida
- o Funding type: Services
- o Amount Requested: \$3,735.91
- Amount Allocated: \$2,600,00

O Amount	o Amount Anocatea. \$2,000.00				
Item Name	Item Description	Cost	Quantity	Total	
Belt (10 in X 5.5 ft)	for the excavator	\$ 93.50	1	\$93.50	
	for joining				
Coupler	materials	\$28.37	1	\$28.37	
	frame materials				
T Framing (125 cm)	(structural)	\$73.75	1	\$73.75	
	frame materials				
T Framing (135 cm)	(structural)	\$79.65	1	\$79.65	
	frame materials				
T Framing (100 cm)	(structural)	\$59.00	1	\$59.00	
ABS Filament	for 3D printing	\$20.95	1	\$20.95	
PLA Filament	for 3D printing	\$20.99	2	\$41.98	

	motors on either			
Neo Brushless Motor	side	\$48.00	2	\$96.00
	gearbox to turn			
64:1 Gearbox	motors	\$84.00	2	\$168.00
Aluminum Sheets				
(24"x48"x1/4")	frame materials	\$113.91	3	\$341.73
Belt (12in X 5 ft)	for the excavator	\$102.00	1	\$102.00
	for closing			
Electromagnet	mechanics	\$15.49	2	\$30.98
	near Kennedy			
Airbnb for 10 people	Space center	\$163 day	8 days	1300
	near Kennedy			
Airbnb for 10 people	Space center	\$180 day	8 days	1300

• App No. 184- Illinois Triathlon Club

- Description: Illinois Triathlon Club is asking for funding for money to and from the competition so their members can attend nationals
- Reviewer's Notes: Line items 2 and 4 violate Services Standards: vehicle rentals. Line items 1,
 3, 5 meet standards
- Connection to Mission: We seek to build a community of triathletes on the University of Illinois campus and enable students to train and race as a team under the University of Illinois banner. All the requested items will help subsidize our cost of attending nationals, allowing our members to compete at the highest level. The U-Haul is necessary to transport our bikes to the race in a cost-effective way, the cars will transport us to and from the race destination, and the registration fee is necessary for every member attending nationals
- o Funding type: Services
- o Amount Requested: \$4,994.20
- Amount Allocated: \$3,292.95
- o Administrative Adjustment: \$2,550.00
- o Administrative Rationale: Gas for U-Haul and Car Rentals is not fundable.

Item Name	Item Description	Cost	Quantity	Total
	2024 USAT			
	Collegiate Club			
	Nationals			
	Olympic-Distance			
	Triathlon			
	Registration Fee			
	necessary for			
	every member of			
	our club that			
	wishes to attend			
	nationals this			
Nationals Registration Fee	year.	\$170.00	15.00	\$2,550.00
	Uhaul Rentals is			
	necessary to			
	transport our			
Uhaul Rental	bikes from the	\$427.30	1	\$427.30

	airport (John			
	Wayne Airport) to			
	the race			
	destination			
	(Mission Viejo,			
	CA).			
	Gas is a necessary			
	cost of renting the			
	Uhaul which will			
	allow us to bring			
	our bikes to the			
Gas for Uhaul Rental	race.	\$146.25	1	\$146.25
	Car Rentals will			
	allow for us to			
	transport			
	ourselves to our			
	lodging and the			
	race destination in			
Car Rentals	California.	\$424.65	3	\$1,273.95
	Gas is a necessary			
	cost of driving			
	cars . This gas			
	accounts for travel			
	to the airport (in			
	Chicago) and in			
	California with the			
	Car Rentals (to			
	our lodging and			
Gas for Cars	the race).	\$596.70	1	\$596.70

• App No. 186- **TRUTH AND BEAUTY**

- Description: The kpop dance club is hosting a dance competition where they are requesting funds for event space, flyers, and wristbands
- Reviewer's Notes: The club states the event will be held on campus but will charge students to enter as well as expect non-Illinois students to attend. They also have additional funding.
 Based on this I recommend SORF funds as amended (75% for charging and an additional 25% for non-Illinois attendees) per SORF programming regulations
- Event Description: Dance teams from UIUC and across the mid-west (a total of 10 teams) will
 compete in a K-Pop Dance Contest where the 1st and 2nd place winners will receive a cash
 prize while the 3rd place winner will receive a gift basket. The contest will also be
 showcased to the public with the purchase of a ticket
- Funding type: ProgramsAmount Requested: \$2,214.38

Amount Allocated: \$1,162.55

Item Name	Item Description	Cost	Quantity	Total
	Flyers promoting			
Printed Flyers	the event	\$0.50	15.00	\$7.50

	TNB plans to hold			
	our event at			
	Lincoln Hall			
Lincoln Hall Theater	Theater	\$2,198.90	1	\$2,198.90
	Wristbands are			
	required for those			
	who are			
Wristbands	performing	\$7.98	1	\$7.98

App No. 188- Ballet Folklorico Mitotiani

- Description: The Ballet Folklorico Mitiatanti club is requesting funds to host a dance banquet to showcase their dances and what they learned throughout the year in the club. They are requesting funds for event space, decor, performance equipment, and catering for audience and performers
- Reviewer's Notes: Although they provide proper documentation some line items are
 questionable to the overall success of this event in particular. Line item 4 is not essential to
 dancing and line items 6,8,10 are reusable supplies making them fall under the service
 application. Based on this, I recommend SORF funds as amended per SORF regulations
- Event Description: Ballet Folklorico Mitotiani's end-of-year Kermes show is a dance showcase that shows the choreographies that Ballet Folklorico Mitotiani has learned during the 2023-2024 school year, and it also includes a banquet for the performers and the audience members

Funding type: Programs
 Amount Requested: \$2,915.86
 Amount Allocated: \$472.73

Item Name	Item Description	Cost	Quantity	Total
Gregory Hall 112	Gregory Hall 112 is where our annual Kermes show will be held.	\$128.00	3	\$384.00
House Sound System	Included with Gregory Hall 112 and consists of a microphone, projector/screen.	\$75.00	1	\$75.00
Microphone	Microphones included with Gregory Hall that will be used during the showcase in order to project the voices of the MCs and speakers well.	\$20	1	\$20.00
Catering	Catering will be used post-Kermes so that performers and	\$8.99	200	\$ 1,798.00

	audience can			
	enjoy food			
	together.			
YMCA Latzer Hall	The YMCA's Latzer	\$390	1	\$390.00
	Hall will be used	,		,
	post-Kermes as			
	the catering			
	venue so that			
	performers and			
	audience can eat			
	and spend time			
	together.			
Clothing Rack	The clothing rack	\$18	5	\$90.00
	will be utilized to	¥-5		450.00
	hang the outfits			
	to be worn during			
	the performances,			
	and it is meant to			
	facilitate the			
	changing process			
	between the			
	performances of			
	the event.			
Hanging Party	The hanging party	\$12.99	2	\$25.98
Decorations	decorations will	·		·
	also be used to			
	give the banquet			
	venue more			
	character and			
	create a more			
	festive			
	atmosphere.			
Vases	Vases will be	\$1.25	10	\$12.50
	placed around	7-1-6	-0	¥ ==:3 3
	tables and have			
	flowers in them			
	for decoration.			
Tablecloths	Tablecloths will	\$1.50	15	\$22.50
	be used for	,		,
	covering up tables			
	to create a festive			
	atmosphere and			
	avoid getting the			
	tables dirty.			
Flowers	Flowers will be	\$6.99	10	\$69.90
	used to decorate	7 3.33		+
	the tables.			

Balloon Arc	The balloon arcs	\$13.99	2	\$27.98
	will be utilized to			
	decorate the			
	banquet venue			
	and create a			
	festive			
	atmosphere.			

• App No. 189- Women Of Color

- Description: Women Of Color is asking for funding to host an event that supports and uplifts women through bringing in speakers and creating a sense of community in attendees. It is a free event on campus, and they predict having 125 Illinois and 5 non-Illinois students
- Reviewer's Notes: Line items 1, and 23-28 violate Programs Standards: non-essential food.
 Line items 2-22 and 29-34 meet standards. Thus, the funding amount comes out to \$498.01, but application should be funded at 96% as they predict having 5 non-Illinois studnets
- Event Description: Women Of Color holds an annual conference to educe, uplift and unite all women on campus. We do this through a day of workshops and guest speakers

Funding type: ProgramsAmount Requested: \$2,600.57Amount Allocated: \$478.09

Item Name	Item Description	Cost	Quantity	Total
	This expense			
	would cover food			
University of Illinois	for every guest at			
Catering	our event.	\$15.50	130.00	\$2,015.00
	A requirement to			
	utilize the Illini			
	Union is this			
	package so that			
	we have access to			
	the multimedia			
Multimedia Package	equipment	\$145.40	1	\$145.40
	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. Balloon			
	arch will be used			
	to decorate an			
Purple Balloon Arch	area for photos.	\$19.89	2.00	\$39.78

	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. We will			
	use these			
	balloons to			
40 Inch Silver Number 3	decorate an area			
Balloon		¢6 70	1	¢6 79
Ballouri	for photos.	\$6.78	1	\$6.78
	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. We will			
	use these			
	balloons to			
40 Inch Silver Number 5	decorate an area			
Balloon	for photos.	\$6.78	1	\$6.78
	Will be used to			
	protect tables			
	that we are			
Purple Plastic Tablecloth	serving food on	\$1.50	20	\$30.00
p = 131018830000	This day is one of		· · · · · · · · · · · · · · · · · · ·	,
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that celebration for			
	the event. We will			
	use these	47.00		445.00
Purple Party Balloons Kit	balloons to	\$7.99	2	\$15.98

	docorate an area			
	decorate an area for photos.			
	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. We will			
	utilize these to			
	decorate tables			
1000 Pieces Purple Vase	that guests will sit			
Filler Beads	at.	\$6.99	2	\$13.98
	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event.			
	Streamer will be			
	used to decorate			
Purple Streamer	the location.	\$4.00	1	\$4.00
Turple streamer	This day is one of	Ş4.00	-	74.00
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. Ribbon			
	will be used to tie			
	onto balloon			
	decorations and	4		4
Purple Curling Ribbon	for an activity	\$4.80	3	\$14.40
	This day is one of	4		4
Purple Backdrop Curtain	empowerment	\$7.29	1	\$7.29

	T			T
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. We will			
	use these			
	balloons to			
	decorate an area			
	for photos.			
	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event.			
	Streamer will be			
	used to decorate			
White Streamer	the location.	\$4.00	1	\$4.00
	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. We will			
	use these			
	balloons to			
40 Inch Purple Number 3	decorate an area			
Balloon	for photos.	\$6.99	1	\$6.99
×	This day is one of	,		, , , , ,
	empowerment			
	and celebration of			
	the women of			
40 Inch Purple Number 5	color on campus.			
Balloon	We would like to	\$6.99	1	\$6.99
Balloon	We would like to	70.55		70.55

	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. We will			
	use these			
	balloons to			
	decorate an area			
	for photos.			
	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. We will			
	utilize these to			
	decorate tables			
Purple and Silver Foil	that guests will sit			
Confetti	at.	\$6.99	4	\$27.96
	Will be utilized by			
	attendees for an			
	activity in a			
	workshop that will			
Purple Blank Business	be facilitated			
Cards	during the event.	\$6.99	2	\$13.98
	Will be utilized for			
	food eaten at			
Purple Paper Napkin	event.	\$4.30	3	\$12.90
, , ,	Will be utilized for	-		
Purple Heavy Duty Plastic	food eaten at			
Cutlery Set	event.	\$7.50	6	\$45.00
	Will be utilized for	,	-	, -13-5
Purple Plastic Dessert	food eaten at			
Plates	event.	\$6.00	3	\$18.00
	Will be utilized for			
	food eaten at			
Purple Paper Bowls	event.	\$3.50	7	\$24.50
21 P. C. C. P. C.	Will be utilized for	,		
	food eaten at			
Purple Baking Cups	event.	\$2.50	1	\$2.50
. a.pic baking caps	C.C.10.	72.00		700

	Will be utilized for			
	food eaten at			
Donale Diestie Cons		ć		¢10.00
Purple Plastic Cups	event.	\$5.00	2	\$10.00
	Would cover			
	beverages for all	4		4
Sprite (35 pack)	of our guests	\$17.88	1	\$17.88
	Would cover			
	beverages for all			
Coke (35 pack)	of our guests	\$17.88	1	\$ 17.88
	Would cover			
	beverages for all			
Diet Coke (35 pack)	of our guests	\$17.88	1	\$ 17.88
	Would cover			
Country Time Lemonade	beverages for all			
Drink Mix	of our guests	\$ 8.98	1	\$8.98
	Would cover			
Country Time Pink	beverages for all			
Lemonade Drink Mix	of our guests	\$ 8.98	1	\$8.98
	Would cover			
Ice Mountain Mini Water	beverages for all			
Bottles	of our guests	\$ 7.98	2	\$ 15.96
	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. We will			
	use these balloons to			
Durnia Pallagna	decorate an area	\$3.80] ,	\$7.60
Purple Balloons	for photos.	\$3.80	2	\$7.60
	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
White Balloons	the event. We will	\$3.80	2	\$7.60

	use these			
	balloons to			
	decorate an area			
	for photos.			
	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. We will			
	use these			
	balloons to			
	decorate an area			
Silver Balloons	for photos.	\$3.80	2	\$7.60
Silver Balloons		33.80	2	\$7.00
	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. We will			
	use these			
	balloons to			
	decorate an area			
34 inch Silver Letter	for a workshop at			
Balloon (W)	the event.	\$6.00	1	\$6.00
	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. We will			
24 inch Silver Letter				
34 inch Silver Letter	use these	¢c 00	1	¢c 00
Balloon (O)	balloons to	\$6.00	1	\$6.00

	decorate an area			
	for a workshop at			
	the event.			
	This day is one of			
	empowerment			
	and celebration of			
	the women of			
	color on campus.			
	We would like to			
	utilize these			
	decorations to			
	display that			
	celebration for			
	the event. We will			
	use these			
	balloons to			
	decorate an area			
34 inch Silver Letter	for a workshop at			
Balloon (C)	the event.	\$6.00	1	\$6.00

• App No. 192- The National Organization of Minority Architecture Students

- Description: The National Organization of Minority Architecture Students is requesting funding for advertisements and helping students improve their resumes
- Reviewer's Notes: Line item 1 violates Services Standards: long-term storage. Line item 4 violates SORF standards: no supporting documentation. Line items 2 and 3 meet standards, bringing total requested funding to \$26.75
- Connection to Mission: The requested items would help us advertise our club and run smoothly. The requested items help us with our purpose, which is to have a club for minority students in architecture in which we work on professional development. To do so, we would need to reach those in architecture through advertisements, and the requested items would allow us to do that

Funding type: Services
 Amount Requested: \$85.15
 Amount Allocated: \$21.75

Administrative Adjustment: \$0.00

o Administrative Rationale: Remaining items were for recruitment.

Item Name	Item Description	Cost	Quantity	Total
	Storage Crates for			
	keeping materials			
	purchased for the			
Storage Crate	next year.	\$7.25	3	\$21.75
	Printing costs for			
	our Election Fliers			
	that will be			
Election Fliers	posted in March.	\$0.50	30	\$15.00
	Printing costs for			
NOMAS Info Zine	NOMAS	\$0.50	100	\$ 50.00

	informational			
	booklets for Quad			
	Day next Year.			
	Printed at Siebel			
	Center for Design,			
	a sheet of 225			
	stickers to be			
	given to			
	students/faculty			
	at any events we			
NOMAS Stickers	host/attend.	\$5.00	1	\$5.00

- App No. 193- Pakistani Students Association
 - Description: Pakistani Student Association is hosting a fashion event to share Pakistani heritage
 - o Reviewer's Notes: Do not fund line item 10 because it is a service. Fund at 75% because charging UIUC students. Fund down another 5% because 5% non-Illinois Students
 - o Event Description: The Pakistani Students Association is organizing a vibrant and culturally rich event, a fashion show that is not just a showcase of style but a celebration of Pakistani heritage. This event is set to be an extraordinary display of Pakistan's vibrant colors, exquisite tastes, and rhythmic melodies. At the heart of the event is the fashion show, where traditional and contemporary Pakistani attire will be on display. This is an opportunity to witness the intricate designs, bright colors, and unique styles that make Pakistani fashion stand out. Our own members will be wearing an assortment of clothing including elegant shalwar kameez and stunning lehengas showcasing traditional Pakistani designs. Complementing the fashion show will be an array of authentic Pakistani cuisine. Attendees can savor the tangy and spicy flavors of Pakistani street food like Bhel Puri and Channa Chaat. We also plant to serve Chicken Pakora, a popular snack many Pakistanis enjoy at big events. For drinks we plant to serve Lassi which is a traditional yogurt-based drink from Pakistan. We plan on providing these snacks from Lassi Wala, Falak Banquets, Chaat Cart, and Star Foods Samosas. Adding to the event's ambiance, a DJ will be playing a selection of Pakistani music ranging from classic tunes to contemporary hits. This music will not only entertain but also immerse guests in the rich musical heritage of Pakistan. The music will also be used for members to perform traditional Pakistani dances. Overall, this event is more than a fashion show; it's a celebration of Pakistani culture in all its aspects. It's an invitation to explore and appreciate rich traditions, flavors, and sounds that Pakistan has to offer. It provides attendees with a memorable experience and a deeper understanding and appreciation of Pakistani culture

Funding type: Programs
 Amount Requested: \$4,994.10
 Amount Allocated: \$3,345.26

Item Name	Item Description	Cost	Quantity	Total
Lassi Wala - Lassi	Lassi (Pakistani	\$850.00	1.00	\$850.00
Drinks	yogurt-based			
	drink) cart for all			
	attendees			

Star Foods Samosas	Potato and pea samosas (Pakistani snack)	\$0.88	220	\$193.60
Chaat Cart	Pakistani street food cart	\$999.00	1	\$999.00
Falak Banquets - Bhel Puri	Tray of bhel puri (Pakistani street food snack)	\$80.00	2	\$160.00
Falak Banquets - Channa Chaat	Tray of channa chaat (Pakistani chickpea snack)	\$80.00	1	\$80.00
Falak Banquets - Chicken Pakora	Tray of chicken pakora (deep- fried Pakistani snack)	\$90.00	3	\$270.00
DJ Yesh	DJ Service playing Pakistani music throughout the event	\$999.00	1	\$999.00
ARC Rental Fee	ARC MP6 Rental Fee	\$1,023.50	1	\$1,023.50
ARC Kitchen Rental Fee	ARC Kitchen Rental Fee for 3 hours	\$120.00	1	\$120.00
ADJ FS-100 Follow Spot	Spotlight camera to follow runway during fashion show	\$299.00	1	\$ 299.00

• App No. 197- Bangladeshi Students Association UIUC

- o Description: Space rental, banners, food, and décor for cultural event
- o Reviewer's Notes: Line items incorrect support/incorrect forms
- Event Description: Bangladesh has two large festivals. One of them is Eid-ul-Fitr. We fast for one month of Ramadan and celebrate the program on the last evening of Ramadan. This has a very sentimental value to us. We plan to arrange a cultural program and a dinner for every attendee to celebrate Eid

Funding type: ProgramsAmount Requested: \$3158.00Amount Allocated: \$2,327.50

Item Name	Item Description	Cost	Quantity	Total
	MAS community			
	center			
Hall booking	(Banquet+gym)	\$350.00	1.00	\$350.00
Adjustable Banner Stands	8'*10'	\$388.00	1	\$388.00
Retractable Banner	32"*80"	\$220.00	1	\$220.00
	Lamb/Chicken/Veg			
Food	biriyani & sweets	\$20.00	100	\$2,000.00

120

Drinks	Soda & water	\$1.00	100	\$100.00
	cardboard, glue,			
	scissors, color			
	paper, tape,			
	ballon, trash bag,			
Decoration accessories	disposable cloth	\$200.00	1	\$200.00

• App No. 198- Bangladeshi Students Association UIUC

- o Description: Space rental, banners, food, and décor for cultural event
- o Reviewer's Notes: Line items incorrect support/incorrect forms
- Event Description: Pahela Baishakh is a major cultural celebration of Bangladesh. This is the Bengali New Year. We are planning to organize a cultural program where everyone would wear Sharee and Panjabi, a traditional attire for Bangladeshi females and males respectively. We will also arrange some traditional food and snacks for our community
- o Funding type: Programs
- Amount Requested: \$3,860.00Amount Allocated: \$3,002.00
- Administrative Adjustment: \$2,882.00
- o Administrative Rationale: Drinks are not essential to the event.

Item Name	Item Description	Cost	Quantity	Total
	Lincoln Hall			
Hall booking	Theatre	\$85.00	6.00	\$510.00
	Illini Union			
Projector, Light & sound	multimedia	\$250.00	1	\$250.00
Vinyl Banner	4'*10'	\$240.00	1	\$240.00
Tripod Banner	24"*70"	\$130.00	2	\$260.00
	Lamb/Chicken/Veg			
Food	biriyani & sweets	\$19.00	120	\$2,280.00
Drinks	Soda & water	\$1.00	120	\$120.00
	cardboard, glue,			
	scissors, color			
Decoration accessories	paper, tape	\$200.00	1	\$200.00

• App No. 135- Iranian Heritage Foundation

- Description: This event is requesting funding for a cultural night, including the venue, food, and performer accommodations
- Reviewer's Notes: All items meet standards. Charging students, so the adjustment to 75% must be made. Indicate 1% of attendees will be non-Illinois students. An additional 1% adjustment will be made. This RSO has also requested \$5,000 in Application ID #138
- Event Description: The Celebration is a vibrant cultural event that commemorates the ancient tradition of Nowruz. This festive gathering which is being celebrated within Iran, Afghanistan, Uzbekistan, Tajikistan, Iraqi Kurdistan, and Azerbaijan, brings together people beyond to experience the rich tapestry of culture through music, art, and traditional rituals. The event planned to be a celebration featuring show case of heritage for this night with art and music performances. Our approximation is about \$25,000 for the total cost of the event, which majority of the cost is regarding the plan to invite Iranian performers and rental cost related to the audio system, venue rental, etc

Funding type: ProgramsAmount Requested: \$5,000.00Amount Allocated: \$3,350.00

Administrative Adjustment: \$0.00

o Administrative Rationale: Performer not listed in application. Adjustments are made based on the maximum requestable amount (\$5,000) and the result of removing those two lineitems results in \$0.00.

Item Name	Item Description	Cost	Quantity	Total
Venue, Audio and Sound				
System Package	Rental	\$2,853.00	1.00	\$2,853.00
Food (Cultural)	Food	\$11,068.00	1.00	\$11,068.00
Performers Flight (with				
luggage)	Travel	\$ 738.00	6.00	\$4,428.00
Performers				
Accommodation (two				
nights at i-hotel)	Hotel	\$224.93	14.00	\$3,149.02

App No. 84- Nutritional Sciences Graduate Student Association

- Description: Application requests for speaker payment, event booklets, event promotion posters, and university catering
- Reviewer's Notes: Line item 3 does not have a mockup within the supporting documentation. Line items 4 and 5 are non-fundable food requests
- o Event Description: The Nutritional Sciences Graduate Student Association (NSGSA), in coordination with the Division of Nutritional Sciences (DNS), will host its annual Nutrition Symposium on Friday, April 12, and Saturday, April 13, 2024. We are delighted to announce that this year's event will celebrate 30 years of the Nutrition Symposium! The NSGSA and DNS are incredibly proud of accomplishing this milestone. To commemorate, we are planning a two-day event that honors the accomplishments of nutrition science over the last 30 years, celebrates the discoveries being made today, and recognizes the work yet to be done. This sentiment will be the theme of this year's Symposium: From Seed to Pearls: Celebrating 30 years of Nutrition Science Research at UIUC. Since 1994, the Nutrition Symposium has showcased emerging student and faculty research to the university and program sponsors. It has also become a respected forum facilitating interactions between the local nutrition community, DNS faculty and students, adjacent faculty and students, and program sponsors to enable future scientific collaborations and career opportunities. We are incredibly honored to have Dr. Cheryl Anderson as the Keynote Speaker for this event. Dr. Anderson is Professor and Dean of the Herbert Wertheim School of Public Health and Human Longevity Science at the University of California, San Diego (UCSD). She is the Director of the UCSD Center of Excellence in Health Promotion and Equity, a Fellow of the American Heart Association, a member of the 2015 and 2020 US Dietary Guidelines Advisory Committee, and an elected member of the National Academy of Medicine. Dr. Anderson's research focuses on the effects of dietary patterns, sodium, and potassium on cardiovascular health, behavioral interventions for adherence to dietary recommendations, and investigating nutritional risk factors for kidney disease and related cardiovascular events. In addition to Dr. Anderson's keynote address and graduate student oral and poster research presentations, our event also features a DNS faculty symposium. Faculty speakers

will include Dr. John Erdman, Professor Emeritus of Nutrition and Food Science; Dr. M. Yanina Pepino, Associate Professor of Nutrition; and Dr. Hans Stein, Professor of Nutrition

o Funding type: Programs

o Amount Requested:\$4,958.82

o Amount Allocated: \$700.00

Item Name	Item Description	Cost	Quantity	Total
	Dr. Cheryl			
	Anderson,			
	keynote			
	speaker, <u>is</u>			
	Professor and			
	Dean of the			
	Herbert Wertheim			
	School of Public			
	Health and Human			
	Longevity Science			
	at the University			
	of California, San			
	Diego (UCSD). She			
	is the Director of			
	the UCSD Center			
	of Excellence in			
	Health Promotion			
	and Equity, a			
	Fellow of the			
	American Heart			
Honorarium - Dr. Cheryl	Association, a	44 000 00		\$1,000.00
Anderson (Keynote	member of the	\$1,000.00	1	
Speaker)	2015 and 2020 US			
	Dietary Guidelines			
	Advisory			
	Committee, and			
	an elected			
	National Academy			
	of Medicine			
	member. Dr.			
	Anderson's			
	research focuses			
	on the effects of			
	dietary patterns,			
	sodium, and			
	potassium on			
	cardiovascular			
	health, behavioral			
	interventions for			
	adherence to			
	dietary			
	recommendations,			

	and investigating			
	and investigating			
	nutritional risk			
	<u>factors for kidney</u>			
	disease and			
	related			
	cardiovascular			
	events.			
	Event Booklet			
	(\$65 /h x 48			
	service fee) The			
	booklet will			
	contain the			
	symposium			
Event Booklet	schedule, student	\$65.00	48	\$3,120.00
	abstracts, science	\$65.00	40	55,120.00
	images created by			
	students, and			
	information about			
	the Division of			
	Nutritional			
	Sciences program.			
	Deans Graphics.			
	To help promote			
	the event to the			
	student body and	4	4	\$ 139.32
Event Promotion Posters	to designate event	\$34.83		
	locations for ease			
	of guests. 48x36			
	dimension.			
	Catering			
	Beverages &			
University Catering Service	Snacks (Friday)			
	Beverages and			
	snacks will provide	\$316.50	1	\$316.50
, 11 811 110	in the afternoon 2-	•		
	5pm for			
	approximately 100			
	guests.			
	Dacata.			

• App No. 108- Combat Robotics

- o *Description:* Application requests for project parts
- o *Reviewer's Notes:* 90% are non-Illinois attendees. Line item 18 should be under Services. Line item 23 violates General Standards & Expectation: Purchase Timing
- Event Description: Robobrawl is a 30 lb combat robotics tournament, held every year as one
 of the main attractions of Engineering Open House. In the tournament, 4UIUC teams and up
 to 30 other teams from various colleges around the world compete against each other
- o Funding type: Programs
- o Amount Requested: \$2,297.32

o Amount Allocated: \$193.87

Item Name	Item Description	Cost	Quantity	Total
1000001100000	an electronic		- Quantity	1000
	component			
	needed to			
mamba monster x 8s	construct robot	\$214.95	2.00	\$429.90
mamba monster x os	bearings	7214.55	2.00	Ç423.30
	necessary for the			
	construction of a			
61818 bearing	robot	\$85.26	1	\$85.26
gaoneng batteries	batteries	\$148.00	1	\$148.00
gaoneng batteries		\$146.00	1	\$146.00
	bearings			
	necessary for the			
	construction of a	440.40		400.00
33006 x bearings	robot	\$19.40	2	\$38.80
	Uhmw necessary			
	for the			
	construction of a	4		4
UHMW	robot	\$121.95	1	\$121.95
	shaft for the			
	construction of a			
Shaft	robot	\$21.93	1	\$21.93
	Components			
	necessary for the			
	construction of a			
lumenier 51a escs	robot	\$24.99	2	\$49.98
	Components			
	neccessary for the			
	construction of a			
usb programmer for escs	robot	\$8.00	2	\$16.00
. 0	Components	·		
	necessary for the			
	construction of a			
tp 4070 (2080kv) motors	robot	\$149.00	1	\$149.00
	Components			
	necessary for the			
	construction of a			
315mm htd5 timing belts	robot	\$4.64	4	\$18.56
2_3 seas tilling sells	Components			7-3.55
	necessary for the			
	construction of a			
1/4-20 1/2" screws	robot	\$7.46	2	\$14.92
1, 1 20 1/2 301CVV3	Components	77.10	_	7-1132
	necessary for the			
	construction of a			
1/4-20 1" screws	robot	\$10.83	2	\$21.66
1/7-20 1 301CW3	10001	710.03		721.00

		T		
	Flycolor X-Cross			
	HV3 120A 5-12S			
	BLHeli32 ESC for			
Weapon Motor ESC	X-Class	\$92.99	3	\$278.97
	Vytaflex 40, trial			
Wheel casting material	unit	\$21.01	2	\$42.02
	Jeremywell #35H			
	Heavy Duty Roller			
Arm Drive Chain	Chain 10 Feet	\$23.24	1	\$23.24
	3LX250 FHP			
Disk Drive Vbelt	Cogged V-Belt	\$4.62	2	\$9.24
	Custom			
	mechanical			
	components for			
SendCutSend Arms, Blades,	construction of a			
Forks	robot	\$281.68	1	\$281.68
	ISDT 608AC Lipo			
	Battery Charger			
LiPo Battery Chargers	6S	\$ 59.90	4	\$239.60
	SainSmart - 101-			
	90-161 Blue			
	Flexible TPU 3D			
	Printing Filament,			
	1.75 mm, 0.8 kg,			
	Dimensional			
	Accuracy +/- 0.05			
TPU Filament	mm	\$28.47	2	\$56.94
Badass 3515 motor	drive motor spare	\$65.99	1	\$65.99
connector wires	for connecting	\$13.99	1	\$13.99
	pariah 70A AM32			
drive esc	ESC	\$38.00	1	\$38.00
tp 4050 motor	motor for next yr	\$119.00	1	\$119.00
ring connectors	ring connectors	\$12.69	1	\$12.69

App No. 122- Chinese Language and International Development Society

- Description: Application requests for items and supplies including food, ingredients, single
 use serving items, and housing advertisements for cultural event
- o *Reviewer's Notes:* Line item 36 does not provide the advertisement intended for display in supporting documentation
- Event Description: CLAID's Cultural Branch will be holding a White Day event. White Day is when people give reciprocal gifts to those who gave them gifts on Valentine's Day. The appeal of this event to students is the opportunity to celebrate friends, colleagues, or anyone beyond intimate relationships. White Day helps students who might otherwise feel left out be appreciated, and CLAID is specifically centered around UIUC. Additionally, the White Day event provides traditional Chinese snacks and drinks which gives students the opportunity to experience and enjoy Chinese culture. Students enjoy not only delicious treats but also the opportunity to socialize and relax. CLAID will hold the White Day event in

a cafe-style service. Students will be able to order drinks and snacks from a preselected menu. CLAID will also offer a cozy and comfortable atmosphere during the event with activities and games. Again, White Day is once a year, and this event offers a once-in-lifetime college experience, especially for those who might graduate soon

Funding type: ProgramsAmount Requested: \$815.67Amount Allocated: \$785.67

Item Name	Item Description	Cost	Quantity	Total
	Glutinous rice		•	
	flour is crucial			
	ingredient for our			
	White Day event.			
	It is the			
	foundational			
	ingredient to our			
	osmanthus rice			
	cakes. All of the			
	ingredients are			
	important to the			
	rice cakes so that			
	we can provide			
	the most			
	authentic taste of			
	Chinese culture to			
	our members. The			
	cultural			
	significance of			
	osmanthus rice			
	cakes dates back			
	to the Ming			
	Dynasty and			
	remains a strong			
	cultural tradition			
	in modern-day			
	China. Few			
	students would			
	otherwise be able			
	to try or know			
	about this dessert			
	if it wasn't for			
	CLAID offerings.			
	Our White Day			
	event invites			
	international,			
	domestic, and			
	anyone in			
glutinous rice flour	between to	20.99	2	\$41.98

	explore Chinese			
	culture.			
	Rice flour is the			
	next necessary			
	ingredient.			
	Besides its			
	importance			
	-			
	(which is similar to that of			
	glutinous rice			
	flour), we also			
	need large			
	quantities in order			
	to reach the most			
	students at our			
rice flour	White Day event.	12.34	2	\$24.68
	Wheat starch is			
	also of utmost			
	importance when			
	making			
	osmanthus rice			
	cakes. Not only is			
	it integral to the			
	rice cakes, but it			
	also contains			
	important			
	nutritional value			
	that will most			
	definitely benefit			
	attendees. We			
	require a large			
	quantity as well in			
	order to serve the			
	needs of all of our			
	attendees at this			
wheat starch 澄粉	event.	18.99	2	\$37.98
	Osmanthus syrup,			7-7-30
	being made from			
	the osmanthus			
	flower, will give			
	our osmanthus			
	rice cakes the			
	flavor it needs.			
	Osmanthus is also			
	commonly seen as			
	an important			
	supplement in	14.40	4	Ć1 4 40
osmanthus syrup	Chinese culture,	14.49	1	\$14.49

	providing health			
	benefits and			
	aiding with			
	digestion for			
	those who			
	consume it. By			
	obtaining			
	osmanthus syrup,			
	we will be able to			
	give attendees the			
	opportunity to			
	experience the			
	unique taste and			
	benefits of			
	osmanthus.			
	Instant coffee is			
	made using coffee			
	beans that have			
	already been			
	brewed. It only			
	requires the			
	addition of hot			
	water/milk,			
	providing			
	convenience and			
	saving time for			
	those who drink			
	it. The instant			
	coffee will provide			
	an effective way			
	to serve coffee, a			
	staple of any cafe,			
instant coffee	to attendees.	6.89	2	\$13.78
mistarit conce	Coconut milk is a	0.03		713.70
	white liquid that			
	is collected from			
	the pulp of			
	coconuts and			
	contains many			
	important nutrients.			
	Coconut milk is			
	great for a wide			
	variety of desserts			
	and can also be			
	incorporated into			
and an interest the	drinks. By utilizing	2 20	_	Ć11 45
coconut milk	coconut milk for	2.29	5	\$11.45

	our menu, we will			
	be able to add a			
	layer of			
	creaminess that			
	will bring an			
	enhanced taste to			
	attendees.			
	In any operating			
	cafe, having the			
	basics such as			
	butter, sugar,			
	flour, and eggs are			
	always necessary			
	for menu items			
	and adjusting			
	tastes to			
	customers' liking.			
	CLAID's White Day			
	event will also be			
	operating as a			
	cafe, and we pride			
	ourselves on			
	delivering high			
	quality service			
	and foods.			
	Therefore, having			
	the proper			
	amount of			
	ingredients to be			
	best prepared for			
	any situation is			
	crucial to			
	smoothly running			
	the event like a			
butter	real cafe.	6.49	2	\$12.98
	In any operating			
	cafe, having the			
	basics such as			
	butter, sugar,			
	flour, and eggs are			
	always necessary			
	for menu items			
	and adjusting			
	tastes to			
	customers' liking.			
	CLAID's White Day			
	event will also be			40.00
sugar	operating as a	2.99	1	\$2.99

	cafe, and we pride			
	ourselves on			
	delivering high			
	quality service			
	and foods.			
	Therefore, having			
	the proper			
	amount of			
	ingredients to be			
	best prepared for			
	any situation is			
	crucial to			
	smoothly running			
	the event like a			
	real cafe.			
	In any operating			
	cafe, having the			
	basics such as			
	butter, sugar,			
	_			
	flour, and eggs are			
	always necessary			
	for menu items			
	and adjusting			
	tastes to			
	customers' liking.			
	CLAID's White Day			
	event will also be			
	operating as a			
	cafe, and we pride			
	ourselves on			
	delivering high			
	quality service			
	and foods.			
	Therefore, having			
	the proper			
	amount of			
	ingredients to be			
	best prepared for			
	any situation is			
	crucial to			
	smoothly running			
	the event like a			
flour	real cafe.	2.59	2	\$5.18
	In any operating			,
	cafe, having the			
	basics such as			
	butter, sugar,			
oggs	_	5.69	1	\$22.76
eggs	flour, and eggs are	5.09	4	\$22.76

	T .	T	Г	Т
	always necessary			
	for menu items			
	and adjusting			
	tastes to			
	customers' liking.			
	_			
	CLAID's White Day			
	event will also be			
	operating as a			
	cafe, and we pride			
	ourselves on			
	delivering high			
	quality service			
	and foods.			
	Therefore, having			
	the proper			
	amount of			
	ingredients to be			
	best prepared for			
	any situation is			
	crucial to			
	smoothly running			
	the event like a			
	real cafe.			
	Heavy cream is			
	derived from milk			
	and has a high			
	level of fat,			
	allowing it to			
	thicken and give			
	shape to many			
	-			
	dishes. At CLAID's			
	White Day event,			
	black sesame			
	cheesecake will			
	be served, which			
	requires heavy			
	cream to give the			
	cheesecake its			
	creamy and			
	smooth texture.			
	With heavy			
	cream, we will be			
	able to bake black			
	sesame			
	cheesecakes that			
	students will be			
heavy cream	able to enjoy.	4.39	3	\$13.17
neavy cream	anie to enjuy.	7.33	<u> </u>	713.1/

	I	T		
	Cream cheese is			
	also extremely			
	crucial to black			
	sesame			
	cheesecake and			
	makes up the			
	majority of the			
	cheesecake. Its			
	soft texture and			
	slight sweetness			
	give the			
	cheesecake a			
	delectable taste			
	that attendees			
_	will be able to			
cream cheese	enjoy.	5.19	3	\$15.57
	Lemons are citrus			
	fruits with a			
	refreshing yet			
	sour taste. These			
	can be used to			
	add a level of			
	acidity to drinks,			
	particularly tea,			
	while also adding			
	many health			
	benefits like the			
	reduction of a			
	sore throat. Using			
	lemons in this			
	event's menu			
	items will			
	certainly provide			
	an effective			
	balance to some			
	of the sweeter			
	items we'll be			
lemons	serving.	4.39	2	\$8.78
	Black sesame			-
	powder and black			
	sesame paste are			
	made by roasting,			
	•			
	then grinding			
	black sesame			
	seeds. Both the			
	powder and paste			
	have a nutty			
black sesame powder	flavor that can be	33.99	1	\$33.99

	•		ı	
	used to enrich any			
	dish. Black			
	sesame is a flavor			
	that is popular in			
	Chinese culture,			
	so by making			
	black sesame			
	cheesecake for			
	CLAID's White Day			
	event, we will			
	provide students			
	with the			
	opportunity to			
	taste this			
	culturally			
	important flavor.			
	Black sesame			
	powder and black			
	sesame paste are			
	made by roasting,			
	then grinding			
	black sesame			
	seeds. Both the			
	powder and paste			
	have a nutty			
	flavor that can be			
	used to enrich any			
	dish. Black			
	sesame is a flavor			
	that is popular in			
	Chinese culture,			
	so by making			
	black sesame			
	cheesecake for			
	CLAID's White Day			
	event, we will			
	provide students			
	with the			
	opportunity to			
	taste this			
	culturally			
black sesame paste	important flavor.	8.5	2	\$17.00
black sesallie paste	Graham crackers	0.5		¥17.00
	are made from			
	graham flour and			
	have a mildly			
and and analysis	sweet flavor. They	4.00	,	ć0.78
graham crackers	are integral to the	4.89	2	\$9.78

	ı			
	black sesame			
	cheesecakes			
	because they			
	make up the base			
	of the cheesecake			
	and will provide a			
	foundation on			
	which the creamy			
	cheese mixture			
	can be placed.			
	This will then			
	allow attendees at			
	CLAID's White Day			
	event to fully			
	experience the			
	wonderful taste of			
	black sesame			
	cheesecake.			
	Tea is one of key			
	cultural items to			
	Chinese history.			
	By offering a			
	variety of tea such			
	as black, green,			
	etc., CLAID gives			
	an accurate			
	representation of			
	the diverse tea			
	offerings China			
	has to offer all to			
	the convenience			
	of UIUC students			
black tea	at home.	5.49	1	\$5.49
Diack tea		5.49	1	\$5.49
	Tea is one of key			
	cultural items to			
	Chinese history.			
	By offering a			
	variety of tea such			
	as black, green,			
	etc., CLAID gives			
	an accurate			
	representation of			
	the diverse tea			
	offerings China			
	has to offer all to			
	the convenience			
	of UIUC students			
green tea	at home.	3.99	2	\$7.98
green tea	an accurate representation of the diverse tea offerings China has to offer all to the convenience of UIUC students	3.99	2	\$7.98

	Passion fruit syrup			
	will provide fruit			
	flavor to our teas			
	as part of our			
	cafe-style service.			
	Fruit flavored tea			
	dates back far in			
	Chinese history			
	and offering it			
	would give a more			
	accurate			
	representation of			
passion fruit syrup	Chinese tea.	16.75	1	\$16.75
, ,	Wintermelon			
	blocks can be			
	used in			
	wintermelon tea,			
	a drink common			
	in East Asia, often			
	seen as a street			
	food. This is a			
	lighter drink to			
	balance out the			
	heavier teas and			
	beverages we will			
	serve at the White			
wintermelon block	Day event.	25.88	1	\$25.88
WIITEHITEIOTI BIOCK	Ube lattes would	25.00		723.00
	provide the event			
	with a beverage			
	that is sweet and			
	savory, satisfying			
	the preferences of			
	any students who			
	may not find the			
	teas to be their			
	favorite. Ube has			
	been spreading			
	within and			
	outside of Asia, so			
	having it at the			
	_			
	event would give students another			
	beverage or food			
	where a global			
	spread is evident.			
uho latto	This gives the	9 00	2	\$26.07
ube latte	students a much	8.99	3	\$26.97

	richer experience			
	at the event.			
	Matcha also dates			
	far back in			
	Chinese history,			
	being used for			
	ceremonies and			
	daily			
	consumption. By			
	providing matcha at our CLAID			
	White Day event,			
	students will be			
	able to experience			
	this rich type of			
	tea that is now			
	commonplace in		_	4
matcha	Chinese culture.	9.99	2	\$19.98
	Adding milk to tea			
	has been seen in			
	China for ages,			
	but in recent			
	years it has			
	become			
	increasingly			
	common. Milk tea			
	has not only			
	become common			
	in China but also			
	the rest of the			
	world. Having milk			
	at this event			
	would allow			
	students to			
	experience a			
	more modern			
	take on Chinese			
	tea and try this			
milk	popular beverage.	4.89	5	\$24.45
	White Day is			
	traditionally a			
	holiday similar to			
	Valentines Day,			
	giving gifts to			
	loved ones and			
	expressing love			
	and care. To			
hot chocolate	compliment this	20.1	1	\$20.10
	1 John Parificult Cilis		_	+-0.20

	1	I	ı	ı
	and offset the			
	cold winter			
	weather, hot			
	cocoa would			
	provide a hearty			
	beverage option			
	with a sweetness			
	reflective of the			
	holiday of this			
	event. This also			
	provides an			
	option that			
	doesn't contain			
	tea.			
	All cutlery and			
	dishes including			
	forks, spoons,			
	cups, plates, and			
	bowls are			
	required to			
	ensure members			
	can cleanly and			
	efficiently enjoy			
	their desserts and			
	drinks. Straws and			
	napkins are being			
	provided to			
	-			
	prevent messes.			
	CLAID puts great			
	emphasis on			
	respecting all			
	spaces rented and			
	demonstrates this			
	through			
	maintaining an			
	organized			
	environment.			
	Again, we need			
	the maximum			
	quantity in case of			
	a large number of			
	attendees, and we			
	want to promote			
	the sharing of			
cups	foods.	11.99	3	\$35.97
	All cutlery and			
	dishes including			
plates	forks, spoons,	5.99	1	\$5.99

	1			T
	cups, plates, and			
	bowls are			
	required to			
	ensure members			
	can cleanly and			
	efficiently enjoy			
	their desserts and			
	drinks. Straws and			
	napkins are being			
	provided to			
	prevent messes.			
	CLAID puts great			
	emphasis on			
	respecting all			
	spaces rented and			
	demonstrates this			
	through			
	maintaining an			
	organized			
	environment.			
	Again, we need			
	the maximum			
	quantity in case of			
	a large number of			
	attendees, and we			
	want to promote			
	the sharing of			
	foods.			
	All cutlery and			
	dishes including			
	forks, spoons,			
	cups, plates, and			
	bowls are			
	required to			
	ensure members			
	can cleanly and			
	efficiently enjoy			
	their desserts and			
	drinks. Straws and			
	napkins are being			
	provided to			
	prevent messes.			
	CLAID puts great			
	emphasis on			
	respecting all			
	spaces rented and			
	demonstrates this			
bowls		3.99	1	\$3.99
DOMIS	through	J.77		J J.JJ

				1
	maintaining an			
	organized			
	environment.			
	Again, we need			
	the maximum			
	quantity in case of			
	a large number of			
	attendees, and we			
	want to promote			
	the sharing of			
	foods.			
	All cutlery and			
	dishes including			
	forks, spoons,			
	cups, plates, and			
	bowls are			
	required to			
	ensure members			
	can cleanly and			
	efficiently enjoy			
	their desserts and			
	drinks. Straws and			
	napkins are being			
	provided to			
	prevent messes.			
	CLAID puts great			
	emphasis on			
	respecting all			
	spaces rented and			
	demonstrates this			
	through			
	maintaining an			
	organized			
	environment.			
	Again, we need			
	the maximum			
	quantity in case of			
	a large number of			
	attendees, and we			
	want to promote			
	•			
	the sharing of foods.	2 00	2	\$7.98
		3.99	2	\$1.30
	All cutlery and			
	dishes including			
	forks, spoons,			
	cups, plates, and			
	bowls are			
spoons	required to	3.99	2	\$7.98

	T			1
	ensure members			
	can cleanly and			
	efficiently enjoy			
	their desserts and			
	drinks. Straws and			
	napkins are being			
	-			
	provided to			
	prevent messes.			
	CLAID puts great			
	emphasis on			
	respecting all			
	spaces rented and			
	demonstrates this			
	through			
	maintaining an			
	_			
	organized			
	environment.			
	Again, we need			
	the maximum			
	quantity in case of			
	a large number of			
	attendees, and we			
	want to promote			
	the sharing of			
	foods.			
	All cutlery and			
	-			
	dishes including			
	forks, spoons,			
	cups, plates, and			
	bowls are			
	required to			
	ensure members			
	can cleanly and			
	efficiently enjoy			
	their desserts and			
	drinks. Straws and			
	napkins are being			
	provided to			
	! ·			
	prevent messes.			
	CLAID puts great			
	emphasis on			
	respecting all			
	spaces rented and			
	demonstrates this			
	through			
	maintaining an			
	organized			
straws	environment.	2.99	1	\$2.99
311 avv 3	environinent.	۷.33	1 +	シ ム・フフ

	1			
	Again, we need			
	the maximum			
	quantity in case of			
	a large number of			
	attendees, and we			
	want to promote			
	the sharing of			
	foods.			
	All cutlery and			
	dishes including			
	forks, spoons,			
	cups, plates, and			
	bowls are			
	required to			
	ensure members			
	can cleanly and			
	efficiently enjoy			
	their desserts and			
	drinks. Straws and			
	napkins are being			
	provided to			
	prevent messes.			
	CLAID puts great			
	emphasis on			
	respecting all			
	spaces rented and			
	demonstrates this			
	through			
	_			
	maintaining an organized			
	environment.			
	Again, we need			
	the maximum			
	quantity in case of			
	a large number of			
	attendees, and we			
	want to promote			
	the sharing of	0.05	2	424.75
napkins	foods.	8.25	3	\$24.75
	The perfume			
	pouches will allow			
	each event guest			
	to make a pouch			
	with a scent of			
	their choice			
	(Chinese mug			
	wort, jasmine,			4
perfume pouch	lemongrass). The	15.99	10	\$159.90

	pouches will be			
	gifts people can			
	make to send to			
	family, friends, or			
	significant others.			
	The perfume			
	pouches will allow			
	each event guest			
	to make a pouch			
	with a scent of			
	their choice			
	(Chinese			
	mugwort,			
	jasmine,			
	lemongrass). The			
	pouches will be			
	gifts people can			
	make to send to			
Chinese mugwort	family, friends, or	21.95	2	\$43.90
Cililese mugwort	significant others.	21.95		\$45.90
	The perfume			
	pouches will allow			
	each event guest			
	to make a pouch			
	with a scent of			
	their choice			
	(Chinese			
	mugwort,			
	jasmine,			
	lemongrass). The			
	pouches will be			
	gifts people can			
	make to send to			
	family, friends, or			
Jasmine little white buds	significant others.	32.26	1	\$32.26
	The perfume			
	pouches will allow			
	each event guest			
	to make a pouch			
	with a scent of			
	their choice			
	(Chinese			
	mugwort,			
	jasmine,			
	lemongrass). The			
	pouches will be			
	gifts people can	6.45	_	¢25.00
Lemongrass	make to send to	6.45	4	\$25.80

	family, friends, or significant others.			
University Housing				
Advertisement	Advertisement	\$30.00	1	\$30.00

- App No. 127- La Unidad Latina, Lambda Upsilon Lambda, Fraternity Inc.
 - Description: Application requests for single use serving items, water, food and off-campus room rental for women's empowerment dinner
 - o *Reviewer's Notes:* 25% Funded because Program is off campus. Single use serving items, water, and food all pertain to the Program
 - Event Description: We, the brothers of La Unidad Latina, Lambda Upsilon Lambda, and Fraternity, Inc., plan to host our annual Women's Empowerment Dinner in Latzer Hall at the YMCA. As March approaches, we want to dedicate Women's History Month to hosting a dinner on March 7th, one day before International Women's Day. We are excited to dedicate this night as a form of acknowledgment for the contribution of women in the past and present. We plan to create a pleasant atmosphere for the attendees by playing light music and decorating the venue. We plan to invite speakers to share their thoughts on women's often overlooked contributions and how they have played a factor in women's empowerment. Food and beverages from a local restaurant will be provided for the attendees. This event will be open to everyone, and we will post it on our social media for people to RVSP for the event. This event's purpose is to celebrate women's achievements on an international spectrum and fight against gender norms
 - Funding type: ProgramsAmount Requested: \$2,264.09
 - Amount Allocated: \$537.72

Item Name	Item Description	Cost	Quantity	Total
	Pack of 2000			
Napkins	napkins	\$13.99	1.00	\$13.99
	Pack contains 120			
	forks, 120 spoons,			
Clear Cutlery Combo Pack	and 120 knives	\$14.98	1	\$14.98
	pack with 40			
Water Bottles	bottles	\$3.98	5	\$19.90
	pack with 70			
Plastic Plates	plastic plates	\$13.99	3	\$41.97
	Latzer Hall at the			
	YMCA room rental			
	for 3 hours + \$50			
Room Rental	service fees	\$425.00	1	\$425.00
	Chicken Fajitas			
	with Rice and			
	Beans for 175			
	people / \$9.99			
Food	each	\$9.99	175	\$1,748.25

• App No. 175- Hot Pot Basketball Association

- o *Description:* Application requests for registration fees, uniforms, basketball-related services items, Ubers, transportation, airplane tickets, and hotel funding
- Reviewer's Notes: Line item 2 supporting documentation was provided via email. Line item 8 categorizes under Not-Fundable Uniforms. Total Budget is \$10,357
- Connection to Mission: Our mission for the Hot Pot Basketball Association serves to provide Asian women basketball enthusiasts an opportunity to train, compete, and bond like a real basketball team. The requested items we listed in the funding proposal include essential equipment and the upcoming April tournament. The essential equipment like indoor and outdoor basketballs, pinnies, traction board, and others are important for our regular training and competition as a basketball team. Resistance bands and foam roller are part of the intensive training sessions and aid in muscle recovery from the training. Medical equipment ensures the health and safety of the team during training and competitions for any accidental incidents, which are quite common in any athletic activities. The April tournament is a tournament set up for Chinese women only, which gives us a chance to connect with the women's basketball team outside UIUC. The organization of the tournament, She Got Buckets, is a nonprofit organization and the fee is used to pay for the gym reservations and referees. Transportation and lodging are not included in the registration fee of the tournament, and we want to provide a financially free or an affordable opportunity for the team to take part in this event. The tournament provides our organization an opportunity to connect with other women basketball enthusiasts and test our intensive training in a real competition

Funding type: Services

Amount Requested: \$5,000.00Amount Allocated: \$3,917.01

Item Name	Item Description	Cost	Quantity	Total
	April 2024 College Women			
SheGotBuckets	Basketball Tournament			
Registration Fee	Registration Fee	\$600.00	1	\$600.00
	Top & bottom basketball			
UIUC Hot Pot Basketball	uniform needed for			
Uniform	competitions/tournaments	\$70.13	15	\$ 1,051.95
	Durable (non-worn-out			
	nor deformed) Size 6			
	Women's Basketball for			
Indoor Basketball	indoor courts	\$75.95	6	\$455.70
	Durable Size 6 Women's			
	Basketball that can also be			
	used for outdoor courts			
Indoor/Outdoor Basketball	(less occupied)	\$34.99	6	\$209.94
Franklin Sports Ball				
Maintenence Kit	Ball pump + 3 needles	\$6.49	2	\$12.98
Wilson NBA 6-Ball Mesh	Durable mesh bag to carry			
Carrying Bag	up to 6 basketballs	\$11.99	3	\$35.97
HRLORKC Scoreboard	Simple Scoreboard			
Score Keeper	displaying 4 digits total	\$9.99	1	\$9.99

	Red and Blue Nylon Mesh			
Get Out! Pinnies Adult	Jerseys for practice			
Sizes Red and Blue 12 Pack	games/scrimmages	\$31.04	1	\$31.04
	Removes dirt and oil from			
	basketball shoes.			
	Beneficial before			
StepNGrip Basketball	competitions. 30 sheets			
Traction Board	total.	\$98.99	1	\$98.99
	Medium Density Deep			
	Tissue Massager for			
	Muscle Massage and			
	Myofascial Trigger Point	444.00		444.00
Foam Roller	Release	\$44.99	1	\$44.99
Danistan sa Danida	Exercise Workout Bands	¢20.00	4	¢20.00
Resistance Bands	for Working Out	\$29.99	1	\$29.99
finat aid lit	Purpose Portable Compact	624.47	1	\$24.47
first aid kit	First Aid Kit	\$24.47	1	\$24.47
	Sports Recovery & Support Tape for Joint & Muscle			
	Pain, Latex Free Athletic			
Kinosiology Tano	Body Tape	\$22.59	2	\$45.18
Kinesiology Tape	Adhesive Sport Pre-Wrap	\$22.33	2	343.18
Non-Adhesive Sport Pre-	Tape for Athletic Ankles			
Wrap Tape	Wrist Knees	\$31.99	1	\$31.99
	Strong Adhesive Sports	7 0 2.00		7 - 1.00
	Tape in Total, NO Sticky			
White Athletic Tape	Residue Easy Tear,	\$11.99	2	\$23.98
	Flexible Soft Ice Packs for	,		
	Knee Shoulder Head Neck			
	Ankle Wrist Elbow Arm			
	Foot Headaches Surgery			
Ice Packs for Injuries	(Regular) Blue	\$23.99	1	\$23.99
Uber	Travel	\$30.00	15	\$450.00
Transportation to airport				
ORD	Travel	\$43.00	15	\$645.00
Transportation from				
airport ORD	Travel	\$43.00	15	\$645.00
airplane ticket ORD to DCA	Travel	\$113.00	15	\$1,695.00
airplane ticket DCA to				
ORD	Travel	\$105.00	15	\$1,575.00
Hotel 3 nights	Hotel for April tournament	\$2,616.00	1	\$2,616.00

• App No. 185- Circassian Benevolent Student Association

- o Description: Application requests for Rooms at CIF and travel and car rentals for judges
- o *Reviewer's Notes:* Line item 6 does not qualify for funding as it is a Not-Fundable Travel expense: Vehicle Rental

 Event Description: CBSA will create a forum where Circassian issues can be discussed and solutions can be formed. We will be hosting a Midwest Arabic Debate Championship. Our club will be working with the Arabic department of University of Illinois at Urbana-Champaign and the Qatar Debate program to facilitate a platform to engage in open and spirited discussions on crucial real-world topics, including politics, science, and ethics. Driven by the goals and mission of the Circassian Benevolent Student Association, our event seeks to establish a culturally enriched environment that actively promotes education. By doing so, we aspire to create a forum where issues surrounding cultural diversity and inclusivity, including the exploration of Circassian history and minority cultures through some debate motions. The decision to conduct this event in the Arabic language holds great significance, especially considering the majority of the Circassian community's population coming from the Middle East region. This linguistic choice not only aligns with the community's preferences but also ensures that the discussions are authentic and directly relevant to their experiences. This event will bring together top debate performers from universities across the Midwest, including the University of Chicago, the University of Indiana, Northwestern, and many more. By collaborating with these prestigious institutions, we aim to empower and inspire critical thinking. We will host around 10 highly competitive team performers, who will showcase their debating skills and compete for the opportunity to advance to the national level. To have this event we must have the debate performers and judges. These rounds of debates will be open to the public from UIUC to watch and experience this event without costs

Funding type: Programs
 Amount Requested: \$4,975.00
 Amount Allocated: \$1,223.00

Name	Item Description	Cost	Quantity	Total
	Needed on			
Tier 1 Rooms at CIF (April	Saturday (April			
20th)	20th) for 9 hrs	\$270	5.00	1,350.00
	Needed on			
Tier 3 Rooms at CIF (April	Saturday (April			
20th)	20th) for 9 hrs	\$950	1.00	950.00
	Needed on			
Tier 1 Rooms at CIF (April	Sunday (April			
21st)	21st) for 5 hrs	\$150	2.00	300
	Needed on			
Tier 3 Rooms at CIF (April	Sunday (April			
21st)	21st) for 5 hrs	\$450	2.00	1100
	Needed for			
	transportation to			
	host Qatar			
	qualified judges			
Judges Travel - gas	for debate rounds	\$25	15.00	\$375
	Needed for			
	transportation to			
	host Qatar			
	qualified judges			
Judges Travel car rental	for debate rounds	\$60	15.00	\$900

• App No. 62- The Xtension Chords a Capella

- o Description: Funding for performance space/performance services. 10% non-Illinois
- o *Reviewer's Notes:* The supporting docs include a receipt from a different acapella group and the sample receipt is one from 2022
- o *Event Description:* This is our annual spring show that we host where we perform all the music that we have been working on all semesters including our competitive set
- Funding type: ProgramsAmount Requested: \$1,343.00
- o *Amount Allocated:* \$1,208.70

Item Name	Item Description	Cost	Quantity	Total
	This is the Sound			
	System and			
	Microphone that			
	we will be using			
	to perform and			
	also for our MC to			
	use for the			
	duration of the			
	concert. This will			
	be provided by			
	MKYA who will			
	help us set up and			
Microphone and Sound	run the system as			
System Rental	well	\$500.00	1.00	\$500.00
	We will be renting			
	the stage at			
	Gregory Hall for			
	our performance.			
	We will be renting			
	it out for 6 hours			
	from 4pm to			
	10pm on			
	November 10th,			
	2023, at a rate of			
Lincoln Hall Space Rental	\$65/hour.	\$85.00	6	\$510.00
	This is a onetime			
	fee for the			
	standard lighting			
	package that			
	includes stage			
	lighting and			
	presentation			
	abilities for the			
	venue. This allows			
	us to make a			
Lincoln Hall Lighting	presentation			
Package	before the show	\$75.00	1	\$75.00

	This a labor cost to help us run the lights for the concerts to make			
Lincoln Hall Lighting	sure everything			
Technician	runs smoothly	\$25.00	6	\$150.00
	This is a labor cost			
	to open and close			
	the facility for us			
	to run the			
	concert. This is at			
	an hourly rate of			
Lincoln Hall Labor Fee	18	\$18.00	6	\$108.00

Vote on Fund as Amended Applications:

Troy Kowalski motions to approve applications. David Bein seconds. Vote of 10-0-0

Discuss Applications:

Арр	RSO Name	Funding	Amount	Amount	Vote
Number		Туре	Requested	Allocated	
24	Illini Women's Waterpolo Club	Services	5000	5000	10-0-0
81	Illinois Student Chapter of the	Services	900	900	10-0-0
	American Association of Equine				
	Practitioners				
133	Kappa Alpha Pi	Services	2133	2133	10-0-0
51	Turkish Student Association	Programs	518.69	0.00	10-0-0
53	Queer Library Alliance	Services	617.43	443.96	9-1-0
60	GRADUATE ORGANIZATION FOR BY &	Programs	240.52	0	8-0-2
	OF LATINE STUDENTS				
196	Illinois Rip Chords	Programs	1971.3	1584.45	10-0-0
96	Mongolian Cultural Organization	Programs	229	0	10-0-0
144	Illini Trap and Skeet Club	Services	696	696	10-0-0
156	Illini Forensics	Services	725.52	725.52	10-0-0
172	Minorities in Animal Science	Services	540	0	10-0-0
190	Black Queer Collective	Services	1878.6	89.23	9-1-0
104	Health of the Homeless	Programs	3505	0	9-0-1
139	African Cultural Organization	Programs	765.66	722.50	10-0-0
150	Turning Point USA at the University of	Programs	719	624.60	9-1-0
	Illinois (TPUSA at UIUC)				
9	Illinois Men's Rowing Club	Services	2610	2610	9-0-0
85	Illinois Coalition Assisting	Programs	1000	232.61	10-0-0
	Undocumented Students' Education				
157	Arab Student Association	Programs	4849	2182.05	10-0-0
72	Illinois Coalition Assisting	Services	336	0	10-0-0
	Undocumented Students' Education				

100	International Film Club at UIUC	Programs	750	750	10-0-0
195	Luso-Brazilian Association	Services	388.5	0	10-0-0
89	Illinois Space Society	Programs	358.54	0.00	6-2-2
154	Medlaunch	Services	4300.46	0.00	10-0-0
159	Illini Electric Motorsports	Programs	4940	4791.80	10-0-0
170	UIUC Circle K International (CKI)	Programs	272.3	272.30	10-0-0
161	Dance2XS UIUC	Services	2935	1990	10-0-0
82	Cross Country Club	Services	1231	0	9-0-1
101	STATISTICS DOCTORAL STUDENT	Programs	712.66	712.66	8-0-2
	ASSOCIATION				
70	Minority Association of Pre-Medical	Services	5000	5000	10-0-0
	Students				

• App No. 24- Illini Women's Waterpolo Club

- Description: Women's Waterpolo Club is requesting funding for travel and lodging for upcoming competitions, as well as space rental (ARC pool) for practices
- Connection to Mission: The purpose of the Women's Waterpolo club is to compete and have fun. We do this by traveling to other big tens, in which we carpool and stay in nearby hotels.
 We also host our own tournament at the beginning of the season in which we will be renting out space in the ARC
- Reviewer's Notes: They submitted adequate documentation for the budget sheet, but the dates on the supporting docs would be considered out of the funding period (if it is the same timeline as their evidence, but they did not specify dates for when they plan on traveling and staying in hotels for Spring 2024. They also have an ample amount of additional funding. They submitted documentation for referees' lodging and food but did not include that on their budget sheet. There are just too many discrepancies and due to them having the funding amount they are requesting, I recommend that SORF does not fund
- Funding type: Services
- Amount Requested: \$5,000.00
- o *Amount Allocated*: \$5,000.00
- Vote: Arianna Agramonte Holterman motions to approve application at standard after determining that the supporting documents were past documents used to estimate cost. Destiny Gallegos seconds. Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total
ARC pool	practice time	\$500.00	1 semester	\$500.00
ARC pool	home tournament	\$2,451.00	1 tournament	\$2,451.00
	travel to and from			
gas	big ten	\$1,257.00	4 tourney / 5 cars	\$1,257.00
	lodging when at			
	big ten		100 per room/ 4	
hotel rooms	tournaments	\$2,028.00	tourney	\$2,028.00
CWPA fees	1 springtime fee	\$2,750.00	1 semester	\$2,750.00

App No. 81- Illinois Student Chapter of the American Association of Equine Practitioners

- Description: Illinois Student Chapter of the American Association of Equine Practitioners is asking for funding for an event where they can network with equine veterinarians, AAEP members from other schools, and apply their clinical knowledge in Kentucky
- Connection to Mission: The Illinois Student Chapter of the American Association of Equine Practitioners is committed to providing equine medicine-focused learning opportunities to our members. This large event is an excellent networking and learning experience to those who get to attend
- o Reviewer's Notes: Application should be a Programs application

Funding type: ServicesAmount Requested: \$900.00Amount Allocated: \$900.00

 Vote: Arianna Agramonte Holterman motions to fund application at standard due to being travel off campus. Anika Chakraborti seconds. Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total
Gas	Travel to	.58	500	90
	Conference			
Lodging	Hotel at	500	2	1000
	Conference			

App No. 133- Kappa Alpha Pi

- Description: Application requests traveling fee to Loyola University School of Law
- o Reviewer's Notes: Item 1 violates Service funding standard: Item maximum allocation as "SORF Board may fund a maximum of \$999.99 for each item requested
- Connection to Mission: This will not only further our ability to unite students and teachers of the law, as listed in our purpose, but also expand the geographical reach of this. This funding for a visit to another law school in one of the most diverse cities in the country would also relate to our goal to promote intellectual and cultural advancement. We aim to inspire and encourage our members to embody the ideals of liberty and equal justice under law, which begins with the exploration of different law schools
- Funding type: Services

Amount Requested: \$2,133.00Amount Allocated: \$2,133.00

Vote: Anika Chakraborti motions to fund application at standard. Matthew Pruyn seconds.
 Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total
	56 Passenger			
	Coach rental for a			
	round trip to			
Peoria Charter Passenger	Loyola University			
Coach Round Trip	School of Law	\$2,133.00	1.00	\$2,133.00

• App No. 51- Turkish Student Association

- Description: Turkish Student Association is requesting funds to host a Turkiye's sovereignty barbeque
- Reviewer's Notes: The food items listed do not appear to align with food from Turkish culture

- Event Description: To celebrate Turkiye's sovereignty, we will host a barbeque open to all students under the Turkish Student Association's Name. This barbecue will have food from Turkish Culture
- Funding type: ProgramsAmount Requested: \$518.69Amount Allocated: \$112.25
- Vote: Anika Chakraborti motions to fund as amended (fund line items 1 and zero fund all other lines items due to not relating to the orgs mission). David Bein seconds. Vote of 10-0-0
- o Administrative Adjustment: \$0.00
- o *Administrative Rationale*: Lacking description of how the program relates to the mission of the student organization.

Item Name	Item Description	Cost	Quantity	Total
Halal Zabiha Beef Sausage,				
1 LB (Cumhuriyet Sucuk)	Sucuk Brand	\$22.45	5	\$112.25
Gourmet Kitchn Burgers				
Cooked Angus Choice Beef				
Steak Burgers, Quick'n Eat	Pre-cooked			
Fully	Hamburger Meat	\$128.95	1	\$128.95
Ball Park Hamburger Buns				
8ct 2-pack	Hamburger Buns	\$21.83	4	\$87.32
Tillamook Sharp Cheddar				
Thick Slices, 12 Ounce	Cheese	\$23.98	2	\$47.96
Heinz tomato Ketchup	Ketchup	\$3.99	1	\$3.99
Heinz tomato Mustard	Mustard	\$2.36	1	\$2.36
Goldfish Crackers Variety				
Pack	Snacks	\$12.86	1	\$12.86
Can Coke 35 packx2	Drinks	\$61.50	1	\$61.50
Can Sprite 35 packx2	Drinks	\$61.50	1	\$61.50

• App No. 53- Queer Library Alliance

- Description: Application requests traveling and ticket fees for tours of two Chicago LGBTQ+ libraries and materials for building a bookshelf
- Reviewer's Notes: Incorrect application type. Line item 1 gas should be calculated in 58.5 cents per mile; line item 3-9 is unrelated to the program
- Connection to Mission: The Hart Library is a significant historical collection for queer people worldwide. Attendees will go on a tour of the library and archives. They will have the opportunity to learn about the many significant LGBTQ2+ events happened in Chicago; in fact, it's the location of the first group advocating for queer rights in America. Attendees will learn what goes on behind the scenes at libraries and what it's like to work at such a prestigious library. The Leather Museum and archives has been a source for LGBTQ research since they opened. The Archives contain books and materials regarding dozens of LGBTQ groups, clubs, and establishments. Attendees will go on a tour. Librarians, archivists, and museum professionals all work closely in the Information Sciences field. Seeing these professionals at work will benefit attendees curious about the differences in the professions and open them to new possibilities for their future
- Funding type: Services
- Amount Requested: \$617.43

- o Amount Allocated: \$443.96
- Vote: Arianna Agramonte Holterman motions to zero fund 4-9 due to needing to be a program, zero fund line item 3 due to being food, and approve at standard line items 1 and 2. Hayley Hoppock seconds. Vote of 9-1-0

Item Name	Item Description	Cost	Quantity	Total
	irs gas calculator		,	
	says 67 cents per			
	mile (147 one			
Gas money for:	way; 294 miles for			
Gerber/Hart library and	round trip one car			
The Leather archives (From	we will need two			
Champaign to Hart Library:	cars for our ten			
2 hr 27 min (149 mi))	people)	\$196.98	2.00	\$393.96
Fee for visitation of Leather	Student rate for			
archives	ticket	\$5.00	10	\$50.00
	Lunch for day			
Meal for day trip to	trip/ten dollars a			
libraries/archives	person	\$ 10.00	10	\$100.00
	Creating			
	bookshelf and			
	asking student			
	members and			
	Students to paint			
Charity Bookshelf Painting	it for charitable			
for United Pride Center	cause			\$-
	2-in x 10-in x 12-ft			
	Southern Yellow			
	Pine Kiln-dried			
Pine boards	Lumber	\$11.58	1	\$11.58
	Hillman Wood			
	Screws #10 x 2",			
	Flat Phillips, Zinc			
	Plated, Steel, Pack			
Screws	of 7	\$1.24	2	\$2.48
	Krylon Fusion All-			
	In-One Bright			
	White Satin 12 oz			
	Spray Paint, Multi-			
White basecoat	Surface	\$6.98	1	\$6.98
	Talens Art			
	Creation Acrylic			
	Set, 75ml, 12-			
Acrylic Detail Paints	Colors	\$30.56	1	\$30.56
	Clear Acrylic			
	Sealer Aerosol			
Sealant	Spray 12oz-Matte	\$21.87	1	\$21.87

• App No. 60- Graduate Organization for by & of Latine Students

o *Description*: Food and drinks for student panel event

o *Reviewer's Notes*: Line items 1-3 are non-essential drinks. No supporting documentation for line items 4-7. As such, I recommend that SORF denies the application

 Event Description: GOLS will host a Graduate Student Panel at La Casa Cultural Latina welcoming undergraduate students to ask questions about the graduate school application process, find out about mentorship opportunities, and create undergraduate-graduate connections for professional networking

Funding type: Programs
 Amount Requested: \$240.52
 Amount Allocated: \$0.00

Vote: David Bein motions to deny application due to poor supporting documentation.
 Matthew Pruyn seconds. Vote of 8-0-2

Item Description	Link	Qty	Cost	Cost Total
Great Value Purified Drinking Water, 16.9 fl oz Bottles, 40 Count	https://www.walmart.com/ip/seort/992524020	1	\$ 5.36	\$5.36
Sprite Lemon Lime Soda Pop, 12 fl oz, 24 Pack Cans	https://www.walmart.com/ip/seort/10535226	1	\$12.58	\$12.58
Coca-Cola Soda Pop, 12 fl oz, 24 Pack Cans	https://www.walmart.com/ip/seort/10535216	1	\$12.58	\$12.58
Prepared Tortilla + Chicken Combo, tray	(From vendor)	1	\$120.00	\$120.00
Prepared Rice, 1/2 size tray	(From vendor)	1	\$30.00	\$30.00
Prepared Beans, 1/2 size tray	(From vendor)	1	\$30.00	\$30.00
Tortilla chips, tray	(From vendor)	1	\$30.00	\$30.00

• App No. 196- Illinois Rip Chords

- o Description: Acapella organization is requesting funds for on campus showcase
- o Reviewer's Notes: Line items 1-3 lack adequate supporting documentation
- Event Description: The Illinois Rip Chords Spring Show is a performance of a cappella music that the Illinois Rip Chords have been working on throughout the Fall '23 and Spring '24 semesters. As the only competitive treble a cappella group on campus, we are able to showcase our distinct style and artistry as singers and performers through our Spring Show. It is the final and largest display of the hard work our members put in to learn and perform all of our music, and it is one of the biggest chances we get to show our talent to a large audience. This show has occurred every year since the Rip Chords were founded in 1992, and it is a tradition to always have it on Mom's Weekend. This show will also be free to attend for all, and it will be in Foellinger Auditorium
- o Funding type: Programs
- Amount Requested: \$1,971.30
- o Amount Allocated: \$1,584.45
- Vote: David Bein motions to fund line item 1 and zero fund line items 2 and 3 because they should have been a services application and reduce funding by 10% due to non-Illinois student attendees.. Hayley Hoppock seconds. Vote of 10-0-0

Item Name Item De	scription Cost	Quantity	Total	
-------------------	----------------	----------	-------	--

				7
	This is a Program			
	which has no			
	financial costs for			
	Illinois students			
	and is on campus.			
	The Illinois Rip			
	Chords Spring			
	Show is a			
	performance of a			
	cappella music			
	that the Illinois			
	Rip Chords have			
	been working on			
	throughout the			
	Fall '23 and Spring			
	'24 semesters. As			
	the only			
	competitive treble			
	a cappella group			
	on campus, we			
	are able to			
	showcase our			
	distinct style and			
	artistry as singers			
	and performers			
	through our			
	Spring Show. It is			
	the final and			
	largest display of			
	the hard work our			
	members put in to			
	-			
	all of our music,			
	and it is one of			
	the biggest			
	show our talent to			
	a large audience.			
	This show has			
	occurred every			
	year since the Rip			
	Chords were			
	founded in 1992,			
	and it is a			
	tradition to			
Illinois Rip Chords Spring	, Mom's Weekend.			
Show (Program)	This show will also	\$1,760.50	1.00	\$1,760.50
Illinois Rip Chords Spring	Spring Show. It is the final and largest display of the hard work our members put in to learn and perform all of our music, and it is one of the biggest chances we get to show our talent to a large audience. This show has occurred every year since the Rip Chords were founded in 1992, and it is a tradition to always have it on Mom's Weekend.	\$1.760.50	1.00	\$1,760,50

	Ι	Г	Г	T
	be free to attend			
	for all, and it will			
	be in Foellinger			
	Auditorium. This			
	show will occur at			
	7:00 PM in			
	Foellinger			
	Auditorium on			
	4/13/2024, and it			
	will be free for			
	everyone who is			
	attending. This			
	makes it very			
	accessible to all			
	students, and			
	anyone who			
	enjoys listening to			
	a cappella and to			
	music in general is			
	very welcome to			
	watch the show.			
	This is under the			
	Travel/Lodging			
	category. Every			
	year, the Rip			
	Chords go on			
	Winter Tours,			
	which occur for 5			
	days during the			
	last week of			
	winter break and			
	is something we			
	do to encourage			
	high schoolers in			
	their choir			
	programs to			
	attend the			
	University of			
	Illinois and get			
	involved in the a			
	cappella			
	community. We			
	went on our			
	Winter Tours for			
	this school year			
	just before school			
Winter Tours Gas Money	started again, and			
(Service)	we took 3 cars.	\$53.60	3	\$160.80
(30.1.00)	THE COOK O COIS.	755.55	<u>. ~ </u>	7-00.00

	We went 80 miles			
	total, due to going			
	from suburb to			
	suburb. According			
	to IRS gas			
	calculations (67			
	cents per mile),			
	we will need			
	\$53.60 per car to			
	accomodate the			
	costs, which will			
	be \$160.80 total.			
	This is under the			
	Essential			
	Equipment			
	category. The Rip			
	Chords need			
	printed music			
	during rehearsal			
	in order to write			
	notes and learn			
	music quickly so			
	that we are			
	adequately			
	prepared for all of			
	our			
	performances. We			
	will need to print			
	500 pages this			
	semester in total,			
	and each page is			
Printing of Music (Service)	10 cents.	\$0.10	500	\$50.00

• App No. 96- Mongolian Cultural Organization

- Description: This RSO is requesting funding for food and campsite reservations for their annual camping trip
- o Reviewer's Notes: Line items 3-31 violate Program Standards: non-essential food. The campsite reservation cost/information is not provided in the supporting documentation
- Event Description: MCO will be hosting our annual camping trip to Walnut Pointe State Park this spring. This camping trip is an overnight trip for students to experience nature while also celebrating Mongolian culture by sharing food, playing games, and telling stories. The camping trip involves a blend of American camping activities like grilling hot dogs and making s'mores, with Mongolian culture, which includes Mongolian food and Mongolian songs and games. It is free for all attendees, including non-members (as long as they register in time for available slots). The organization will provide transportation to and from the campsite and all food and camp essentials, such as tents. This will be the 4th year in a row that we've organized the event and we're looking forward to it greatly. This camping trip is an essential part of the experience for those in MCO because it serves as a way for students

to connect with Mongolian culture while still interacting with those from the UIUC community

Funding type: ProgramsAmount Requested: \$229.00Amount Allocated: \$0.00

 Vote: David Bein motions to deny application due to not being relevant to mission. Matthew Pruyn seconds. Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total
White Bread		\$1.42	2.00	\$2.84
Hot Dog Buns		\$2.94	4	\$11.76
Jif Peanut Butter		\$3.12	1	\$3.12
Marshmallows		\$2.48	1	\$2.48
Sprite 12pk		\$7.26	1	\$7.26
Coke 12pk		\$7.26	1	\$7.26
Water 40ct		\$5.36	2	\$10.72
Hershey's Chocolate Bar		\$2.98	1	\$2.98
American Cheese		\$2.48	2	\$4.96
Honey Ham		\$4.78	2	\$9.56
Roma Tomatoes		\$0.21	3	\$0.63
Cucumber		\$0.68	1	\$0.68
Corn		\$3.48	3	\$10.44
Onion 3lb		\$2.94	1	\$2.94
Garlic		\$ 0.72	1	\$0.72
Romaine		\$2.74	1	\$2.74
Flour 5lb		\$2.43	1	\$2.43
Paper Plates		\$5.54	1	\$5.54
Plastic Utensils		\$ 5.16	1	\$ 5.16
Mayo		\$3.34	1	\$3.34
Turkey Breast		\$ 5.98	2	\$11.96
Mustard		\$0.98	1	\$0.98
Hot Dogs		\$7.98	2	\$15.96
Ground Beef		\$6.24	3	\$18.72
Grape Jelly		\$2.67	1	\$2.67
Dill Pickles		\$2.73	1	\$2.73
Ketchup		\$4.76	1	\$4.76
Skewers		\$ 0.97	1	\$0.97
Graham Crackers		\$ 5.84	1	\$5.84
Campsite Reservation		\$66.44	1	\$66.44

• App No. 144- Illini Trap and Skeet Club

- Description: The Illini Trap and Skeet club is requesting funds for clay targets to be used by their members and help reduce membership fees
- Reviewer's Notes: They only list one line item, with a supporting document being an email thread listing the price. There are no links to a website and I'm unsure what SORF qualifies as an "official estimate". Should this be deemed as supportive, I would recommend SORF funds

- Connection to Mission: The requested items will allow us to make the Olympic sports of trap
 and skeet more accessible by reducing the cost barrier for anyone one interested in trying
 out the sport(s) to those practicing for national and regional intercollegiate competitions.
 Our request would allow us to reduce our prices for UIUC students for about 1 month
- Funding type: ServicesAmount Requested: \$696.00Amount Allocated: \$696.00
- Vote: Matthew Pruyn motions to fund application at standard. David Bein seconds. Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total
	Clay Targets (25			
	total/round/participant)			
	are necessary			
	consumables in each			
	round of trap and/or			
	skeet for each			
Clay Targets	participant	\$4.00	174.00	\$696.00

• App No. 156- Illini Forensics

- o Description: Org is requesting funds for hotel fees to go to a speech event in Chicago
- o Reviewer's Notes: Line item 1 should be discussed by the board
- Connection to Mission: The requested items are necessary for our participation at the National Speech Championship tournament. Participation at this tournament provides a major opportunity for students to compete in Speech and Debate events
- Funding type: Services
- o Amount Requested: \$725.52
- Amount Allocated: \$725.52
- Vote: Arianna Agramonte Holterman motions to fund application at standard. Anika Chakraborti seconds. Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total
	The 2020 National			
	Speech			
	Championship will			
	be held March 23-			
	24 at the			
	University of			
	Illinois Chicago.			
	We plan to send 6			
	competitors to			
	the tournament.			
	As per our			
	supporting			
	documents, we			
	plan to stay in two			
	rooms for two			
National Speech	nights at the			
Championship Hotel	Holiday Inn and	\$725.52	1.00	\$725.52

Suites Chicago, for a total cost of		
\$725.52.		

• App No. 172- Minorities in Animal Science

- o Description: Minorities in Animal Science is requesting funding for materials for their general meetings to make sure that their RSO can succeed and operate
- Reviewer's Notes: Should this application be a programs or services application? It is asking
 for money to help the RSO succeed and operate (services) but is requesting items for their
 general meetings and advertising material (programs)
- Connection to Mission: This request will support Minorities in Animal Science (MAS) by providing a designated space for regular collaboration and hosting our general meetings. This support is vital for achieving our organization's goals, providing us with the necessary resources to ensure the success and visibility of our student org
- Funding type: Services
 Amount Requested: \$540.00
 Amount Allocated: \$0.00
- Vote: Anika Chakraborti motions to deny due to incorrect application type. Matthew Pruyn seconds. Vote of 10-0-0
- o Administrative Rationale: General Body meetings are not fundable.

Item Name	Item Description	Cost	Quantity	Total
	Bulletin board			
Letters and Flyers	materials	\$0.40	100.00	\$40.00
	Bulletin board			
Decorations	materials	\$75.00	1	\$75.00
	Bulletin board			
Backgrounds	materials	\$45.00	2	\$90.00
Snacks	General meetings	\$40.00	8	\$320.00
	General meeting			
Business Cards	material	\$ 0.15	100	\$15.00

• App No. 190- Black Queer Collective

- Description: Services application requests for food, paint, paint brushes, tote bags, bowling admission, single use serving items, water, and board games for social events
- Reviewer's Notes: Line items 1-10, 16, 17, 18, and 22 cannot be funded as this would need to have been through a Program's application under Programming Supplies. Line items 11 and 14 constitute as Give-Aways
- Connection to Mission: We have meetings and socials that bring all members of Black Queer Collective closer together in the community. The social events we have this spring are called ""Snack & Social"" where we have a social activity event every third Monday of the month. The social for March will be bowling and the snack will be pizza and wings with nonalcoholic beverages. The social for April will be an end of the year celebration event where we will be having blank canvases and tote bags for all members to paint on; we will also have board games such as uno and monopoly. The snack will be catered tacos and ice cream with nonalcoholic beverages. We are also requesting snacks for our Monday discussion meetings where we discuss Black and Queer related topics. These meetings are called ""Delicious Discussions"". The snacks will be chips, cookies, gummy bears, and non-alcoholic beverages.

The activities relate to our mission of building community through discussions and social events because being provided with the resources to do those type of events will create further dialogue on deeper topics and bring students who attend Black Queer Collective events closer together. The snacks relate to our mission of creating community through events because we are providing resources to make those who attend our events more welcomed and comfortable. It (being Snack & Social and Delicious Discussion) is also in the name implying that snacks will be provided, therefore, snacks are necessary for our events/meetings. The items being requested are for all members, not just the executive board, Black Queer Collective is an inclusive space

Funding type: Services

Amount Requested: \$1,878.60 Amount Allocated: \$89.23

 Vote: David Bein motions to fund line items 12, 19, 20, 21 fund and deny rest of application due to incorrect application type. Matthew Pruyn seconds. Vote of 9-1-0

Item Name	Item Description	Cost	Quantity	Total
Frito Lay Snacks Flavor	Variety of chips in			
₩ix	a box (count: 42)	\$19.48	2.00	\$38.96
	Variety of spicy			
Frito Lay Flamin' Hot Mix	chips in a box			
Variety Pack	(count 18)	\$9.88	3	\$29.64
Sprite Lemon Lime Soda	24 cans of Sprite			
Pop	soda in a pack	\$26.99	1	\$26.99
	24 cans of Pepsi			
Pepsi Soda Pop	soda in a pack	\$19.78	1	\$19.78
	24 cans of crush			
Crush Orange Soda	soda in a pack	\$12.98	1	\$12.98
OREO mini Mix Sandwich	30 packs of			
Cookies Variety Pack	cookies in a box	\$ 11.98	2	\$23.96
	100 mini packs of			
	Haribo gummy			
Haribo Gummy Bears	bears in a box	\$39.99	1	\$39.99
	Extra large pizzas			
Pizza	with toppings	\$28.53	4	\$114.12
	Different flavors			
	chicken wings			
Chicken Wings	(count: 12)	\$17.99	3	\$53.97
	Maize tacos			
	catering bundle			
Maize Tacos Catering	for 34 people	\$946.00	1	\$946.00
Areligious Canvases for	Blank Canvases			
Painting	(count: 12)	\$15.99	4	\$63.96
Soucolor Acrylic Paint	Paint brush set			
Brushes Set	(count:24)	\$8.49	3	\$25.47
	Multicolor acrylic			
Caliaert Acrylic Paint	paint set	\$41.99	1	\$41.99
Simpli Magic Canvas Tote	Simple tote bags			_
Bags	(count 12)	\$24.99	3	\$74.97

	Bowling admission and			
	rental for social			
Bowling admission	activity 6	\$ 6.00	40	\$240.00
20 mm. Baamission	Tubs of ice cream	70.00		ψ <u>-</u> 10.00
	with a variety of			
Ice Cream	flavors	\$ 6.58	4	\$26.32
	disposable bowls			
Disposable Bowls	(count 70)	\$7.16	1	\$7.16
	Bottled water			
Bottled Water	(count 40)	\$5.36	5	\$26.80
Monopoly	Board game	\$19.92	1	\$19.92
Mattel UNO	Card game	\$8.95	3	\$26.85
Guess Who?	Board game	\$16.99	1	\$16.99
	spoons (count			
Disposable spoons	100)	\$4.78	1	\$4.78

• App No. 104- **Health of the Homeless**

- Description: Requesting funding for a charitable event to give away basic health necessities to homeless people. Poor supporting documentation
- Reviewer's Notes: Fund line item 1. Line items 2,3, and 4 are not related to the stated purpose of the program. Line items 4,15-23 have no supporting documentation. Line items 6 and 7 have poor supporting documentation. Line items 8-14 should be funded as amended. If funded as amended, fund at 50% \$418.25
- Event Description: We need items to be able to pack health care kits for the needy and underprivileged and to fund our organization's fundraising events
- Funding type: ProgramsAmount Requested: \$3,505.00Amount Allocated: \$0.00
- Vote: Arianna Agramonte Holterman motions to deny due to poor supporting documentation. Matthew Pruyn seconds. Vote of 9-0-1

Item	Item Description	Quantity	Price	Total
Ice cream		3	\$27	\$81
bowling		30	\$312	\$9,360
School supplies		N/A	\$200	\$200
Sandwiches		30	\$90	\$2,700
Thanksgiving box		50	\$600	\$30,000
Hand warmers		50	\$ 105	\$ 5,250
gauges		50	\$ 331.50	\$16,575
Bandaids		50	\$400	\$20,000
Hand sanitizer		50	\$100	\$ 5,000
Masks		50	\$110	\$ 5,500
ointment		50	\$250	\$12,500
Rubbing alcohol		50	\$150	\$7,500
Peroxide		50	\$60	\$3,000
Cotton swabs		50	\$60	\$3,000
medicines		50	\$360	\$18,000

Pickles	2	\$15	\$30	
peppers	1	\$3	\$3	
ground beef	2	\$15	\$30	
Frooties	2	\$20	\$40	
Hot flamins	2	\$40	\$80	
cups	2	\$8	\$16	
disposable trays	2	\$40	\$80	
snowcone syrup	2	\$20	\$40	

• App No. 139- African Cultural Organization

- Description: African Cultural organization is requesting funds to host a cultural show where various activities will take place. They list as free to students, on campus, with 1% non-Illinois attendees
- Reviewer's Notes: They provide adequate documentation for space rental. Line items 2-5 are links for fabrics, but one of the fabrics looks like it was placed on the list twice with their totals differentiating. Line items 4-5 are requesting an amount different from the Amazon price listed, it is unclear how many orders of the fabric they are looking to obtain. Line 6 is just a link to Walmart's website, unclear what they are requesting it for. Due to the lack of documentation and the frequency of it, I feel as though SORF can only fund a percentage of their requests, ie the rental space. Other items to be discussed
- Event Description: ACA's Cultural Show is a variety show with collective performances of modeling, dancing, and acting all inspired from African culture. The show is a creative way for African students on campus to share their culture

Funding type: Programs
 Amount Requested: \$765.66
 Amount Allocated: \$721.71

 Vote: Arianna Agramonte Holterman motion to fund all items except line item 6 due to poor supporting documentation. Matthew Pruyn seconds. Vote of 10-0-0

	0			
Item Name	Item Description	Cost	Quantity	Total
Space (Illini Union)		338		338
Actors Fabric		115		115
props/ costume		46		46
Models Fabric		115		115
Dancers Fabric		115		115
refreshments for		35.86		35.86
performers (show-day)				

• App No. 150- Turning Point USA at the University of Illinois

- Description: Turning Point is requesting funds for Illini Union multimedia equipment, parking, and security for event with an anti-communist event
- o Reviewer's Notes: Line items 1 and 3 should be discussed by the board
- Event Description: TPUSA at UIUC is intending on hosting author and North Korean defector Yeonmi Park to speak on her upbringing and her travails escaping North Korea as a teenager. She is a graduate of Columbia University, an author of multiple books, and an anticommunist and pro-American activist. Please note that the event/program name and requested date are still temporary, as we are coordinating Park's lecture with our partners at the Leadership Institute. Any changes to either, or we will happily let you know

Funding type: Programs
 Amount Requested: \$719.00
 Amount Allocated: \$624.60

 Vote: Arianna Agramonte Holterman motions to zero fund line item 3 due to violating the SORF standards and fund rest of application at standard (including a 10% reduction for non-Illinois student attendees). David Bein seconds. Vote of 9-1-0

Item Name	Item Description	Cost	Quantity	Total
Three-Hour Patrol Shift		250	2	500
Multimedia Services		194	1	194
Parking Spot, Illini Union		25	1	25
Lot				

• App No. 9- Illinois Men's Rowing Club

- Description: Men's Illinois Rowing Association is requesting funds for supplies/ equipment deemed essential to be able to train and compete
- Reviewer's Notes: Equipment is properly invoiced with supporting documentation and proven relevant to the association's mission purpose and quality of training/ competitions, BUT additional funding is ample enough to cover their requested amount and allow extra money leftover plus the estimated attendees of non-Illinois students, alum
- Connection to Mission: The 8, 4, and 2-person rowing shells and other equipment allow the team to practice and compete on a regional and national level in collegiate rowing
- o Funding type: Services
- o Amount Requested: \$2,610.00
- o Amount Allocated: \$2,610.00
- Vote: Destiny Gallegos motions to fund application at standard. David Bein seconds. Vote of 9-0-0

Item Name	Item Description	Cost	Quantity	Total
	2015 Vespoli			
	EM8+ S/N:			
8 Person Rowing Shell	LK006A515	\$423.00	1.00	\$423.00
	2006 Vespoli			
	EM8+S/N:			
8 Person Rowing Shell	VUALG413L606	\$338.00	1.00	\$338.00
	2005 Vespoli 8+			
	S/N:			
8 Person Rowing Shell	VUACG242F505	\$338.00	1.00	\$338.00
	2001 Vespoli DL8+			
8 Person Rowing Shell	S/N: N/A	\$254.00	1.00	\$254.00
	2000 Vespoli 8+			
8 Person Rowing Shell	S/N: N/A	\$232.00	1.00	\$232.00
	2004 Wintech 4+			
4 Person Rowing Shell	S/N: R44107	\$232.00	1.00	\$232.00
	Vespoli SD30 S/N:			
2 Person Rowing Shell	V30S310J020	\$232.00	1.00	\$232.00
	Vespoli SD30 S/N:			
2 Person Rowing Shell	V30S310I020	\$158.00	1.00	\$158.00

	2002 Vespoli Matrix S/N:			
2 Person Rowing Shell	VUARD357H202	\$158.00	1.00	\$158.00
	2003 Vespoli Matrix S/N:			
2 Person Rowing Shell	VUARD242F303	\$158.00	1.00	\$158.00
16 Person Barge	N/A	\$86.00	1.00	\$86.00

App No. 85- Illinois Coalition Assisting Undocumented Students' Education

- o Description: Application requests programming supplies for a fundraising event
- Reviewer's Notes: Line items 7-9 are food not related to the program's stated purpose, and line item 10 is not consumable. Line item 12 has no supporting documentation. Application should be funded at 50% due to its charitable nature
- Event Description: Hosting a gala open to U of I students and the community to raise funds for the I-HOPE scholarship that is awarded every year to 4 undocumented students. during the gala there are performances, food, and educational activities and speeches about the undocumented experience. there is also an auction, and we charge for tickets to attend the event, which all funds go to the scholarship
- Funding type: ProgramsAmount Requested: \$1,000.00Amount Allocated: \$232.61
- Vote: Matthew Pruyn motions to zero fund line items 7-9 (food), line item 12 has poor supporting documentation, charitable event so funded at 50%, and 10% non-Illinois attendees. David Bein seconds. Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Ballons (50 pack)	and tuition	\$7.99	2	\$15.98
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Balloon Arch	and tuition	\$18.99	2	\$37.98
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Flower faces	and tuition	\$38.99	1	\$38.99
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Fake flowers	and tuition	\$1.25	60	\$75.00
	fundraiser event			
Napkins	to raise money for	\$9.48	2	\$18.96

	1			
	undocumented			
	students housing			
	and tuition			
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Utensil set	and tuition	\$94.99	1	\$94.99
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
water bottles	and tuition	\$3.98	2	\$ 7.96
	fundraiser event			<u> </u>
	to raise money for			
	undocumented			
	students housing			
Pack of canned sprite	and tuition	\$15.98	1	\$ 15.98
·	fundraiser event	·		
	to raise money for			
	undocumented			
	students housing			
Pack of canned Coke	and tuition	\$15.98	1	\$15.98
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Table Coloth	and tuition	\$29.99	6	\$179.94
	fundraiser event	7_0.00		+ = 7 3.3 1
	to raise money for			
	undocumented			
	students housing			
Room Reservation	and tuition	\$235.00	1	\$235.00
NOOTH NESELVATION	fundraiser event	7233.00		7233.00
	to raise money for			
	undocumented			
Food from La NAintean	students housing	ć1 000 00	1	¢1,000,00
Food from La Mixteca	and tuition	\$1,000.00	1	\$1,000.00

• App No. 157- Arab Student Association

- Description: Arab Student Association is requesting funds for a Gaza humanitarian fundraising event
- o Reviewer's Notes: Charity event, fund at 50%, 10% non-Illinois attendees
- Event Description: An event planned by ASA, in an ARC multipurpose room and decorated with Palestinian cultural accents, is a university fundraising gala for Gaza. A musical performance by a student and educational lectures by educated speakers. Engaging the

school community, spreading awareness, and gathering money for Gaza relief efforts will be the main goals, all within an affordable, impactful, and instructive environment

o Funding type: Programs

o Amount Requested: \$4,849.00

o Amount Allocated: \$2,182.05

 Vote: Anika Agramonte Holterman motions to fund at 50% due to charitable event and 10% because non-Illinois. Matthew Pruyn seconds. Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total
	Catering from			
Cultural Arab Food	Nyros Gyros	\$3,261.00	1.00	\$3,261.00
	Money for space			
	Rental (see			
	attached excel			
ARC Reservation	sheet)	\$1,588.00	1	\$1,588.00

• App No. 72- Illinois Coalition Assisting Undocumented Students' Education

o Description: Application requests for graduation stoles

o Reviewer's Notes: Line items are not related with the supporting documentations

 Connection to Mission: Promote the representation of undocumented support and care in the university community as well as representing undocumented graduates

Funding type: Services
 Amount Requested: \$336.00
 Amount Allocated: \$0.00

 Vote: Anika Chakraborti motions to deny application due to supporting documentation not matching the budget sheet. Matthew Pruyn seconds. Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Ballons (50 pack)	and tuition	\$7.99	2	\$15.98
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Balloon Arch	and tuition	\$18.99	2	\$37.98
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Flower faces	and tuition	\$38.99	1	\$38.99
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Fake flowers	and tuition	\$1.25	60	\$75.00

	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Nambina		¢0.40		610.06
Napkins Napkins	and tuition	\$9.48	2	\$ 18.96
	fundraiser event			
	to raise money for			
	undocumented			
	students housing	4		
Utensil set	and tuition	\$94.99	1	\$94.99
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
water bottles	and tuition	\$3.98	2	\$ 7.96
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Pack of canned sprite	and tuition	\$15.98	1	\$15.98
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Pack of canned Coke	and tuition	\$15.98	1	\$15.98
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Tablecloth	and tuition	\$29.99	6	\$ 179.94
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Room Reservation	and tuition	\$235.00	1	\$235.00
	fundraiser event			
	to raise money for			
	undocumented			
	students housing			
Food from La Mixteca	and tuition	\$1,000.00	1	\$1,000.00
	-	, ,	Ī.	1 . /

• App No. 100- International Film Club at UIUC

- o *Description*: Licenses for movie screenings
- o Reviewer's Notes: I recommend that SORF funds the application
- Event Description: This semester, we plan on hosting three public film screenings for the UIUC community highlighting recent works from several different film cultures. The films we plan on screening are Shoplifters (2018, Japan), Ash is Purest White (2017, China), and

Another Round (2020, Denmark). These screenings would be free to all UIUC students and faculty and offer complimentary snacks

Funding type: ProgramsAmount Requested: \$750.00Amount Allocated: \$750.00

Vote: David Bein motions to fund at standard. Matthew Pruyn seconds. Vote of 10-0-0

Administrative Adjustment: \$675.00

o Administrative Rationale: 10% adjustment due to including Staff attendees

Item Name	Item Description	Cost	Quantity	Total
	Licenses			
	purchased from			
	Swank Motion			
	Pictures for public			
	performance			
	rights for the two			
Public Performance Rights	films in our series	\$250.00	3.00	\$750.00

• App No. 195- Luso-Brazilian Association

- Description: The Luso Brazilian Association is requesting funds to purchase a popular Brazilian drink for students to partake in
- Reviewer's Notes: Based on their supporting documentation of an official receipt and it follows SORF regulations of it being culturally related and necessary for their club's success and mission statement, I recommend SORF funds
- Connection to Mission: The requested items will allow the University of Illinois Urbana Champaign campus community connect to Brazilian culture through one of Brazil's most
 popular drinks, Guarana, free of charge. Over the years, Guarana has proven itself to being
 very popular with UIUC students

Funding type: ServicesAmount Requested: \$388.50Amount Allocated: \$0.00

 Vote: Anika Chakraborti motions to deny application due to being the wrong application type. Destiny Gallegos seconds. Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total
	Popular Brazilian			
	Soft drink, which			
	is unique to Brazil			
	and has not direct			
	substitute in the			
Guarana	US	\$5.55	70.00	\$388.50

• App No. 20- Character Creation Hub

- o Description: Application requests programming supplies for the execution of an event
- Reviewer's Notes: Incorrect application type
- Connection to Mission: The requested items fulfill our student organization's purpose of helping students to collaborate, develop, and learn together the ideas and designs of character creation. By achieving the finished products, we will be able to let people know

more about our creations and fulfill our mission to inspire and develop one another's endeavors

Funding type: ServicesAmount Requested: \$451.52Amount Allocated: \$0.00

 Vote: David Bein motions to fund application. Ivy Wang seconds. Vote of 6-3-1. Matthew Pruyn motions to bring application 20 back to the table. Destiny Gallegos seconds. Vote of 9-1-0. Arianna Agramonte Holterman motions to deny due to incorrect application type. Matthew Pruyn seconds. Vote of 8-1-1

Item Name	Item Description	Cost	Quantity	Total
CU Community FAB LAB	Cost per hour of use, planning 2			
Sticker Cutting 1 hour	rounds of 2 hours	\$1.00	4.00	\$4.00
	https://www.amazon.com/Silhouette-			
Silhouette Printable	Printable-White-Sticker-			
White Sticker Paper,	Paper/dp/B008RX1B1Y/ (Original			
8.5"X11", 8 Count	price)	\$8.16	10	\$81.60
ExWhyZed Booklet	All costs in one quote, conversion			
Printing	from British Pound	\$347.62	1	\$347.62

App No. 89- Illinois Space Society

- Description: Illinois Space Society is requesting funds for organizational materials to use in competitions
- o *Reviewer's Notes*: All items meet standards
- Event Description: In pursuit of the long-term project goal of reaching the Karman Line, the official edge of space, the Illinois Space Society's Spaceshot team is competing in the unlimited altitude division of FAR-51025 (Friends of Amateur Rocketry-51025). This is a competition in Mojave Desert, California that awards points based primarily on altitude. ISS previously annually competed in the Spaceport America Cup, formerly known as IREC. ISS has competed in the Spaceport America Cup since 2019, placing 6th in 2019, 4th in 2021, and 2nd in 2023. Spaceshot is divided into 3 main teams—Structures, Avionics, and Recovery—with 6 subteams—Structural Design & Analysis, Fabrication, Electronic Hardware, Guidance Navigation & Control, and Avionics Structures—all of which are led by team and subteam leads. Many of the rocket components, including the fin can, nose cone, and altimeters are being designed in-house through student research. The faculty advisors are Dr. Tim Bretl, Dr. Jeff Baur, and John Williams

Funding type: ProgramsAmount Requested: \$358.54Amount Allocated: \$358.54

- Vote: Matthew Pruyn motions to fund application at standard. Hayley Hoppock seconds.
 Vote of 6-2-2
- Administrative Adjustment: \$0.00
- o *Administrative Rationale*: Items are not single-use items for a specific project and therefore are not fundable as a program.

Item	Description	Price	Quantity	Total
	WD Red SA500			
	NAS SATA SSD			
Server 1TB SSDs	2.5"/7mm Cased	\$84.99	3	\$270.91

	27 Gal. Tough			
	Storage Tote in			
	Black with Yellow			
Storage Boxes	Lid	\$10.98	3	\$44.89
	2 Pack 36 Grids	·		
	Clear Plastic			
	Organizer Box,			
	Storage Container			
	with Adjustable			
	Divider, Craft			
	Organizers and			
	Storage Bead			
	Storage Organizer			
	Box for DIY			
	Jewelry Tackles			
	with 2 Sheets			
Organizer Box	Label Stickers	\$ 13.99	1	\$13.99
	Combination			
	Lock, 4 Digit			
	Combination			
	Padlock for School			
	Gym Sports			
	Locker, Fence,			
	Toolbox, Case,			
	Hasp Cabinet			
	Storage (2 Pack,			
<u>Locks</u>	Black)	\$7.99	1	\$7.99
	Ziploc Big Bags			
	Clothes and			
	Blanket Storage			
	Bags for Closet			
	Organization,			
	Protects from			
	Moisture, Large, 5			
<u>Large Storage Bags</u>	Count	\$18.65	1	\$21.19

• App No. 154- **Medlaunch**

- Description: This RSO is requesting funding for materials in their Wheelchair to Camper project, including tubing, grates, and pipes
- o Reviewer's Notes: All items meet standards
- Connection to Mission: All the items requested will be going towards building one of the six projects we will be delivering by the end of this school year. The primary project that we are seeking funding for is the Wheelchair to Camper project, which is a portable quick-assembly wheelchair ramp for a family looking to overcome challenges with their current camper situation. Their daughter has cerebral palsy, so they require a ramp that will be safe for heavy foot traffic and extended usage, be modular, lightweight, and portable so that it can be assembled and disassembled wherever they deploy it, and be able to be broken down to fit in the back of a pickup truck bed whenever in transportation. This ramp will be attached

to their camper for wherever they are stationary for a period of time and will greatly ensure safety for their family as their daughter is growing to be too heavy to safely carry for without risk of injury in and out of their camper. Our other projects also work with designing for disability, including a device with lane line detection software and proximity sensors to help vision impaired swimmers maintain trajectory while swimming, a customized welding glove for a man with a hand defect, and more! As I mentioned before, these projects are unique because Medlaunch designs and builds by valuing an individual, as opposed to mass producing products that are inaccessible, expensive, or unusable for groups of people. Medlaunch is an RSO of motivated students who design for disability and advocate for disability awareness as well. Medlaunch's unique purpose is to design and innovate in partnership with traditionally address overlooked groups in society so that they may be able to navigate their needs and wants with comfort and ease

Funding type: Services

o Amount Requested: \$4,300.46

Amount Allocated: \$529.95

- Vote: David Bein motions to zero fund line items 1-4 due to being a Programs application and fund rest of application at standard. Anika Chakraborti seconds. Vote of 10-0-0
- o Administrative Adjustment: \$0.00

o Administrative Rationale: Wrong application type for all items.

Item Name	Item Description	Cost	Quantity	Total
	For the			
	Wheelchair to			
	Camper Project.			
	21 ft of 2" by 2"			
	by 1/4" wall			
	Aluminum Square			
	Tube. These parts			
	will be cut to size			
	and welded			
	together to form			
	the framework for			
	our portable and			
	modular			
	wheelchair ramp.			
	This framework			
	composes of			
	three ramp			
	sections that			
	attach and detach			
	for the user to			
	assemble			
	whenever needed			
	but also easily			
	transport when			
	disassembled. It			
	also encapsulates			
6063 T52 Aluminum	the landing			
Square Tube	platform section	\$448.07	4.00	\$1,792.26

	Γ.			
	of the ramp,			
	which will have			
	foldable legs also			
	serving for			
	transportation			
	and portability			
	functionality.			
	These aluminum			
	square tubes are			
	completely			
	essential for			
	building a			
	structurally sound			
	design for our			
	_			
	Camper			
	community			
	partner to			
	traverse upon			
	safely. Shipping			
	cost included in			
	pricing.			
	For the			
	Wheelchair to			
	Camper Project.			
	40" by 40"			
	Aluminum Grate.			
	This part will be			
	attached on top of			
	the assembled-on			
	top of the landing			
	platform for the			
	portable			
	wheelchair ramp			
	for the user to			
	have a platform to			
	safely rotate the			
	wheelchair after			
	traversing the			
	_			
3/4 inch Diamond x .125	ramp. Shipping cost included in			
thick Aluminum Grate		¢240.65	1.00	\$249.65
tnick Aluminum Gfate	pricing.	\$249.65	1.00	9249.03
	For the			
	Wheelchair to			
	Camper Project.			
	40" by 56"			
	Aluminum Grate.			
3/4 inch Diamond x .125	These parts will			
thick Aluminum Grate	be attached on	\$321.20	3	\$963.60

	1	Т		
	top of the			
	assembled			
	framework to			
	function as a			
	sturdy stepping			
	surface for our			
	portable and			
	modular			
	wheelchair ramp.			
	Shipping cost			
	included in			
	pricing.			
	For the			
	Wheelchair to			
	Camper Project.			
	Sections of tubing			
	used to build the			
	safety railings of			
	the wheelchair			
	ramp. These			
	guard rails are			
	essential to			
	ensure the safety			
	and security of			
	our community			
	•			
	partner, who will			
	be using a			
6061-T6 Aluminum	wheelchair up an			
Structural Pipe	incline.	\$51.00	15	\$765.00
·	Microcontroller to	•		
	run software for			
	the VisionSwim			
	team. Essential for			
	the team to			
	implement code			
	they have			
	developed this			
	past schoolyear			
	for tracking a pool			
	line down the			
	length of the pool			
	and help vision			
	impaired			
	-			
	swimmers swim			
	safely and with			
	more confidence			
Raspberry Pi 5	while supported	\$80.00	1	\$80.00
		· ·		· ·

	with this			
	technology.			
	Walker to be			
	modified and			
	redesigned by			
	project team in			
	order to aid and			
	support an			
	individual with			
	cerebral palsy and			
	crouch gait.			
	Essential to be			
	able to carry out			
	the Medlaunch J-			
Triump Mobility Escape	Walk Gait Trainer			
Walker	project	\$449.95	1	\$449.95

• App No. 159- Illini Electric Motorsports

Description: Application requests for projects related items

o Reviewer's Notes: All items meet standards with proper supporting documentation

 Event Description: A few weekends in a row where we drive our car and people can come and watch our car drive and talk to our members. They will be able to see our car in action and learn about how it works

o Funding type: Programs

Amount Requested: \$4,940.00Amount Allocated: \$4,791.80

 Vote: David Bein motions to fund at 97% due to 3% non-Illinois attendees. Anika Chakraborti seconds. Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total
43075R20	FSAE Tyres	\$280.00	17	\$4,760.00
S-22784GBL-M	safety gloves	\$90.00	2	\$180.00

• App No. 170- UIUC Circle K International

- Description: UIUC Circle K International (CKI) is requesting funding for their annual induction ceremony that any UIUC student can come to, which is free and on-campus
- o *Reviewer's Notes*: Line items 2-8, 11, 14-15 violate program standards: non-essential food. Line items 1, 9, 10, 12, 13, 16-18 meet standards
- Event Description: We have elected officers for the next ceremony and will be having our annual induction ceremony in which we pin each new officer and also celebrate with current members of the club

Funding type: Programs
 Amount Requested: \$272.30
 Amount Allocated: \$0.00

Vote: Anika Chakraborti motions to deny application due to being recruitment related.
 Matthew Pruyn seconds. Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total

	circle k Officer			
Circle K Officer Dire	pins for elected	¢c 75	F 00	¢22.75
Circle K Officer Pins	officers	\$6.75	5.00	\$33.75
	celebratory cake			
Cake	for the induction	\$24.96	1	\$24.96
(Pizza) Rossatis	Veggie pizza	\$ 27.15	1	\$27.15
(Pizza) Rossati's	Hawaiian pizza	\$27.15	1	\$27.15
(Pizza) Rossati's	Gluten pizza	\$11.95	1	\$11.95
(Pizza) Rossati's	Thin Crust	\$ 20.15	1	\$20.15
	Fabulous Four			
(Pizza) Rossati's	Thin Crust	\$27.15	1	\$27.15
(Boneless Wings) Rossati's	Boneless wings	\$14.99	1	\$14.99
Napkins		\$3.32	1	\$3.32
Plates		\$11.06	1	\$11.06
Drinks	Hawaiian Punch	\$2.88	1	\$2.88
Cups	cups for drinks	\$ 17.90	1	\$17.90
	forks, spoons,			
Utensils	knife	\$9.98	1	\$9.98
Drinks (sprite)	sprite	\$12.78	1	\$12.78
Drinks	Coke	\$23.25	1	\$23.25
Balloon (number 5)		\$0.97	1	\$0.97
Balloon (number 0)		\$0.97	1	\$0.97
Tablecloth		\$0.97	2	\$1.94

• App No. 161- Dance 2XS UIUC

- Description: Dance2XS UIUC is requesting funding to be able to go to dance competitions in Michigan and Chicago, helping members grow in their dance skills and make it more accessible for members to be able to attend these showcases
- o *Reviewer's Notes*: Line item 2 violates SORF Standards: already paid for. Line items 1, and 3-5 meet standards
- Connection to Mission: Dance 2XS UIUC's purpose is to provide an outlet for students to train, dance, perform, and learn diverse styles of dance. The requested items will help our team continue to grow as dancers by providing various performance opportunities around the Midwest. The extra funding will make these experiences more affordable and accessible to our members
- Funding type: Services
- o Amount Requested: \$2,935.00
- o Amount Allocated: \$1,990.00
- Vote: Hayley Hoppock motions to fund at standard. Anika Chakraborti seconds. Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total
	342 miles one way			
	= 684 miles round			
	trip 684 * .585 *			
	.25 = \$82 (cost of			
Gas (Spring Performance in	1 car). There are			
University of Michigan):	26 team members	\$100.00	6.00	\$600.00

		1	ı	T
	participating at			
	the University of			
	Michigan dance			
	showcase. This is			
	the estimation of			
	gas to take 26			
	dance team			
	members to the			
	performance in			
	Ann Arbor,			
	Michigan.			
	Urbanite fee =			
	\$35 per team			
	member. 27 team			
	members are			
	participating in			
	the Urbanite			
	Dance Showcase			
	this semester.			
	Each member is			
	charged \$35 to			
	participate in			
	Urbanite each			
	semester. We			
	were verbally told			
	•			
	by Delayney (head			
	of all 2XS teams)			
	the fee this			
	semester will be			
Habarita Carla 2024	the same price as			
Urbanite Spring 2024	last semester,	425.00	27	40.45.00
Performance Fee	which is \$35.	\$35.00	27	\$945.00
	141 miles one way			
	= 282 miles round			
	trip. 282 * .585 *			
	.25 = \$42 (cost of			
	1 car). 27 team			
	members are			
	participating in			
	the Urbanite			
Gas (Urbanite Performance	Chicago Spring			
in Chicago Spring 2024)	2024 showcase.	\$42.00	6	\$252.00
	27 of the			
	members on			
	Dance2XS UIUC			
	will perform at			
Urbanite Chicago Hotel	Urbanite in			
Rooms	Chicago this	\$129.00	6	\$774.00
		•		

	semester. Our			
	team is			
	purchasing 6			
	double hotel			
	rooms (6 rooms			
	with 2 beds in			
	each). Each			
	double hotel			
	room costs \$129			
	per night.			
	6 * 129 = \$774			
	Dance2XS UIUC			
	has rehearsal			
	twice a week for 2			
	hours per practice			
	at the ARC in MP			
	rooms. The RSO			
	rate per hour for			
	MP room rentals			
	is \$13. This item			
	request will help			
	fund our recurring			
	space rentals from			
	March 2024 to			
	May 2024 (14			
	practices).			
Recurring Space	\$13 * 2 = \$26			
Reservations	\$26 * 14 = \$364	\$26.00	14	\$364.00
	1 7 20 2 . 700 .	1 7 = 3.00		T

• App No. 82- Cross Country Club

- o *Description*: Application requests a tent for meets
- o Reviewer's Notes: Line item costs above \$999.99
- Connection to Mission: As stated above, a team tent would greatly help with the rough conditions of our outside meets. It can also give our club a greater image at meets and Quad Day. Many other clubs at our meets (specifically Big Ten clubs) have large team-branded tents. As one of the biggest collegiate clubs running teams and a large club at Illinois, this would further that positive image. I am attaching a picture of Minnesota's team tent that is the brand (EZ-Up) and size we are looking to replicate
- Funding type: Services
- o Amount Requested: \$1,231.00
- o Amount Allocated: \$0.00
- Vote: David Bein motions to deny application due to single item exceeding \$999.99.
 Matthew Pruyn seconds. Vote of 9-0-1

Item Name	Item Description	Cost	Quantity	Total
E Z UP Custom Vantage 10'	Tent for team			
x 20' Canopy	meets and events	\$1,231.00	1.00	\$ 1,231.00

with club		
branding		

- App No. 101- Statistics Doctoral Student Association
 - Description: This RSO is requesting funding for technology (camera, projector, microphone, etc.) for a 4-part seminar series led by PhD students in the Statistics department
 - o Reviewer's Notes: All items meet standards
 - Event Description: The Statistics Doctoral Student Association will organize Research Seminars in Statistics during the Spring semester. We are planning on organizing 4 seminars in total. The speakers are going to be PhD students of the Statistics Department. The total duration of each event is going to be approximately 2.5 hours. Each event will consist of 3 presentations (3 doctoral students for each event), discussion time and breaks. Our plan is to be able to have live broadcasts of our seminars on Zoom and YouTube and also record them so that we can save them in our archive and upload them on our website and social media. The events are going to be free and open to all students and faculty members on campus. The events will take place at the Statistics PhD students' office (Technology Plaza, UIUC campus). This location does not hold technical equipment for presentations and recording. More specifically we are going to need:
 - For the presentations:
 - - A projector and projector screen for the presentations.
 - Whiteboard markers
 - For recording and live broadcasting:
 - A camera
 - A camera tripod
 - Microphone for audio recording
 - Funding type: Programs
 Amount Requested: \$712.66
 Amount Allocated: \$712.66
 - Vote: Matthew Pruyn motions to deny due to incorrect application type. David Bein seconds. Vote 2-4-4. Arianna Agramonte Holterman motions to fund application at standard. Anika Chakraborti seconds. Vote of 8-0-2
 - Administrative Adjustment: \$641.40
 - Administrative Rationale: Adjusting for faculty access and participation.

Item Name	Item Description	Cost	Quantity	Total
projector		\$269.99	1.00	\$269.99
projector screen		\$112.99	1.00	\$112.99
microphones		\$29.96	1	\$29.96
markers for whiteboard		\$20.44	1	\$20.44
camera tripod		\$33.29	1	\$33.29
camera		\$245.99	1	\$245.99

App No. 70- Minority Association of Pre-Medical Students

- o *Description*: This RSO is requesting funding for hotel and flights to attend a medical education conference
- o Reviewer's Notes: All items meet standards
- o *Connection to Mission*: The main goal of our MAPS chapter is to expose our members to different opportunities that will prepare them for their future careers in the healthcare field.

This includes being given an opportunity to network and meet with others who have already accomplished things that many of our members hope to accomplish in the future. The Annual Medical Education Conference (AMEC) will allow our members to have several days of innovative programming geared at preparing the next generation of physicians for successful careers in medicine. With tens of educational workshops and programs focused on academic and clinical success, professional development, and personal growth, AMEC will help catapult our attendees toward becoming "clinically excellent, culturally competent, & socially conscious" physicians. Our members will also enjoy the unique opportunity to network with colleagues, physicians, medical school representatives, and partners from all over the country

Funding type: Services

Amount Requested: \$5,000.00 Amount Allocated: \$5,000.00

Vote: Anika Chakraborti motions to fund application at standard. Matthew Pruyn seconds.
 Vote of 10-0-0

Item Name	Item Description	Cost	Quantity	Total
Hotel		\$1,273.94	1.00	\$1,273.94
Hotel		\$716.00	2	\$1,432.00
Flight		\$417.19	6	\$2,503.14

Denied Applications:

App Number	RSO Name	Funding Type	Amount Requested	Amount Allocated
3	Cheese club at UIUC	Services	1729.7	0.00
7	The Classics Club	Programs	165.22	0.00
11	Illinois Women's Volleyball Club	Programs	1190	0.00
14	ACHA Men's Division II Hockey Club	Services	5000	0.00
15	Hillel Leadership Council	Services	4811	0.00
18	Illini Ishaara	Services	4845	0.00
19	It's On Us	Programs	193.73	0.00
22	The Italian Club	Services	900	0.00
25	Illini Bhangra	Services	5000	0.00
30	Illini Women's Waterpolo Club	Programs	5000	0.00
33	Human Development and Family Studies Graduate Student Organization	Services	741.84	0.00
38	Phi Alpha Theta	Services	420	0.00
39	Fencing Illini	Services	5000	0.00
40	American Medical Women's Association	Services	110	0.00
42	Nutritional Sciences Graduate Student Association	Programs	4958.82	0.00
52	Turkish Student Association	Programs	201.4	0.00

66	Illini Robomaster	Services	4740.34	0.00
67	IGNITE @UIUC	Services	2300	0.00
71	Fulbright Student Association	Programs	1465.7	0.00
73	Illini 4000	Services	899.82	0.00
80	Illini Table Tennis Club	Services	1640	0.00
83	Wishmakers at UIUC	Programs	250	0.00
86	Engineers without Borders	Services	126	0.00
88	UIUC Habitat for Humanity	Programs	30	0.00
94	Illini Pullers	Programs	853.23	0.00
98	Ecuador Student Association	Programs	147.06	0.00
107	Illinois Spikeball Roundnet Club	Programs	368	0.00
111	IlliniFurs	Services	625	0.00
114	UIUC Habitat for Humanity	Programs	135.6	0.00
116	UIUC Habitat for Humanity	Programs	343.03	0.00
123	Hot Pot Basketball Association	Programs	1817.82	0.00
128	Illinois Sports Business	Programs	2953.13	0.00
	Conference	• 8		0.00
129	The Institute for Scientific	Services	474.4	0.00
	Progress, Innovation, Research,			
	and Edutraining			
131	Illinois Synchronized Skating	Services	1150	0.00
134	Delta Sigma Pi	Services	607.8	0.00
136	Institute of Industrial and Systems	Programs	718.03	0.00
	Engineers	_		
141	Student Art History Association	Programs	2477.15	0.00
153	Destino	Programs	1800	0.00
163	Irish Illini	Programs	50	0.00
165	University of Illinois Track and	Programs	3225.6	0.00
	Field Club			
167	Saudi Students Association	Programs	273.7	0.00
169	Sigma Gamma Rho Sorority Inc.	Services	3790	0.00
182	WeXpress	Programs	160	0.00
183	Flippin' Illini Gymnastics Club	Services	1702.36	0.00
191	The IlliniMetagamers	Programs	1250	0.00
199	Bangladeshi Students Association	Programs	1196	0.00
	UIUC			
200	NRES Graduate Student	Programs	199.18	0.00
	Association			
17	Kappa Phi Lambda		818	0.00
140	In Between at UIUC		140.71	0.00
143	Pi Beta Phi		0	0.00
21	Economics Tournament at the	Programs	1341.43	0.00
	University of Illinois			

• App No. 3- Cheese Club at UIUC

- Description: Application requests for cheese and charcuterie boards that their RSO needs to succeed and operate
- o Reviewer's Notes: Line item 1 does not qualify as Services as it pertains to Program
- Connection to Mission: Our mission is to spread the culture, history, and science of different cheeses from around the world. With that, our request will be related to funding to provide cheese, and other cheese-related items which is critical for our organization
- Funding type: Services

o Amount Requested: \$1,729.70

o Amount Allocated: \$0.00

• App No. 7- The Classics Club

- Description: The Classics Club is seeking to funds for General Body Meeting, requesting for refreshments and food
- o Reviewer's Notes: General Board Meeting
- Event Description: Once a week, we have general meetings where we read and discuss ancient texts and modern reception to them. During these events, we have movie nights and bring in grad students in the Classics department to discuss their research. Also, once a week, we have philosophy meetings that function the same way except with a focus on ancient philosophical texts
- o Funding type: Programs
- Amount Requested: \$165.22 Amount Allocated: \$0.00

• App No. 11- Illinois Women's Volleyball Club

- Description: Women's Club Volleyball is requesting funding for a volleyball tournament to be hosted on campus. Funds would cover ARC space rentals
- o Reviewer's Notes: Out of funding period
- Event Description: We host two home tournaments during the year; one in the fall, and one
 in the spring. These will feature approximately 10-20 teams competing in ARC Gym 1 from 8
 am until 8 pm. We have the entire gym rented out, in addition to one MP room and the
 supervision of an event manager. We have already completed one home tournament in the
 fall; therefore, this is just a request for spring tournament funding with the same expected
 costs
- Funding type: Programs
- Amount Requested: \$1,190.00
- o Amount Allocated: \$0.00

• App No. 14- ACHA Men's Division II Hockey Club

- o Description: Application requests for practice and games at the ice rink
- Reviewer's Notes: All dates requested for violate General Standards & Expectations:
 Purchase Timing
- Connection to Mission: Having the ability to utilize the ice arena because we are given funding allows for our whole team to stay active, bond with each other, and make friendships that will last a lifetime
- Funding type: Services
- o Amount Requested: \$5,000.00
- o Amount Allocated: \$0.00

App No. 15- Hillel Leadership Council

 Description: Application requests for registration fee and travel expense for basketball tournaments

- Reviewer's Notes: Basketball tournaments are unrelated to the mission and purpose of the student organization
- Connection to Mission: The mission of the Hillel Leadership council is to foster a Jewish community that enriches the lives of every Jewish student so that they can enrich the lives of others. The requested item, the registration fee to allow us to participate in the tournament, would allow for the Jewish community to come together and spend some quality time together. It will also allow for our students to interact with other college students to hopefully gain life values and long-lasting friendships from all over the country. Creating community is a main part of our mission and this basketball tournament will allow for our UIUC community to hopefully grow closer together but also interact with other communities and create one big, larger community. The requested item, mileage, is included since the basketball tournament will require travel since it takes place at The University of Maryland. So, we will need to travel from campus to Ohare to fly to Baltimore. We expect to operate five vehicles to get the students to and from the airport. The google maps included shows the expected mileage it will require to get to the airport, since it is a round trip, we multiplied it by 2 and had a total mileage of 298.80

Funding type: Services

o Amount Requested: \$4,811.00

Amount Allocated: \$0.00

• App No. 18- Illini Ishaara

- Description: Illini Ishaara is requesting funds for costume rental and travel (hotels & flights) for dance competitions
- o Reviewer's Notes: Trip to San Siego out of funding period. Costume rentals are not a service
- Connection to Mission: They will help our student organization perform during dance competitions

Funding type: Services

o Amount Requested: \$4,845.00

Amount Allocated: \$0.00

• App No. 19- It's On Us

- Description: It's On Us is hosting a workshop that is free and on campus for UIUC students to learn, talk, and get resources about Title IX, dating safety, preventing sexual assault
- Reviewer's Notes: Line item 1 and 2 violates Programs Standards: not necessary for Program. Line item 3 violates Programs Standards: non-essential food
- Event Description: This will be a series of recurring community events focusing on education
 of topics including things like sexual assault prevention, dating safety, and Title IX
 procedures. These workshops include an educational aspect as well as games and trivia.
 There will usually be food and prizes provided. A presentation and game will be given on the
 topic of the workshop

o Funding type: Programs

o Amount Requested: \$193.73

o Amount Allocated: \$0.00

• App No. 22- The Italian Club

- Description: Space rental fees and ingredients to make traditional Italian foods for Mom's Weekend
- o Reviewer's Notes: Incorrect application type
- Event Description: It relates to the Student Org Mission/Purpose because our mission is to spread the knowledge of the Italian culture and the different customs that are related to the

Italian Culture. The requested items that our organization has requested will help us spread the knowledge of the Italian culture even further

Funding type: Services
 Amount Requested: \$900.00
 Amount Allocated: \$0.00

• App No. 25- Illini Bhangra

- Description: Application requests for hotel and competition registration funding
- o Reviewer's Notes: All line items violate General Standards & Expectations: Purchase Timing
- Event Description: Illini Bhangra is a competitive dance team that focuses on the energetic
 and vibrant folk-dance styles of Punjab. Our dance team fuses both modern and traditional
 elements of Bhangra to create an entertaining and skillful performance. The requested
 funds relate to our Student Organization mission because we want to spread the cultural art
 form and by having these funds, we will be able to showcase our culture and art nationwide
- Funding type: Services
- o Amount Requested: \$5,000.00
- Amount Allocated: \$0.00

• App No. 30- Illini Womens Waterpolo Club

- Description: Women's waterpolo club is requesting funds for a competition to be held and to pay and lodge referees. They state they will have current students and alums, estimating 200 non-Illinois students
- o Reviewer's Notes: Out of funding period
- Event Description: A tournament hosted here at UIUC, where all the Midwest big tens come together to compete for fun. We have boys' and girls' games and also have an alumni game at the end so our old players can come back and reunite in a game of waterpolo
- o Funding type: Programs
- o Amount Requested: \$5,000.00
- o Amount Allocated: \$0.00

• App No. 33- Human Development and Family Studies Graduate Student Organization

- o Description: Food for general body and professional development meetings
- Reviewer's Notes: Food is unrelated to mission and purpose of student organization. I recommend SORF deny the application
- Event Description: Our goal is to build a welcoming and supportive community among graduate students through regular meetings and events. Providing refreshments will allow an additional opportunity for students to connect and provide an incentive to attend meetings

Funding type: Services

Amount Requested: \$741.84 Amount Allocated: \$0.00

App No. 38- Phi Alpha Theta

- o Description: Requesting funds for tassels to wear at graduation
- Reviewer's Notes: Line item 1 violates services standards: "Uniforms required by a third-party entity to compete or participate in an activity. A mock-up of the uniform must be submitted with the application. Uniforms must have University of Illinois Urbana-Champaign branding included." and line item 1 violates SORF standards: "Honoraria, Give-Aways or Gifts: SORF will not fund Honoraria, gifts, or giveaways."
- Connection to Mission: Phi Alpha Theta, as the National History Honors Society, requires tassels to honor the work of its graduating members. These tassels are symbolic

representations of four years of dedication to the organization and to history in general, and we want to make sure we can continue the tradition of awarding them to our members

Funding type: Services
 Amount Requested: \$420.00
 Amount Allocated: \$0.00

• App No. 39- Fencing Illini

o Description: Membership and tournament entry fees

- Reviewer's Notes: Membership fees (line item 1) are non-fundable, per SORF Standards. Line item 2 lacks sufficient supporting documentation. As such, I recommend SORF denies the application
- Connection to Mission: Our requested items relate to our Student Org Mission as it will
 make our sport more accessible to those that are willing to try
- Funding type: Services

Amount Requested: \$5,000.00Amount Allocated: \$0.00

• App No. 40- American Medical Women's Association

- Description: Requesting funds for blanket making event. Blankets will then be donated, making this a charitable event
- Reviewer's Notes: Blanket making event has little to no relation to American Women in the Medical Field
- Connection to Mission: As our mission is to "advance women in medicine, advocate for equity, and ensure excellence in health care" we hope to donate these blankets to those in the community. This will provide not only as a volunteer event, but as a social event to help women pursuing the health field to gain friends, support, and connections

Funding type: Services
 Amount Requested: \$110.00
 Amount Allocated: \$0.00

• App No. 42- Nutritional Sciences Graduate Student Association

- Description: Application requests programming supplies and contractual honoraria for symposium
- o Reviewer's Notes: Duplicate application
- Event Description: The Nutritional Sciences Graduate Student Association (NSGSA), in coordination with the Division of Nutritional Sciences (DNS), will host its annual Nutrition Symposium on Friday, April 12, and Saturday, April 13, 2024. We are delighted to announce that this year's event will celebrate 30 years of the Nutrition Symposium! The NSGSA and DNS are incredibly proud of accomplishing this milestone. To commemorate, we are planning a two-day event that honors the accomplishments of nutrition science over the last 30 years, celebrates the discoveries being made today, and recognizes the work yet to be done. This sentiment will be the theme of this year's Symposium: From Seed to Pearls: Celebrating 30 years of Nutrition Science Research at UIUC. Since 1994, the Nutrition Symposium has showcased emerging student and faculty research to the university and program sponsors. It has also become a respected forum facilitating interactions between the local nutrition community, DNS faculty and students, adjacent faculty and students, and program sponsors to enable future scientific collaborations and career opportunities. We are incredibly honored to have Dr. Cheryl Anderson as the Keynote Speaker for this event. Dr. Anderson is Professor and Dean of the Herbert Wertheim School of Public Health and Human Longevity Science at the University of California, San Diego (UCSD). She is the Director of the UCSD Center of Excellence in Health Promotion and Equity, a Fellow of the

American Heart Association, a member of the 2015 and 2020 US Dietary Guidelines Advisory Committee, and an elected member of the National Academy of Medicine. Dr. Anderson's research focuses on the effects of dietary patterns, sodium, and potassium on cardiovascular health, behavioral interventions for adherence to dietary recommendations, and investigating nutritional risk factors for kidney disease and related cardiovascular events. In addition to Dr. Anderson's keynote address and graduate student oral and poster research presentations, our event also features a DNS faculty symposium. Faculty speakers will include Dr. John Erdman, Professor Emeritus of Nutrition and Food Science; Dr. M. Yanina Pepino, Associate Professor of Nutrition; and Dr. Hans Stein, Professor of Nutrition. "

Funding type: Programs
 Amount Requested: \$4,958.82
 Amount Allocated: \$0.00

App No. 52- Turkish Student Association

o *Description*: Turkish Student Association is requesting funds for snacks

- o Reviewer's Notes: Snacks do not have significance to event
- Event Description: This is an event for people of all backgrounds to come together and meet.
 These events are necessary for the people within the Turkish Student Association and friends of members to bond and make connections

Funding type: Programs
 Amount Requested: \$201.40
 Amount Allocated: \$0.00

• App No. 66- Illini Robomaster

- o Description: Application requests for robotic components and traveling funds
- Reviewer's Notes: Line items 1-12 do not qualify as Services as it pertains to Programs. Line item 13 fails to provide supporting documentation
- Connection to Mission: I am requesting money to purchase necessary robotic components such as motors and lidars. With more funds, we will be able to continue improving our robots for the competition and make more achievements in the future
- Funding type: Services
- Amount Requested: \$4,740.34
- Amount Allocated: \$0.00

• App No. 67- **IGNITE @UIUC**

- Description: IGNITE @UIUC is requesting funding for food and transportation to help create
 a sense of community during sessions they host or attending leadership workshops to meet
 their mission statement of focusing on diversity, empowerment of underrepresented
 populations, and political inclusion on campus
- Reviewer's Notes: Line item 1 violates Services Standards: non-essential equipment (ie. food). If asking for food, should be a Programs Application as well. Line item 2 violates Services Standards: vehicle rentals
- Connection to Mission: The requested amount for food and transportation directly supports IGNITE @UIUC's mission of commitment to diversity, inclusion, and empowerment. By providing food for general members, the organization will be better able to facilitate a welcoming environment for participants during program sessions, as well as foster community and collaboration. Additionally, allocating funds for transportation ensures accessibility, allowing a broader representation of students to engage in IGNITE's leadership development opportunities (i.e. trips to Springfield, IL, and Chicago, IL, networking events, and leadership programs). Both components are integral to realizing our mission by creating

an inclusive space that empowers underrepresented voices, fosters leadership skills, and enhances political engagement on the University of Illinois Urbana-Champaign campus

Funding type: Services

o Amount Requested: \$2,300.00

o Amount Allocated: \$0.00

• App No. 71- Fulbright Student Association

- o *Description*: Org is requesting food for open house event
- o Reviewer's Notes: Out of the funding period
- Event Description: Fulbright Open house is a public event with the purpose to highlight the
 mission of the Fulbright program (for US and international students). The event will consist
 in current fulbrighters from UIUC will become ambassador of host country to share the
 culture and current Fulbright experience as well. The purpose of this event is to enhance
 and strength the mutual understanding and support between US and foreign countries

o Funding type: Programs

o Amount Requested: \$1,465.70

o Amount Allocated: \$0.00

• App No. 73- Illini 4000

- Description: Illini 4000 is requesting money for backpacks for members of their organization so they can focus on raising money
- o Reviewer's Notes: Significant additional funding available
- Connection to Mission: The backpacks are used for every person on the team to keep their personal belongings. Over the summer, this will be the riders' only luggage, and is incredibly important to make our summer efficient. Our mission is to be a non-profit organization dedicated to documenting the American cancer experience through raising funds for cancer research and patient support services, as well as spreading awareness for the fight against cancer through annual cross-country bike rides. These backpacks help support the bike ride portion of our mission and provide the riders with a suitable way to store their own items on the ride

Funding type: Services

Amount Requested: \$899.82

Amount Allocated: \$0.00

• App No. 80- Illini Table Tennis Club

- Description: This RSO is requesting funding to pay registration fees at a high-level table tennis event
- o Reviewer's Notes: Items do not meet standards
- Connection to Mission: The items requested include multiple registration fees required by a third-party entity to compete or participate in sporting meet organized by third-party
- Funding type: Services

Amount Requested: \$1,640.00

Amount Allocated: \$0.00

App No. 83- Wishmakers at UIUC

- o Description: Charitable basketball event
- o Reviewer's Notes: Out of funding period
- Event Description: The event would be 5 hours long and it would take place in the ARC basketball courts. There will be referees to ensure it is fair. There will also be a charge for those who make a team of \$5 per person, and 100% of the proceeds will be donated to the Make-A-Wish organization. We are also in close contact with people that work for the

organization as well and they said they would help us out as well with the event in terms of running by the plan

Funding type: Programs
 Amount Requested: \$250.00
 Amount Allocated: \$0.00

• App No. 86- Engineers without Borders

- Description: Application requests for programming supplies necessary for the execution of the annual 5k event
- o Reviewer's Notes: Incorrect application type
- Connection to Mission: Engineers Without Borders builds a better world through
 engineering projects that empower communities to meet their basic human needs while
 creating culturally cognizant leaders capable of solving the world's most pressing challenges.
 The requested items allow us to raise funding and thus in turn use the money to build a
 bridge in Malawi, or a sanitation project in Guatemala, or a water pipeline in Ecuador, which
 by their very nature help better the world and allow communities to meet their basic human
 needs

Funding type: Services
 Amount Requested: \$126.00
 Amount Allocated: \$0.00

• App No. 88- **UIUC Habitat for Humanity**

- Description: General body meeting supplies
- o Reviewer's Notes: Out of funding period
- Event Description: Our general meetings are every other Tuesday at Lincoln Hall meeting at 7pm. They allow our members but also anyone on campus to come and learn about Habitat and its mission while keeping a fun, safe environment. Additionally, we often have speakers come in to discuss housing insecurity, tips for new homeowners, and even learning about the process of how homes are built. Sometimes we also collaborate with different RSOs that have similar missions. This specific application is for a digital ad informing students of our 2/6 general meeting so it's not a recurring program for this application

Funding type: ProgramsAmount Requested: \$30.00Amount Allocated: \$0.00

• App No. 94- Illini Pullers

• Description: Food and parts for tractor

- o Reviewer's Notes: Out of funding period
- Event Description: It is an international student design competition where teams design, build, and test a 31 horsepower pulling tractor. The competition is hosted once a year in Peoria, IL by ASABE. The Illini Pullers have been representing the University of Illinois at this competition for over 20 years, giving students hands on experience with design, manufacturing, and pitching their project with industry professionals

Funding type: Programs
 Amount Requested: \$853.23
 Amount Allocated: \$0.00

• App No. 98- Ecuador Student Association

- o Description: Application requests for essential equipment
- o Reviewer's Notes: Incorrect application type
- o Event Description: In each general meeting, we will first explain and inform the members about the different cultures of Ecuador and the different traditions and languages all around

the country. This way the members of our student organization feel welcome when they're represented. From this we create a safe space for our members to feel included because they're in a campus where there aren't that many Ecuadorian students. After this we usually do an interactive activity with the members that represent the culture of Ecuador. At the end of the meeting, we observe the meaning behind what each member did and how they portrayed Ecuadorian culture

Funding type: Programs
 Amount Requested: \$147.06
 Amount Allocated: \$0.00

• App No. 107- Illinois Spikeball Roundnet Club

- Description: Illinois Spikeball Roundnet Club is requesting funding to host a Spikeball clinic as a way for those who enjoy Spikeball to play and meet like-minded others
- o Reviewer's Notes: Programs date is out of the funding period
- Event Description: We hosted a professional Spikeball clinic to teach Midwest college athletes the game at the highest level. We reserved the main gym at CRCE and had 45 students come out from UIUC and other local schools to learn from two professional Spikeball players

Funding type: Programs
 Amount Requested: \$368.00
 Amount Allocated: \$0.00

App No. 111- IlliniFurs

- o Description: Illlini Furs are requesting funds for an escape room
- o *Reviewer's Notes*: Does not relate to organization's mission or purpose and is a member only event.
- Connection to Mission: As a social club, we are constantly searching for ideas that could better engage our members. Attending this escape room with provided funding as a group would align with our purpose to unite members of the furry community through fun social events that everyone can attend.

Funding type: Services
 Amount Requested: \$625.00
 Amount Allocated: \$0.00

App No. 114- UIUC Habitat for Humanity

- o Description: Food and digital signage (advertisement) for women's history month event
- Reviewer's Notes: Program is unrelated to the organization's mission and purpose. As such, I recommend that SORF denies the application
- Event Description: The march event is to celebrate women's history month. We plan on making a short presentation about the history of women and housing issues. We will then show a movie that reflects a woman facing housing issues. This movie will be determined on March 1st to see what is available on our streaming services. We plan to have pizza, snacks, and water and are planning on having the event on a Friday in March, currently March 8th. At this event, we will be discussing the unique challenges women face with homelessness and important statistics as well as a timeline of women rights and money

Funding type: Programs
 Amount Requested: \$135.60
 Amount Allocated: \$0.00

• App No. 116- UIUC Habitat for Humanity

 Description: Space and equipment rentals, food, programming supplies, and digital signage for mental health awareness event

- Reviewer's Notes: Program is unrelated to the organization's mission and purpose. As such, I recommend that SORF denies the application
- Event Description: For our mental health awareness educational event, we plan to do a presentation about healthy habits for finals, do standing yoga as a way to relax, and finish the presentation by talking about the correlation of mental health and housing insecurities to bring it back to our mission to educate the community on our mission at Habitat. This will happen around April 25th at one of the ARCs multipurpose rooms. It will be a 1-1.5 hour event and one of the activities there will be making DIY care packages to then bring home to help relieve the students of Finals stress at least a little bit. These packages will consist of tea bags, bath bombs, ChapStick, etc. If this is considered "honoraria/gifts" we will completely understand and rescind that portion of the application. We weren't sure if it fell under that category since it is necessary for the program and it will be an activity and not just given away, but the lines can be blurry

Funding type: Programs
 Amount Requested: \$343.03
 Amount Allocated: \$0.00

App No. 123- Hot Pot Basketball Association

- Description: Utensils, single use serving items, food, beverages, gas stove, and fuel for lunch after basketball games
- o Reviewer's Notes: These items are not fundable by SORF Standard
- Event Description: Our event is a weekly basketball training session on weekends followed by lunch and team bonding games. Every weekend, our team will practice at the ARC basketball courts, after practice we will have lunch together, normally a hot pot meal. We would buy fresh ingredients from the market like meat, vegetables, and drinks (water, juice, etc). The meal is to provide a balanced diet after training, since the intensive training normally lasts for 2-3 hours. Lastly, the team bonding event would be watching basketball film, playing board games, or socializing between the team members which would be hosted at one of the team member's apartments on campus. Our weekly event consists of athletic training and cultural learning

Funding type: Programs
 Amount Requested: \$1,817.82
 Amount Allocated: \$0.00

App No. 128- Illinois Sports Business Conference

- Description: Illinois Sports Business Conference is requesting funding for an event where business professionals are brought in to discuss different career paths in sports business and one is paired with a professional for a meal and case competition, which is on campus and free for any student
- o Reviewer's Notes: Date is out of funding period
- Event Description: We host a conference focused on bringing in sports business professionals to give backgrounds on their career paths and how to pursue a career in sports business. This allows students to hear about the ways they can pursue a career in sports and form professional connections with the speakers. During the conference, we hold a networking luncheon where attendees are paired with professionals for a meal and case competition

Funding type: Program
 Amount Requested: \$2,953.13
 Amount Allocated: \$0.00

App No. 129- The Institute for Scientific Progress, Innovation, Research, and Edutraining

- o Description: Project-related parts
- o Reviewer's Notes: Incorrect application type
- Connection to Mission: The following items will allow us to assemble our two projects this year: A dual axis photovoltaic (PV) system and a modular solar powered drone. InSPIRE's goal is the promotion of renewable energy through education and demonstration. The dual axis PV system directly generates power through its solar panel and allows people to see how solar energy works. In addition, our members will gain valuable experience with solar panel systems when assembling the PV system. The modular solar powered drone will have a solar powered charger, which would allow it to fly when other sources of power might not be available. Another PV system is required to run the solar powered charger, so more materials to make a PV system are required. This demonstrates to people that solar can be used to power other things, not just large-scale power production

Funding type: Services
 Amount Requested: \$474.4
 Amount Allocated: \$0.00

App No. 131- Illinois Synchronized Skating

- o *Description*: Skating org is requesting funds for ice arena rentals
- Reviewer's Notes: Line items 1 and 2 are in violation of general standards and expectations: purchase timing
- Connection to Mission: The IllinoiSkating program is comprised of committed studentathletes who believe in mutual respect between coaches and skaters. We strive to create an inclusive and supportive environment that fosters trust, positivity, and excellence both on and off the ice. Our organization encourages personal growth and enrichment as skaters, teammates, and individuals. Continued practice ice funds will allow us to keep representing the University during this semester

o Funding type: Services

Amount Requested: \$1,150.00 Amount Allocated: \$0.00

• App No. 134- Delta Sigma Pi

- Description: Org is requesting funds to send members to mandatory conference
- o Reviewer's Notes: Out of funding period
- o Connection to Mission: Part of Delta Sigma Pi's Mission Statement is to "encourage scholarship, social activity and the association of students for their mutual advancement by research and practice". The requested items relate to our Mission Statement because the attendance of the LEADS Provincial Conference allows our President to "research" leadership new skills and other Chapters rules and bring the knowledge back to our campus Chapter to put it into "practice" as mentioned in the statement excerpt. Having the ability to attend this Conference will increase the success and stability of our chapter since we will be in a good standing with Nationals and be able to implement newly learned information from it that will improve the scholarship, social activity and mutual advancement of our members/students. We would strongly appreciate the funding for the hotel, transportation and registration cost for the LEADS Provincial Conference so that we can allocate our other resources to the Cystic Fibrosis Foundation and holding more community events on the UIUC campus

Funding type: ServicesAmount Requested: \$607.80Amount Allocated: \$0.00

• App No. 136- Institute of Industrial and Systems Engineers

- o Description: Food for day-long certification course and exam
- o *Reviewer's Notes*: Food is unrelated to mission and purpose of student organization and the applied-for program. I recommend that SORF denies the application
- O Connection to Mission: This event takes place over 3 days from Friday, March 29th through Sunday, March 31st. On Friday, it will take place in the evening from about 5 pm to 9 pm (tentative). On Saturday and Sunday, it will start in the morning around 9 AM (tentative) and run nonstop until the evening (around 8 pm tentative) with a short break for lunch. The event will have an instructor teach a class of close to 30 UIUC students (expected) in a classroom in the Transportation Building on campus for these 3 days in preparation for an exam held on Sunday. This exam and course are both necessary to obtain the Lean Green Belt certification, an industry-recognized certification among professionals in the field. Course content will cover various terminology and standard methods associated with this field and course. We are requesting funding to cover the cost of food as students will be learning from early morning to late evening, and we would like to provide lunch/meals for these students. If we do not provide meals, then students will likely leave and miss out on the certification or will struggle to pay attention due to hunger. We would like to be able to provide them with a meal so that they can benefit properly from this program over the ~8-9 hours that it runs in the day

Funding type: Programs
 Amount Requested: \$718.03
 Amount Allocated: \$0.00

App No. 141- Student Art History Association

o Description: Food, custom tote bags and contractual agreement for program-specific designs

- Reviewer's Notes: Line items 1-6 are non-essential food. Line item 7 has no mock-up. Line item 8 supporting documentation implies a payment out of the funding period. As such, I recommend that SORF denies the application
- Event Description: The graduate student art history symposium "Perpetual Upkeep" will feature research presentations that interrogate the relationship of art and maintenance, including works and practices that make visible the upkeep of dominant cultural structures and technologies. The theme considers how historical infrastructures maintain(ed) structures of power, and how the conflicts and crises of today have their structural foundations in the past. In effect, Perpetual Upkeep positions emergent events not as unprecedented disruptions and catastrophes, but as the effects of planned systems, their maintenance, or, conversely, abandonment, and targeted destruction. The symposium will be held on April 4-5, 2023, at the Art & Design Building on campus, and will feature research presentations by graduate students from UIUC and other universities. The event is free and open to UIUC students and the public. Deanna Ledezma, PhD, will serve as both the symposium keynote and feature as part of the Art & Design Visitor Series. Dr. Ledezma's research looks at the position of family photographs in Latinx culture, including the complexities that come with including these private images in public work. Her 2020 Art Journal article "Regarding Family Photography in Contemporary Latinx Art" is a significant contribution to scholarly literature on vernacular and family photography. Her recent research and curatorial work have focused on Chicago-based artist and teacher Diana Solís. Dr. Ledezma's work with Solis produced the recent exhibition Contigo, Diana Solis at Co-Prosperity (Chicago) cultural center and gallery

Funding type: Programs
 Amount Requested: \$2,477.15
 Amount Allocated: \$0.00

• App No. 153- Destino

- o Description: Flyers, food, space rental, and t-shirts for cultural event
- o Reviewer's Notes: Out of funding period
- Event Description: Prayer and Cultura are a vibrant gathering place for people of all backgrounds, particularly those of Hispanic heritage. The Destino youth group is dedicated to fostering a deep sense of community and spiritual enrichment through shared prayer, worship, and testimonies. It's a space where guest speakers inspire with Christ-centered talks and where everyone is encouraged to ponder and pray for specific needs on various parts of the world. By offering thought-provoking discussion prompts, Prayer and Cultura encourages attendees to engage with global issues in a meaningful way. This welcoming environment is an excellent platform for minorities to connect with each other, while being introduced to the gospel. It's more than just an event, it's a spiritual home that celebrates diversity and unity in faith

Funding type: ProgramsAmount Requested: \$1,800.00Amount Allocated: \$0.00

• App No. 163- Irish Illini

o Description: Irish Illini is requesting funds for traditional Irish dancing class

o Reviewer's Notes: Poor supporting documentation

 Event Description: A ceili is traditional Irish dancing, with this, a teacher would come in and give a class in a multipurpose room or studio

Funding type: ProgramsAmount Requested: \$50.00Amount Allocated: \$0.00

App No. 165- University of Illinois Track and Field Club

- Description: Application requests for space rental, EMS, Event Setup, and Cleanup
- o Reviewer's Notes: All line items violate General Standards & Expectations: Purchase Timing
- Event Description: Club Relays is a one-day track and field meet that will take place on February 24th, 2024, at the University of Illinois Armory. The Track and Field Club hosts this event for around 15 teams that all compete in various track and field events. This is the final, biggest, and most competitive meet in the indoor season. As the ones hosting, we require many things to make the meet happen safely and smoothly. These include armory rental for the entire day, EMS to have on standby, building restroom cleaning at the Armory, etc

Funding type: Programs
 Amount Requested: \$3,225.60
 Amount Allocated: \$0.00

App No. 167- Saudi Students Association

- Description: Saudi Association is requesting funds for food during their "game night"/ weekly meetings
- Reviewer's Notes: They describe the event occurring as often as "weekly" in someone's
 "apartment"; therefore, it is safe to assume it is not only not open to the general public but
 comes off as more as a service of general meetings. SORF cannot fund general meetings let
 alone catering of non-culturally specific related items. Therefore, I recommend we deny this
 application request
- Event Description: These are events held throughout the semester other than our six big events. Examples include board game nights, family feuds, and similar events. In the past, we've had these almost every week that doesn't hold a big event. It is usually set at a

common room within one of the student's apartments, and hence all the funding requested is for catering food. Through these recurring smaller events, we aim to make Saudi students feel at home, foster new friendships, and provide a welcoming and engaging environment, and a friendly and inclusive setting. Having a community that has similar experiences, views, and, most importantly, mother tongue gathering every week improves the college experience for almost everyone, which is our goal. But also opening up these events to other students from different RSOs (like MSA, ASA, ESA, and otherwise) as well as to the broader campus will provide a fun environment that acts great opportunity to foster relationships between our Saudi students and the broader UIUC community (and everyone likes pizza!)

Funding type: Programs
 Amount Requested: \$273.70
 Amount Allocated: \$0.00

App No. 169- Sigma Gamma Rho Sorority Inc.

Description: Conference fees and lodging

o Reviewer's Notes: Out of funding period

Connection to Mission: The Boule Conference is essential to how we run our organization. It
is where we vote on recommendations and give awards to members and/or great people in
our communities. And a chance for undergraduates to develop stronger leadership skills
among seasoned members. We also give various scholarships in support of minority
education

Funding type: Services

Amount Requested: \$3,790.00 Amount Allocated: \$0.00

• App No. 182- WeXpress

Description: Materials for making study kits

o Reviewer's Notes: Giveaway

- Event Description: WeXpress is excited to host a Study Session, providing a dedicated space for students to focus on their academics while promoting overall well-being. This event aligns seamlessly with our mission to enhance the quality of students' wellness through education, community, and art expression. The Study Session offers a practical avenue for students to engage in productive study habits, contributing to their academic success. Additionally, WeXpress aims to support students' mental well-being during the study session by distributing goodie bags containing stress-relief items such as stress balls and pens
- Funding type: ProgramsAmount Requested: \$160.00Amount Allocated: \$0.00

App No. 183- Flippin' Illini Gymnastics Club

- Description: Flippin' Illini Gymnastics Club is requesting funding so that their members can attend competitions
- o Reviewer's Notes: Line item 2 violates SORF Standards: already paid for
- Connection to Mission: The ability to travel to competitions is essential to our organization.
 Members are motivated to practice and remain engaged with the club as a result of the
 opportunity to compete and show off what they have been working on. Being able to
 reduce costs associated with this for members would make the club more accessible and
 promote our organization as a whole
- Funding type: Services
- Amount Requested: \$1,702.36

Amount Allocated: \$0.00

• App No. 191- The IlliniMetagamers

- o Description: Org is requesting funding for trip to escape room
- o Reviewer's Notes: Program is out of funding period
- Event Description: We want to fund an escape room experience for members of our existing community and students all across UIUC to come together and solve an escape room at CU-Adventures! The idea is to invite members of our community and people outside of our community to connect together by renting out a few escape rooms for C-U Adventures.
 Afterwards, we would come back and play some board games and try to connect the new to what the Metagamers have to offer

Funding type: Programs
 Amount Requested: \$1,250.00
 Amount Allocated: \$0.00

App No. 199- Bangladeshi Students Association UIUC

o Description: Asking for game supplies

o Reviewer's Notes: Not in line with RSO's mission

Event Description: This will be held every month on weekends for indoor games purposes.
 Students of Bangladesh will join these events for refreshments and sharing with each other.
 After every stressful month, this event is a must-have for every student. We will arrange some pizza, drinks, board games, and other indoor games

Funding type: Programs
 Amount Requested: \$1,196.00
 Amount Allocated: \$0.00

App No. 200- NRES Graduate Student Association

- Description: NRES organization is requesting food for post event happy hour
- Reviewer's Notes: Line items 1-7 are in violation of SORF programs standards: programming supplies
- Event Description: On Saturday March 23, 2024, the NRES Graduate Student Association will host the NRES Graduate Student Association Research Symposium at Turner Hall (On campus). Presents must be in NRES, but attendance is open to anyone from the greater UIUC community to learn about the amazing research being conducted by NRES undergraduates, graduate students, and post-docs. Registration is required, but there is no registration fee for presenters or attendees. After the symposium, the NRES Graduate Student Association will host a happy hour at 25 O'Clock Brewing Company (Off campus) which will be open to both presenters and attendees. Since 25 O'Clock Brewing Company does not serve food and allows patrons to bring their own food, we'd like to provide Monolo's at the happy hour

Funding type: ProgramsAmount Requested: \$199.18Amount Allocated: \$0.00

• App No. 17- Kappa Phi Lambda

- o Description: This RSO is requesting funding for a space rental for their event
- o Reviewer's Notes: Line item 1 violates Program Standards: program-specific space rentals
- Connection to Mission: Our student organization values cultural diversity as one of our three
 pillars. This event promotes the conversation of embracing one's cultural identity within
 their community. Throughout performances, it allows participants to share their cultural
 traditions with other students and peers. This is a perfect example of what our organization
 tries to do within the campus community. We strive to spread awareness of Asian culture

through this showcase that introduces multiple people from varying ethnic backgrounds in celebration of how they differ

Funding type: ServicesAmount Requested: \$818.00Amount Allocated: \$0.00

App No. 140-In Between at UIUC

- Description: This RSO is requesting funding for a karaoke machine for members to use at meetings
- o Reviewer's Notes: Line item 1 violates Program Standards: non-essential equipment
- Connection to Mission: As an Asian American organization on campus founded on ideas of
 intersectionality, and as a safe space for all Asian Americans across the Asian diaspora, we
 feel that singing and karaoke is an important part of so many cultures. It would help our
 members feel more in tune with their cultures and expose them to parts of their cultures
 that they wouldn't have experience otherwise

Funding type: Services
 Amount Requested: \$140.71
 Amount Allocated: \$0.00

• App No. 143- Pi Beta Phi

Description: This RSO is not requesting funding at this time

o Reviewer's Notes: This event is outside of the funding period

Event Description: This event is a speaker being brought in to discuss what Sincere
 Friendship does and does not look like in Pi Beta Phi chapters. This is an annual speech that benefits our chapter. It will be a couple hours long

Funding type: ProgramsAmount Requested: \$0.00Amount Allocated: \$0.00

• App No. 21- Economics Tournament at the University of Illinois

- Description: Org is requesting funding to host economics tournament for high schoolers on campus
- o Reviewer's Notes: Suspended from SORF
- Event Description: We will be hosting an economics tournament on campus which will be a
 competition for high school students in teams of four with one faculty advisor. Competing
 students will be able to demonstrate and increase their knowledge of economics. In addition
 to gaining the experience of this tournament, the students will also have the opportunity to
 listen to guest speakers and speak with current University of Illinois economics students

Funding type: ProgramsAmount Requested: \$1,341.43Amount Allocated: \$0.00

Vote on Pre-Denied Applications:

Matthew Pruyn motions to approve denying applications. David Bein seconds. Vote of 10-0-0

For the Good of the Order:

Adjournment: Matthew Pruyn motions to adjourn meeting. Anika Chakraborti seconds. Vote of 10-0-0